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CONCOURS DIRECT POUR LE RECRUTEMENT
DANS LE CORPS DES FONCTIONNAIRES DE SANTE PUBLIQUE 2019
(INFIRMIERS PRINCIPAUX ET IDE) CATEGORIE B,

EPREUVE TECHMIQUE N°2

Durée : 4h
Coeff .4

LMCQ. (5mks)

= 1.1 The left ventricular auricular orifice has a valve which stops bicod from flowing back frem the left
ventricle in the left auricle.

bed -

e) The mitral valve :
f) The sigmoide tricuspid valve ; : ) i
-g) The tricuspid valve '
h) The aortic valve
1.2 the number of rachidian nerves is:
- €) 33pairs
i) 31 pairs
: g) 32 pairs
- 'h) 12 pairs
" 13 the pancreatic juice flows into the duodenum through the:
_ ©)- Sanlorini canal i~
« f)  Common bile duct -
gr Wirsungeanat
h) Pancreatic'canal
1.4 The less of olfaction is called: -
e) Hypoacusia WWW.WO rldp rf.com
f) Anosmia - ; g
- g)_-Gargarism :
h) Acousia ,
1.5 In Cameroon, obstetrics is the period between:
e) 27 weeks of amenorrhea up to 40 days after birth
= f) 22 weeks of amenorrhea till birth
- g) From conception till birth
h) 28 weeks of amenorhea up to 42 days after birth

Ii. Bums: definition, complications, nursing care. (5mks)
lll. What are the instructions and COmpgsiﬁon of Levy's meal? (2mks)
" IV. Give four advantages of family planning. (2mks) |
V. Epidemiological monitoring : definition, objectives, types of 'epidemiological. monitoring. (3mks)

-

V1. Define infertiity and steriity. (3mks)
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Durée : 4h
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SUJET

I. Vous éles responsable d'un cenlre de santé et vous recevez une dame de 45 ans qui présente les
signes suivants : hypothermie, vomissement, diarrhée aqueuse couleur eau de riz (> 10 selles),
" asthénie, douleurs abdominales - '
1.1 Quelle est votre impression diagnostic ?
1.2 Quel est selon vous le germe responsable de cette pathologie_ﬂet a quelle classe de
microorganisme appartient-il ? ' '
1.3 Quel sera votre role dans la surveillance de cette patiente. (5pts)
Il. Mme Ondoua est hospitalisée depuis 02 jours au Cenire Médical d'Arondissement de Badongweé.
Son traitement est le suivant : ' ; 4
SG 10% 500cc + 2 ampoules de KCL + Bénerva 250mg + Bécilan 250mg/24h |
Vous disposez d'ampoules de KCL de 10ml, d’ampoules de benerva de 500mg/5ml, d’'ampoules de
becilan250mg/5ml . = 9
Calculer le débit en gouttes/min de cette perfusion en tenant compte des volumes ajoutés. (2pts)
- i, Faites une comparaison entre le colostrum et le lait maternel au 5éme jour aprés I'accouchement.
- " (2pts) , bt
- V. Régles hygiéno-diététiques a donner 3 un patient souffrant d'ulcére gastrigue. (3pts)
V.QCM. (4pts) - :
V.1 La prévention de la PTME chez une patiente non éligihle au traitement ARV 5o fait.avec :
a) LaNivérapine~ _
b) La Zidovudiné
c) L’Efavirenz
d) LaZidovudine + la Nivérapine
V.2 les soins de santé primaires sont nés de la conférence de -
aj Lioreville

b) Lusaka Retrouvez tous les sujets avec corrigés |

3 Borminko de tous les concours sur www.worldprf.com

V.31a fracture de GALEAZZI est :
a) Une luxation du cubitus et une fraclure du radius
b) Une présentation du poignet en dos de fourchette ; —
c) Une fracture des os de 'avant-bras,
d) Une luxation de I'articulation de I'épaule
V.4 dans une commotion cérébrale: -
a) L’hématome peut étre en dehors de la dure-mére : :
- b) Le malade réagit aux stimuli quelques minutes apres un traumatisme :
¢} L'éial de conscience du malade dure un peu plus longtemps ' p
d) 1yahémiparésic 5 W
VI. répondre par VRAI ou FAUX, (3pts) }
- Un homme peut vivre sans la rate : vrai-ou faux Tk el g N
: - Les lipides et les vitamines liposolubles sont absorbés au niveau des vaisseaux -
chyliféres : vral ou faux - ]

= - - Labile est sécrétée dans la vésicule biliaire : vrai ou faux
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DANS LE CORPS DES FONCTIONNAIRES DE LA SANTE PUBLIQUE (INFIRMIER SUPERIEUR) ~ +
' CATEGORIE A1
EPREUVE TECHNIQUE N°2 3 ?

Durée : 4h
Coeff 4

-

S BilET
I Question a choix multiples (QCM) (5pts)

Parmi les propositions suivantes, cocher ceile qui correspond & la réponse juste
1.1 le signe suivant permet de poser le diagnoslic de certitude de Ia rougeole
a) Le signe de Mendelson
b) Le signe de Brudensky ‘ e
fc) Le signe de Koplick
d) Le signe Layer
1.2 En cas d'insuffisance hépatique, le médicament non toxigue peuvant étre ulilisé est
a) Le paracétamol
b) Le chloramphénicol
c) L'isoniazide
{ d) Toutes les propositions sont fausses
.3 Le mal de Pott est : :
, ‘@) L'infection des os 5 H
b) Une commotion cérébrale
¢) L'infection de la colonne vertébrale par le bacille de koch
: "d) Une infection respiratoire - B
= k4. s&mmmmmmdms_ '
: a) Le placenta abruptio
' b} L’hématome rétro placentaire
ic) Le heavy show
- d} Leplacenta previa :
1.5 La pathologie suivante est une toxi-infection
fa) Lacirhose hépatique
b) La fiévre jaune
c) Le rhumatisme ariiculaire aigu
-d) Letétanos

Find aI.I papers and answers of evrey exams and Entrance Competitions

ll. Tocclusion intestinale. (6pts) on www.worldprf.com to download for free

IL.1 Défirition
1.2 Signes cliniques
1.3 Complications

] 1.4 Role de Finfirmier (préparation pré opéraloire, post dpératoire et surveillance)

g 3
Hl. La transfusion sanguine. (6ptsy

1.1 Définition ' : . ‘-‘ »

1IL.2 Réle de l’inm‘_[nier (avant; pendant et aprésla transfusion)

IV. Qu'est-ce qu'un paramétre. D(')nner pour chacun des paramétres suivants-deux variations
pathologiques et expliquer. (3pts)
IVA.La Ifréquence cardiaque -

2latensinaretele Retrouvez tous les sujets avec corrigés
' - de tous les concours sur www.worldprf.copn
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-BIOLOGIE/BIOLOGY

Encercler la ou les meilleure(s) réponse(s)/Circle the correct answer(s)

1. Selon vous, quelle est I’hormone qui serait plus élevée que d’ordinaire dans le sang d'un
patient atteint de choléra?

L’hormone Anti diurétique
B. La progestérone
C. L’adrénaline
D. La thyroxine

1. Which hormone would you expect to be higher than normal in the blood of a chelera
patient

Anti diuretic hormone
- progesterone
G. Adrenaline 5
H. Thyroxin

. 2. Sivous étiez appelés a manger cing tablettes de chocolat et de boire un litre de Coca-Cola,
quelle ho (1€ Vvous attendez-vous a étre séerétée a des niveaux élevés dans votre sang?

L’insuline - 5 e

~B. Le glucagon
C. Le cortise!
D. La thyroxine

2. If you were to eat Jive chocolate burs and drink a litre of Coca cola, which hormone would
you expectt be secreted at higher levels in your blood strearmn?
Insuline = : : i
. Glucagon

G. Cortisol

H. Thyroxin
3. Des déclarations ci-dessous, laquelic de ces déclarations concernant Jes grands systémes de
groupes sanguins (ABO ct rhésus) est fausse?

A. Letype renvoie & I’espéce d’antigénes présents sur la surface des érythrocytes (RBC);

B. Lorsque différents types de sany sont mélangés, les anticorps contre les antigénes
€rythrocytaires aménent les érythrocytes a s’agglutiner;

C. Un donneur de groupe sanguin {3 peut donner du sang a un destinataire appartenant a
groupe sapguin AB ; .

\D) Une mére rhésus négatif mariée 4 un homme rhésus positif doit'toujours donner naissance
a un enfantirhésus positif.

|
|
|
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3. Which of the following statement concerning the major blood groups (ABO and rhesus)

systerns is false?
a- Theiype refers o ithe kind of antigens found on the surface of the erythrocytes (RBC);

b~ When different types of blood are mixed, antibodies against the eryihirocytic antigens
cause the erythrocytes to agglutinate;
c- A blood group B donor can donate blood to a recipient belonging to blood group AB
@A rhesus negative mother married to a rhesus positive man shall always give birth to a
rhesus positive child .

4. Que se passerait-il si les sites des récepteurs de I'acélylcholine sur les glandes sont bloqués par
un poison comme le curare? i

A. Stimulation accrue des glandes pour sceréter le produit
Incapacité de la glande a répondre au stimulus du nerf moteur

Contraction de la glande
D. Les contractions excessives de la glande se produisent

4. What would happen if the acetylcholine receptors sites.on Glands are blocked by a poison

sucly as Curare?

a- Increased stimulotion of the glands to secrete its product

B

Eiﬁ Inability of the giand to respond to mogor nerve stimulus
— = .
¢c- <ontraction of the glang

d- Excessive contractions of the land occurs

o . . : syt e v--:’_‘:."'_‘d"-(
5. La conduction d’un potentiel d’action dans un axonc my#£linisé est : .y—*"".’/o.uﬁ m{‘v\ﬁ\
A. Saltatoire . ~ J.--_'V;)@&(%/L%ﬁ\}'g)@#f\
= s Qe A Sl N GV
B. Plus rapide que dans une cellule non myéliniséc AL Q?(/).{.x‘c“ PO X
C. Sans décrément 7 -
@ Toutes les réponses ci-dessus =l
.
e

5. The conduction of an action potential in a myelinated axon is: A
a- Saltatory o '

W

b- Faster than in-an unmyelinated cell
c- Without decremen!

(@l of the above

6. Quel cst le vaisseau sanguin qui retourne la lymphe dans la circulation g
: . La vcine cave supérieure
B} Les veines sous-claviéres
C. L’artére pulmonaire ’
D. La vcine jugulaire

I3 I3

énéral ?

oo aror gan b
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6. Which blood vessel returns lymph fluid into general circulation system?
a- Superior vena cava

Subclavian veins

¢- Pulmonary artery

d- Jugular vein

7. Laquelle des déclarations ci-dessous concernant les cellules sanguine est juste?

A) Toutes les cellules sanguines proviennent de la moelle osseuse rouge.
'La moclle osseuse rouge est la principale source de toutes les cellules sanguines, a
l’exception' des mastocytes et des macrophages.

C. La plupart des types de leucocytes apparaissent en quantités égales dans le sang.

D. Les érythrocytes sont produits dans la moelle rouge, tdndis que les leucocytes sont
produits principalement dans les ganglions lymphatiques.

7. Weich statement regarding blood cells is correct?
{a-) all blood cells originate in red bone marrow
b- red bone marrow is the primary source of all blood cells except mast cells and
macrophage
c- most types of leukocytes appear in equal ainounts in the blood
: d- erythrocytes are produced in red marrow while leukocytes are produced primarily
in lymph nodes . : -

8. Qu’est-ce qui N’EST PAS une étape"ae formation. de I’urine ?
A, La filtration.glomérulaire =
Q La sécrétion glomérulaire -
. La sécrétion tubulaire
D. La réabsorption tubulaire

8.Which of the foHowing is NOT a stage of urine formation?
a- Glomerular Filtration

Glomerular Secretion
c- Tubular Secretion
"d- Tubular Reabsorption

9. Iz prOposmons ci-dessous, qu’est-ce qui N LST PAS un produit net de la glycolyse ou le

eyck: 3= Krebs 7
25 p: ruvate B) NADH =6 ATP D) o2 NAD-+

9. Which of the following is Not a Net product lycolysis or the Krebs cycle?
A) pyruvat'e B) NADH C) ATP D) CO2 INA D+

10. Le controle de la respiration et des‘ ttements cardiaques se font au niveau .
A) du lobe occipital B) du cervelet 'Ydu bulbe D) du lobe frontal du cerveau .E} de

I’hypophyse

Concours Niveau Bac 2012 3 : Page 4
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de tous les concours et examens nationaux sur
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! 10. Control of breathing and hear@'am located in the

A ) occipital lobe B) cerebellum 1edulla D) frontal lobe of cerebrum E) pituitary

gland

;11. Les cellules chémoréceptrices dans le bulbe rachidien sensible aux variations de gaz du sang
et du pH sont stimulées directement par:
A. Augmentation de CO; dela pressxon partielle du sang

B.. Dimunition pH , c’est-3-dire (H') du sang
diminution & dans le liquide céphalo-rachidien qui est dérivé du CO; du sang

" Diminution de la pression artérielle partielle d'oxygeéne ( Po; }

{]11. The chemoreceptor cells in the medulla oblongata sensitive to changes in blood gases and

‘pH, are stimulated directly by:
a- Increase blood partial pressure of CO;

b- Decrease pH , that is (H") fronz the blood
Decrease H' in the cerebrospinal fluid that is derived from "blood CO;

d- Decreased arterial partial pressure of oxygen ( Poz)

8
)

\O- "E‘—ﬁ.\
LICOF ¢ ¢ k

T2, L’cmu[snﬁanf ma_]eur des matiéres grasses g
A) ardylase B) pepsine C) lipase D) Sels biliaires @ bile

_ 12. The major em ulsifier of fats. . |
A) amylase B) pepsin C) lipase D) bile salts @bi[e

{ 13. L'absorption des graisses différe des autres aliments parce que ses produits de
dégradation sont :

¢ A) formés dans le gros intestin. C) absorbés directement dans le sang.
@absorbés par le vaisseau chylifére. D) absorbés uniquement lorsque le glucose n'est pas
résent.
1 3 Fat absorption differs from other foods because its breakdown products are . -
A) formed in the large intestine. C) absorbed directly into the blood.
@absorbed into the lacteal. . ' D) absorbed only when glucose is not present.

14. Les saillies scmbla\blcs 3 des doigts que I’on observe le long de la surface de l'intestin
gréle sont appelés s .
"A) muqueuses  B) veines chylzferes C) capillaires @ villosités E) appendice
!
14 The f nger—lxke projections along the surface of the small intestines are called
A) mucosa _B) lacteals C) capillaries wIIt E) appendix
. . i _ ¥, 8 A :

oo
. .
M_W-—"
= -
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5. Les fonctions du foie Jors de la digestion se réalisent grice a -

1
A) la conversion de I'hémoglobine en bilirubine et en biliverdine

. A ' ., ,_h;'"——.‘:f&‘:_Q. .
B) la destruction de vieux globules rouges y{ﬂea‘:uciakq&:i.

. e 27 N WM&
C) la production de protéines du sang TS R G

sheen L PR 5000
D) l2 production d’urée (2

%
la production de la bile

15. The liver functions in digestion by way of its

A) conversion of kemoglobin to bilirubin a

B) destruction of old red blood els

C) production of blood proteins

D) production of urea
(ﬁh:;product.ion of bile

nd bili verdin

16. Les réactions du systéme de trans
produisent dans:
les crétes de la mitochondrie

. la membrane exiérne de Ia mitochondrie
C. la matrice de la mitochondrie

D. Tespace entre la membrane de Ia mitochondrie

port d'€lectrons menant a la production dec 'ATP se

16. The reactions of the electron transport system leading
the cristae of mitochondrion
- “the external membrane of miitochondrion
c- the matrix of mitochondrion

d- the intermbémbranal space of niitochondrion

to production of ATP occur in:

17. Que font les enzymes?

. changent I'équilibre final des réactions chimiques
(B) abaissent I'énergie d'activation dv réactions chimijques
C. perdent un peu de leur énergie & chaque fois qu'clles participent 4 une réaction chimigue
D. Toutes les propositions ci-dessus ' '
17. What do enzymes do?

a- change the final equilibrium of ciiemical reactions

b-} lower the activation energy of chemical reactiony

c- lose a little bit of their energy each time they parficipate in a chemical reaction
d- all of the aboyve : '
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18) Qu’est-ce qui guérit le plus vite aprés une blessure: ‘%“ X X
& LN NS B
o QO(’,Q‘.JQC,“OS e L; Q&OLC X

4. Neurone
% 2 . Fiyie "“0 04 G SRS
e Epithélium ,x
. Cartilage : b 7 \
1 . ¥ : ()
A. Muscic - (&Y o
; - . l-i - z‘ : ‘;>‘ ;
18) which of the following heals the quickest after injury: N N /o !
A D. Neurone _ N TS
=5 5 T n, O p\\ﬁ\'_(tq
. Epithelium St ease
i H ~ e
. KA. Cartilage
b . Muscle

19) Laquelle des séquences suivantes vous atlendez-vous a observer pour la production, la
transformation et la sécrétion d'une protéine telle que insuline d'une cellule du pancréas?

@ rER --> sER --> Golgi --> membranc plasmiquc
Golgi --> rER --> sER --> mcmbrane plasmique
C. rER --> sER --> membrane plasmique --> Golgt
D. Golgi --> membrane plasmique --> sER --> rLR

19)Which of the following sequences would you expect to observe, for the production,
processing and secretion of a protein such as insulin from a pancrecitic cell?
é rER --> sER --> Golgi —> plasma membrane

b- Golgi > rER -->sER —> plasma membrane SR
¢- 7ER --> sER ~-> plasma membrane®> Golgi
d- Golgi —-> plasma membrane --> sER > rER

20) L'ADN differe de 'ARN daris _]équel des aspects suivants?
A. L'ADN utilise lcs purines; I’ARN utilisc les pyrimidines
L'ADN utilise lc désoxyribose; I’ARN utilisc lc ribosc
. L'ADN a un phosphate pour chaque nucléotidc dans la chaine d'ADN; ’ARN a trois
phosphates pour chaque nucléotide dans la chaine d'ARN =
D. L’ADN possedc un seul élément; PARN en possede deux

20) DNA differs from RNA in which of the following respects?
a -DNA uses purincs; RINA uses pyrinidines
' DNA.' uses deoi\'f_)r'ri bose; RNA uses ribose
o-DNA has one phiosphate for every nucleotide in the DNA chain; RINA has tluree
phosphates for epery nucleotide in the KINA chain
d-DINA has a single strand; RNA has a double strand

i Concours Niveau Bac.2012 . 2 Page -
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Psur chacune des questions suivantes, quatre (04) réponses sont proposées dont
une seule est juste. Encerclez la letire correspondante sur votre feuille de
composition sans aucune justification. g
For each of the following questions, four (04) answers are given among which only one is o
correct. Circle the corresponding letler on your answer sheet without any justification. '

1) LUinverse du complexe 1 + i est

W TR N IS e e >
.5—51’ Dl-g—=i; c)2{~21‘, @t =
-1- Theinverse of complex 1 + i is
o1y, e S ~ bl
E_El’ bi=s =5t c)3+31; d) 2 73! =
2) Soitz un complexe tel que: z = V3 + i alors,
a) z=-V3+1; 2= B z=
¢ Jetzbeacomplexthat: z =+/3 t+ i then,
) b) Z=—-/3+ @ @z:\ﬁ;ﬁ-f; ©)z=-vYy3-1; d,\.f:%ﬁ
3) laforme algébrique de (2 + i)* es:: .
v @ =7+ 241, b)—7 245 €) 61 24i; d) =6~ 2di

3-The algebraic form of (2 + i)*is:
f‘@ g A b) -7 — 24;; €) 6 + 24 d) — 6 — 24i.

4) The solution of this equation 1 + 2inx = 0 gives
3] X=0; B x—1 E)x:%; _ d)a= e

4 La résolution de 'équation 1 + 2lnx = 0 donne

Bl & Dreds | (S A &) x = Ve

.5} Soit z; = —3 + 3i,la forme exponentielle de z;est égal 3 :
U 3T

>3TC s 3
3\/5@17; b)~3\[2(3Jd 5 c)3\/§e s ;

TTH
d) 3v2e'sx




b

0ty Ytan

l
i

S Let z3 = —3 + 3i,rhe capoacniie form of zy5s equal to :

@ 3/2e izTn;

"2 3W2e's.

{6 L’équation z% — (2

3
Y N =
Bivle 4 ;

a) S={3-1+2i}

¢) S={1-2i:3+1}

) S={1-253+1)

3n
c) 2e v -

—i)z—1-17i = 0 4 pour ensemble solution dans € : ¢

b)S = {3+ i;1+2i);

d)S={1-2i;3—1i)

6) The equation z* —(2 — i)z —1—7i = 0 has an overall solution in € :
b) S={3-1;1+2i};

b)S={3+i1+

2i};

d) S =+41-2i:3 i)

7) Soitflx) = Jr—;_—Tlle domaine de définition de f est :

aj]—o0; —1{ U ]1. +oof;
5o —1{ U ]-1. +oof;

b)]—co, 1[{U]1; + o] ;

d) J—1; 3]

7 Let f(x) = i:—_::%tbe domain of definition of f is :
a)]—o; —1[ U ]1.+oo[;

c)}—os; _—-1[ Uj—1.+;

i -

e

@]—m,11u11;+m[,

d) J-1:1]

\
|

8) on considére la fonction f définie sur ]O +oof par f(x) = (1 — Inx)(2 + Inx) ou ln
3 désigne le logarithme népénen.

8)-1 Le calcul de la dérivée de fdonne :
a) A=) = —1—(1 — Inx) ;
~o) R = xz(ln‘r“ — 2Ilnx)

by /'™ = —= (1 + 2Inx)
d) f'(x) = —Inx(1 4+ 2inx)

8)-2 soit € la courbe representative de f. L’équation de la droite 4 tangente a C au

point B d’abscisse e? est :

@ y=——,—52-.x+1;

1
a)y=—x——e;

8) Let’s cons:derﬁmctzo,lfdefned on]C,+oof par f(x) = (1 — Inx)(2 + Inx) or In :

denotes the napierian logaritiim.
8)-1 The derivative oftheﬁmctzonfgzves

poirt B ﬂbsczssa ecis:

.‘1; 5y :ng—-e;

a) [ == (1 ~ Inx) ;
— 2Inx)

c) o) = xz(lnx
8)-2 LetC tlze curve of errors of f. The equation ‘of the tangent line’A to C at

b) y=—~‘—5‘;x+1;

) y=5Sx—4]

e

b)f()

'
c) fyzix"—l;

d y =Zx-— Inx.

= —-—(1 + 2Inx)
»}f’(") = —lnx(l + 2Inx),

2
d) Y= X

Inx.

\ B o ey 6"
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PHYSIQUEIPHYSICS
1- deux charges ponctuelles ideatiques de 0,2 coulomb sont placée a 3Ccm Pune de -
I’zutre elles sont soumises & :
a) une force électrique d’attractica
* une force électrique de répulsion
¢) aucume proposition n’est juste

[-Two identical point charges of 9.2 coulomb are placed 30cn: from each other. They
are subjected to:

‘%
e 3

B CPIRTL

el

e

é.’
2

An electrical force of attraction
An electrical force of repulsion
None of the above is correct

]
la formule 9% 10° —q—qz—— avec q et q” en coulomb,r cn m ¢t F cn Newton correspond a

Je 7 : -
la lo1 de :
a) Newton
) Coulcmb : ' :
¢) Faraday

d) Auczne propesition nest juste

» : - -
: A s 59 . . . .
2-The formuia 9 x 19 ~q—%— with g and q’ in coulomb, r inm and F in Newton

r
correspends to thelaw of -
a- Newton

Coulomb :

Faraday

None of the above is correct

3- deux charges électriques se repoussent avec une force de IN la valeur de la force de
répulsion si on multipliait par 4 une des charges et si on doublait la distance les
séparant est :

a) 4N
b) 8N
N . )
d) Aucune, proposition n’est juste <

3-Two ele_,_ct"rical charges repel each other with a force of IN. What is the value of the

Jorce aof rég'ulsion if one of the charges is multiplied by 4 and tle distance between the
two chargesidoubled :

a- 4N &

yee

b= 5 " ;

CRLNEES S

d- None qftf)’g‘ above is correct

-
N -
.

i e

i
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4-le pole notd -i"un wrrizay o r e masse magnétique -
a) négative

@ positive X :
neulre ¥ '_,_.—':L‘"—‘.—'i"q'\“\,__'
e o) ,.-/""\()-\‘E BU cy Q\«_‘
d) aucune proposition n’est juste 2 I OF e 4 Hen
! A S N INY
s J/(Q\."oq. Q’c‘\m. ﬂELQb\OGQ-’}
- - ) 156 < N
4- Thenorth pele of o magnet carries @ magnetic charge : /Q' ) %
a- negative
o )
@ positive

c- neutral
- . e et
d- None of the above is correct . NPy ampuetie
NILE A sAY
A SAL 2

i

5- un référentiel est dit galiléen s’il est animé d’un moavement de :
a) rotation uniforme par rapport a un repére fixe -
b) translation uniformément varié par rapport a un repére fixe
translation uniforme par rapport 4 un repére fixe
- ~dj aucune proposition n’est juste

3- A reference frame iy said to be Galilean ifitis animated by a movemeint of:
@) @ uniform rotation with respect to a fixed reference
b) varied uniform transiation relative to a fixed reference
(¢) uniform translation relative to a fixed reference
) None of the above is correct

)

6- si la trajectoire d’un mobile est contenus dans un plan, le mouvemeni est dit -
a) rectiligne y :

b) circulaire

c) sinusoidale

(9aucunc proposition n ¢st juste )

6- If'the trajectory of a moving object is contained on o
be:

a) rectilinear

b) circular

) sinusoidal

d)\None of the above is correct

. b\
7- on considére un pbint M se déplagant suivant la loi horaire x(
de ’accélération du mobhile est :
a) 6t>-6 '
b) t>-6

)= 200144 I'e

cy 12t
aucune proposition n’est juste ’

a0 RPN

T

Cd}icodi:s'Niveau B_a-c>2012' Q

plane, the movement is said to

XDression

Page;i‘,?p



i ——W»«Mxmw&;‘.m S

!

' &
o O e RV

e

Ty

IO AT

cy12(
) None of the above is «correct

&- un mouvement rectiligne uniformément vari€ est celui don{ Ia trajectoire est un segment
de droite et : .

a) Ia vitesse constante

b) la vitesse uniforme

c)I’accélération constante

d) aucune proposition n’est juste

8- A uniformly varied rectilinear motion is one wh ose 11'11_iec10;'y s a broken straight line
and: -
a) a constant velocity
b) a uniform velocity
/i*( a4 constant acceleration
% None of the above iy correct

- -2 T 5 ; . ;
9-soit x=2-10 cos(40mt — g) I’équation horaire d’un mouvement sinusoidal, la
période T est ;

a) 1/1Q0 s
1/20 s ] -
1/30 s
d) aucune proposition n’est!'ustc
-2 4 . e . 2
9-Let x=2-10"° cos(40mz — E) the equation of time of a sinusvidal movement, the
period T is : _
S SO DE ,\4
B Ay
a) 1/10 s . XS \l TR R
{(b6) 1/20 s L5 :
) 1/30 s 3
d) None of the above is correet -
. S ¥
10- un syst¢me est pseudo-isolé si : A 'J;(‘.‘&\
a) il n’est soumis & aucune .fol‘Cé extér}'eure Ry 'fo@gz,"*nuﬂ%c{:‘
b)la sommc des forces extérieures qut s’exerce sur luj est nulle \\_5§_ SaMios
- o = Ve el
" ¢) aucunc proposition n'est juste
10- A system is pseudo—{solnted if: “q
it is not subjected to any external force TR
bythe sum of external Jorces exerted on it is zero !
¢) None of the above is correct ' ':
s £ Lo, M O RS GAR S - < BT : s . R e Y]
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£ :
15) The equation (&): (Inx)®> —Inx — 2 = 0 has foroverall solution :

2 8 ={e;e%); B)S = {~e; e}; @ S=(1; e}
@) s ={e;3}. ’
16) L’équation (E) : e**1 =1 , pour solution:
AS={1k - b)) $={0}: (P S=(-1: dS={n2
16) :67116 equation (£) :e**' = 1 }as for solution:
5=}, b) s={0}; (D s=0-13;  Ds=(m2

17) La solution de I'équation différentielle y'—2y =0 quiprend la valeur 3 en In1l

est:
,G)y = 3e2j‘; b) y = —3e2x; ey =3 d)y =—3e7%%;

{ @ The solution of the differential equaﬁoﬁ Y — 2y =0 which takes the value 3 inini

15 ;
£ . 2 )
@ o B, Qy =3e % d)y = —3e %%,

Retrouvez tous les sujets avec corrigés
de tous les concours et examens nationaux sur

www.worldprf.com a télécharger gratuitement

Concours Niva‘u M“.“'-. N Page ‘l@

s cideeu



i1-le moment a*iner e - syhinare creux de masse i par rappost 2 son axe de
révolution est :

a) ¥4 MR? .

b) 2/5 MR?

c) MR?

aucune proposition n’est juste
11- The moment of ineriia of a hollow cyiinder of mass M wirli respect to iis axis of
revolution is:
a) % MR’
b) 2/5 MR’
MR?
(d) None of the above is correct :

»

12- une particule de charge q animée d’un mouvement de vitesse v dans un champ

magnétique uniforme B subit une force magnétique telle que /7= gv A B appelée foice
de :

a) Newton

b) Planck

jLorcntz

“U) aucune proposition n’est juste

Jteld B 5ubjected 10 a nmgnencfou e with [T = (/v ~ B s C(l[[(:{/fOrce‘ (1j
a) Newton o
b) Planck

(:? Lorentz & .

[) None of the above is correct

, NG
13- des systémes suivants celui qui ne constitue pas un o=cillateur mécanique est\i =

a) le pendulc pcsant
b) la roue d 'une bicyclette par rapport i P'axe de rotation
@aucune proposition n’est juste

13- Wiicl one of the following systers does noé constitute a mechasnical oscillator ;
a) simple peaduliin

b) the wheel of a bicycle with respect 1o its axis of iolation

c)aucurne _prop()utru;/ n'est jusie s

i4- sila période T de Pexcitateur est égale & la période propre T'o de Poscillateur, on

obtient : -

a) des oscillations forcées

b) des osciliations provoquées 3 :
le phénoméne de résonande :

4 o i) §
Jaucune proposition nest jusie .
"~ Concours Niveau Bac 2012 .. - . Pape-f4y
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14- If the period T of excitation is equal fo the natura! period To of the oscillutol, we

obtain :
a) forced oscillations
) caused. oscillations
\? resonance phenomenon
[} None of the above is correct

-un ébranlement est une perturbation
brusque d’un miiieu
iocale d’un milieu

@brusque et générale d’un milieu
dy

15
.QI\,
o)

3

aucune proposition n’est juste

15- 4 concussion is

_a) a sudden disturbance of an environment
b) local disturbance of an environntent -
¢) a sudden and general disturbance of an enviromment
d))None of the above is correct

16- la lumiére blanche est constituce de :
2) 6 radiations monochromatiques

($Y) 7 radiations monochromatiques

%9 radiations monochromatiques

s} aucune proposition n’est juste

[ 6~ White light consists of:
_ g‘ 6 monrochrematic radiations
{%) 7 monochromatic radiations
c¢) 9. monochromatic radiations
d) None of the above is correct

17- des coulcurs des radiations monochromatiqucs suivasics Pintrus est

a) le violet
b) I’'indigo
le rose
) Jorange

- 17- Among the following monochromatic radiations colors, which one is out of place

here: .
«) »iolet
5) indige
@ pink
A-orange

\

ot

T s

e
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You will fin all papers and answers of Every Entrances
competitions on www.worldprf.com to download for free

13- 'eifet photoéiecuiijue est :

a) I’extiaction des élecirens par un rayonnement électromagnétique
i) I’émission des électrons par un rayonnement électromagnétique
cY’extraction et I’émission des électrons par un rayonnement ¢lectromagnétique

d) aucune proposition n’est juste

18- The photoelectric ¢ffect is:

a) the extraction of electrons by electromagnetic radiation
b) the emission of electrons by electromagnetic radiation
©) the extraction and the emission of electrons by electromagnetic radiation

) None of tize above is correct

»

19- ’expulsion d’un électron hors d'un métal nécessite une éncrgic d’extraction ou de
sortic Es apportée par la lumic¢re d’énergie L, s1 E<Es :
’extraction est impossible
6) il y’aura extraction mais les électrons ne quitteront pas la cathode
c) les électrons seront extraits et quitteront la cathode
d) aucune proposition n’est juste

19- The expulsion of an electron vt of a.pmetal requires an encergy extraction or suipul
Es provided by the light of energy £, ifE<is:
@ the extraction is zmpovszble
) there will be an extraction, but lhe electrons will not leave tlle cuthode
) the electrons will be extracted and leave the cathode
d) Noie of the aboye is correct
! -
20 —Lorsqu’unc cible au tungstene
chauffe parce que :
A) Les rayons X sont émis
B) Les électrons sont (rés pénétrants
C) L’électron mobile se transforme en courant électrique
D) I’élcctron niobile constitue un courant d’électricité

est bombardé avec des électrons @ haute ¢éncrgie, clle

When a tungsten target is bombarded witl: kigh energy electrons, it breomes hot becanse’

A) X-ray are emitted
B) the electrons are very perelr ating.
C) rire Kinetic energy.oflhe electrons is.absorbed i impact.

D) the mioving electron constituie an ¢ lectric current ?}/ gt
2
;
] !‘ IJ. r
:’: P h p ok
E‘ 2 \ “. .
“\"| 1- &
gt I
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CHIMIE/ICHEMISTRY

On mélange 20 mi d’une solution d'ac‘ide'chbry-drliqué (pH,=2) avec 30 mi
d'une solution d'acide chlorydrique (pH2=3). Le PH du mélange a 25° C est:

a. &

b. 2,9

o

(d) 2,3 .

.. Aucune proposition n'est juste

I- We mix 20 ml of a hydrochloric acid solution (pH=2) witlt 30 ml of a Ixydroclzlo}ic

acid solution (pIy=3). The PH of the mixture at 25° C is

a5
b 25 .
e o
@ 2,3
¢. None of the above is correct
% : )
0 L - N \:\;"2;\—;’“\’)‘;,}3{/\11/‘
2- les isoméres de chaine ont les : “\g@\é"/i/

A
é
E.

2-The chain isomers ltave :

. mémes propriétés chimiques et physiques

mémes propriétés chimiques et des propriétés physiques différentes
mémes propriétés physiques et des propriétés chimiques différentes
propriétés chimiques et physiques différentes

. aucune des réponses n'est’justs:

i

A. same chemical and physical propertics
. B. same chemical properties and differen! physical propertics
same physical properties and different chemicul propertics
. different chemical and pit ysical propertics '
E. None of the ubove is correct

3- lenomduvc

. 2-éthyl-2.3-diméthylpentan-4-ol

o 2.3-t1imiéthylhexan-5-ol

A
B

3° 4 4-triméthylhexan-2-ol
4-éthyl-3.4-diméthylpentan-2-0]

3. 3 4-triméthylhexan-5-0] : ' .

ol

omposé dé formule semi développée CH3CH(OL! iCH(CH3)C(CH;3),CoHs est:

o T3 ; saxmm,

a1 C o a T IO TS T L RO 2 /o SO Y Py = 5 ; e am
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- 3-The TUPAC nnins 9f She artiponad C.F,'jCL’(IJ‘!{ICH(CI!;)C(C’IJ;);C;II; s :
a- 2-ethyl-2,5-limetnylventan.-d-gi
b 2 2,3-trimethylhexen-s-of
@ 3, 4,4-trimethylhexcn-2-of
o 4-ethyl-3,4-disaethyipentan-2-of

e- 3,3,d-trimetnyihexan-5-o/

4- parmi les équations bilan ci-dessous, indiquer celle dont I’écriture est erronée.

4-Among the balanced equations below, indicate whick of them has not been written
correctly. »

A CeHsCOOH +15,0 ——C4HsCOO + Hy0*

B. HNO; +H,0 - NO5™ H3O+
CHEL = HO — > 17 ., H;0 +
@sto4 £ o0 == s hnd | 86, ¥

E. aucune réponse n'est Juste

E- None of the above -

Juestion 5: What property of ¢hioroflucrocarbons, discourage'their usage?
:

{

A. They cause skin cancer

{'B} They deplete the ozone layer
\L{ They cause global warming
D. They are inflarmmable

r

Question 5: Quels sont les propriétés des chilorofluorocarbures qui en découragent
Uutilisation ?

A. Ils provoquent des cancers de la peau

Ils appauvrissent In conche d'ozone

C. Ils provoquent lv réch auffement planétaire

D. Iis sont inflamn:ables

6) n dispose des acides ci-dessous - Quel est ’acide le plus fort ?
(a) H, Cl - COOH: (b) CHCI; — COOH; @ CCi; -~ COOH




o

& e kave iie followiny acidss Which is the strongest acid? '
(e CH; CI - COOH; (b) CHCI, — CCOH; @ CCL; - Co0oH

7t Des carbones suivant, lequel est asymétrique ?

,?\’Z) CHz -~ CH (OH - CHs; (b) CH; - CH -CH - OM ; (c) HC = CH
L/

7) Which of the following carbons is asymmetric?

(2) CH; — CH (OH) — C3Hs; (b) CH; — CH -~ CH — OM ; (¢) HC =Cll

8) Pour bloquer la fonction carboxyle d’un composé, on le fait réagir avec :

. \) \_,\0~UEDU
Un chlorure d’acyie ; b) Un alcool ; » _QQ pusLIC oL T O
X ; - Q\‘EC“OH 08(4 %
c) Le chlorure de théonyle ; " d) Les molécules d’cau ;

8} Te step. the-carboxyl function of a compound, a reaction 1;,(1(”16 with: |1

@ An acyl chloride; b) an ulcohol ;

¢) theonyle chloride ; » d) water molecules

0} Au cours de la réaction entre un acide fort et une base forte, i’indicateur approprié€ pour

= “h
déterminer V€ "L,UIVZU"’HCC est :
(a) Le rouge méthyle ; b)Y L’hélianthine ;
(c) Le bleu de branothymd ; (d) La phénolphtalcine
9) During the reaciion belween a strong acid and a strong base, the appropriate indicator

that determines the equivalence is: ,
(a} _r.r:etlzﬂ red @methyl orange ; (c) the blue branothymd ;

(d) phenolihtalein

10) Lorsque Patorue d’hydrogéne passe d’un niveau p vers un niveau n (n>p), il s’ensuit :
(Q Unc absorntion d’énergie | {b} Une émission 4’ ¢nergie ;
(c 1’énergie se maintient constant

i0) When the hydrogen atom moves fron: energy level p to energy level n (n>p), the
following occurs:
g\:,}r Absorgiion of eiiergy: (b) Emission of energy;

(c) The energy renzains constant
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- Q'é
EPREUVE DE BIOLOGIE/BIOLOGY :
Ipt par QCM/1mk per MCQ
Encercler la ou Xes mexllcure(s) réponse(s)/Encircle the correct answer(s)

Qucstion I : Le réle du coeur est de -
A. Purifier le sang §
Pomper le sang
C. Oxygéner le sang
D. Colorer le&’m_g

Question 1: The role of the heart is toz -
-A. Purify the blood :

B. Pump blood

~ C.Oxygenate blood : . i _
D Color blood e " - ‘»‘_-_ R Talwet e, CeaPa denl -

SEEEE i3 PR s T .-i,'-. S Ei oy ~'. ’
Questum 2 Da.m la grandc et la pcu[e CIrn.ulduan lm vatss’eauk-'sdr_:guins'qui conduisent fe”
_-~szf_fg:qmpar(titrcocursont S Re o B2 U TR et sk
2 ""arté"esf -_- ; 2 2 e ST 5 - 5 GRiaie o S ‘-A" - s "_ ® =l - : = a2 T

e

1 Ba-{)es capillaires: | cheds 2t o
¢ CEFDesveines- ~ -« oo O T ¢ = ¢
j _'D.'ariério'les - S i
: Qufstmn 2 In the. large and smal! cu*cu]atxon, the-blood vegse!-s that carry blood from %,r“ :
" the heart are: - - ! DR - L R | °
. A. Arteries- . g e T L WERE T ) o 5
B. Capillaries - =~ . . P e : e 2 :
.C. Veins - a0 o - : ) : : : -
. D. ar’teri()‘les L C . e i o B

i Quesnon 3:Les ecnanm:) Lazcu( (o\\Lenc gaz uarbomquc) se tom au nn eau des ) : g
A. Veinules™ - - - : 7 LN T e X LS
B Capillaires sanuuur '
C. Arérioles -
.~ Veines

Question 3: Gaseous exchange (carbon dxoudc OXY gen) occurs in:
"A. Venules -

B. Capillarics -
C. Arterioles -
-D. Veins

Question 4 : Lequel n'est pus un orgaie d ¢hminaton ? : i _
AL Les reins ‘ ' _ : j

2§ a4 peau
C. L 1\'c<s|b

@ L'ugérus

=)
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BIOLOGIE /| BIOLOGY

Enceicler la ou les réponse(s) juste(s) encircle the letter(s) that correspend to the correct

proposition. . A )
1) les mitochondries ont pour réle principal : 1) The main functions of mitochondria.-
8 Détruire les organismes intrus a) destruction of invading organisms
(B Produire de I'énergie . b) energy production
¢ Aider aux échanges cellulaires c) help in cellular exchange
d) La production cellulaire d) cell reproduction” ; .
€) La translocation e) translocation

2) Les ribosomes cellulaires sont fabriqués par: 2y Cellular ribosémes are producced by

é)) Les nucléoles ‘a) nucleoles
b) Les centrioles b) centrioles
¢ Les vacuoles 5 ) vacuoles
d L'ADN - d ) DNA
e-L'ARN e ) R NA
3) Une grosse particule passe du milieu extracellulaire au miljeu intrace]lulaire par :
3) A large particle moves troni the extra-cellular to the intra cellular medium

through:
a) échange trans-membranaire a) trans- membrane exchange
@; phagocytose ; b) phagocytosis
C) exocytose c) exocytosis
d) -pinocytose ; ~d) pinocytosis e
€) Intracytose €) intracytosis -
4) La colonne vertebrale compte: 4) The vertebral column is made up of: s
-@ 32 vertebres - : a) 32 vertebrae b
b) 35 vertébres . b) 35 vertebrae
c) 33 vertébres c) 33 vertebrae
d) 34 vertébres : ~d) 34 vertebrae
e) 36 vertébres €) 36 vertebrae
5 ILss muscles rouges striés sont: 5) Striated red muscles posses the -
} ' : ~ following properties
a) de contraction volontaire “a) volontary contraction
b) de contraction involentaire b) involontary contraction
c) les muscles des visceres c) visceral muscles
d) de contraction mixte d) mixed contraction

e) unipolar properties
6) Il ya: '- . 6) There are:
@) 3 types d’os N a) 3 types of bones
b) 4 types d’os it b) 4 types of bones
c) 5 types d’os* ¢} 5 types of bones
d) 6 types d’os cn tenant compte des-sous types d) 6 types of bones
' : ‘ .includin}é sub groups
€) 5 types of bones including
sub 'gm‘ups b

€) unipolaire

e) 5 types d’os avec dcs sous types

7) Les articulations des vertébres entre elles sont des articulations : %



7) Tize axtxculatxcr bcnvcv n the individual bones of the vertevra! column are:

a) fixes a) fixed
@ semi mmobiles b) semi mobile -
c) variées c) varied
d) Semi variées d) semit varied
€) mobile

e) mobiles

'..8) Concemant le don de sang :”

a) Le groupe A peu recevoir du sang A et O

b) Le groupe B peu recevoir du sang B, AB et O

(") Le groupe AB peu recevoir du sang O, A, B, et AB
d) Le groupe O peu recevoir du sang OA et AB

e) Un sang rhésus positif peut étre transfusé & un receveur - rhésus negahf

8) Blood donation :
a) Group A can receive blood from A and O

b) Group B can receive blood from B, AB and O
¢) Group AB can receive blood from O, A, B and AB

d) Group O can receive blood from O, A and AB

e) Rhesus positive blocd can be transfused to a rhesus negative receiver

»

9) Quel circuit suit le son
a) tympan, limagon, osselet, nerf auditif
b) tympan, osselets, limagon, nerf auditif
c) tympan, osselets:, nerf auditif, hmag:on
d) tympan, nerf auditif osselets, hmag:on
@) Nerf auditif, tympan, osselets, limagon
9) What is the pathway of sound waves?
a) Tympamc membrane, malleus, ossicles, auditory nerve
b) Tympanic membrane, ossicles, auditory nerve
¢) Tympanic mémbrane, ossicles, auditory nerve, malleus
d) Tympanic membrane, auditory nerve, ossicles, malleus
e) Auditory nerve, tympanic membrane, ossicles, malleus

“"10) L'emtbr yogenése est la période allant :
a) de la production de I'embryon a sa maturation interne
b) de la production de |'embryon & sa maturation externe
c) de la fécondation a la fin du 2e mois
d) de la fécondation au 6e mois

@ du le au 3= mois

0) Embryogenesis is the period from .
12 a) The production of the embryo to its internal maturation
; b) The production of the embryo to its external maturation .
c) Fertilization up to the end of the 2nd month
d) Terlilization up to the 6(b month
e) The Ist to 3rd month

11) Le début de la marche chéz I'enfant se fait vers :

11) An infant starts walking at about
a) 3 mois a) 3 months



b) 6 mars 'b) 6 months

¢) 12 mois ¢) 12 months
d) 15 mois _ d) 15 months
. e) 48mois- . . €) 18 months

12)Dans unreinil ya:
12) A kidney has :

a)2 néphrons " a) 2 nephrons

Environ 1000 000 de néphrons 'b) about 1000 000 nephrons !
c)Plus de 10 000 000 de néphrons c¢) more than 10 000 000 nephrons .
d) Toutes les réponses sont justes d) all of the above ,
e) Aucune des réponses n'est juste e) none of the above

13) Quel systeme gére, la vie de relation, les activités volontaires, consciente, la

sensibilité : :
13) Which of the following SYSTEMS control voluntary activities, consciousness and

sensitivity .
‘@ le systéme nerveux cérébro-spinal a) the cerebro-spinal nervous system
b) le systeme nerveux neurovégétatif b) the neuro-vegetable nervous system
c) le systéme périphérique c) the peripheric system
d) toutes les réponses sont justes d) all of the above
e) aucune des réponses n'est juste e) ncne of the above

. 14) La génétique étudie la transmission du caractére héréditaire
a) le phénotype d'un individu détermine le.génotype _
b) le phénotype correspond aux caractéres qui s’expriment chez un individu
c) les différentes expressions d'un méme géne son appelées alltles
d) I'allele est utilisé uniquernent pour le sexe féminin.

i 14) Gcnetxcs 1s the study of the transmissicn of hereditary characteristics:

a) The phenotype of an individual determines his is genotvpe

b) The phenotype corresponds to those characteristics that are expressed in
the individual

c) The different expression of the same gene are.know as alleles

d) An allele is used solely for the feminine sex. 3

15) L’hypermétropie est :
@) lRadifficulté a voir nettement les objets rapprochés
b) la difficulté.a voir nettement les objets éloignés
a) la perception de deux images pour un seul objet
b) la perceplion bi vilrée
c) la perception multi vitrée s

16) 15) Hypermetropia is:.
a) The inability to see nearby objects clearly
b) The inability to see distant objects clearly
c) The perception of o le object in two images
d) bi vitreous perception
¢) multi.vitreous perception




Y/% g vaccination pro'duir
.3} une 'mmumtc nNINOGal S ) 3
n) une immunité vnic bnnoda!ﬁe k!
) #une immunité retarééc non dureble dans.le remps
d) vne immunité reiardée durable dans Ie temps
e) uncimmunité mmédiate dans le temps

] 7) Vaccination prodm,es
a) Immunity in too phases
b) One phase immunity
c) Latentimmunity that sshort lasting
d) Latent immunity that is long lasting
e) an immediate immunity

"*18) Le débit cardiaque normal chez un sujet adulte au repos est de :
' '18) The normal cardiac volume in an adult at rest is:_

a) 8L/mimmite a) 8/minute ~
b) 12L/minute b) 12L/minute
6L/ mmute c) 6/minute

d) 10L/minute d) 10L/ minute -

4
-

197 S afnssant de l'anatemie du ceeur :
ya y il n'existe aucune communication entre le cceur gauche et le cceur droit en

situation normale
b) les valvules mitrales se trouvent dans le cceur gauche
c) les valvules tricuspides se trouvent ‘dans le cceur droit
d) l'aorte part du ventricule gauche '
e) toutes ces réponses sofit justes

-

19) The anatomy ofithe heart :
a) In a normal situation, there is no. commumcatlon between the left heart and the

right
b) - The mitral valves are found in the left heart
% .¢) The tricuspid valves arc found 1 in the right hean )
d) The aorta leaves the left ventncule
e) all of the above

20) L'adrénaline est sécrétée par :
"20) Adrenaline is secreted by :

ay lathyroide a) the thyroid
. %5 b) les testicules b) the testes :
c) I'hypophyse ¢) the hypophysis :
\@‘ les surrénales' d) the suprarenal i I

e ¢) I'hypothalamus e) the. hypothalamus

71) Le pancréas sécréte :
21) The pancreas secrets :
a) aldostérone + pepsine
@) insuline + glucagon
c) "ADH +STH
d) Amylase + lipase

a)aldosterone — pepsin
-b) insulin + glucagon

c) ADH + TSH

d) afnylase ~ lipase
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- e)insulin + stimulin

: e) insuiine + stimuline ;
~ 22)Lapression artérielle ést augmentée par :
a) L’augmentation du débit carmaquc
b) la dilatation des artéres
' Fa réduction du calibre des altéres
") la vanation du volume sanguin dans un sens ou ’autre
e} l'exces d'aldostérone
22) Arteriai pressure is increased by:
a) An increase in cardiac volume
b) Dilata lion of the arteries .
¢) A reduction in calibre of the arteries : : : ,
d) A variation in blood volume from one direction to the other
e) excessive aldosterone
23)Les glandes salivaires sont constituées de :
23) Salivary glands are made up of:
a) Parotide
b) Submandibulaire
c) Sublinguale

a) parotid
b) submandibular
c) sublingual

& Ptyaline ' "~ d) ptyalin-
(6} atbh+te - e) atbtc
N btctd : . f) bictd

24) La transmission.du message nerveLx au niveau de la synape neuromusculaire :
z2) se fait du muscle vers le nerf et vice versa
b) fait intervenir I' acetylchohne comme neurotransmetteur
(¢} se fait uniquement dans le sens nerf—musc]e
d) varie en fonction du sexe .
- © €) ne nécessite pas la présence d'un neurotransmetteur
24) The transmission of a message is done at the level of neuro muscular synapses
a) From muscles to nerves and vice versa
b) Uses acetylcholine as a neuro transmitter
¢) Is done solely in the nerve- muscle direction
d) Varies in relation to the se;x i
e) Does not require the presence of a neuro transmitter

25) Concernant la vision : i
a) au cours de la\.commodatmn, il se produvit une augmentation du diaméire

antéropostérieur du globe bculaire
@ la fovéa est située sur 1ax¢ optique de I'eeil
. ¢) dans I'xil du beeuf, la fovea n'a que quelques millimétres de diamétre
"~ d) la chambre’ posteneure de I'ceil est occupée par une masse transparente et

incolore appelée corps v1tre

25) Vision:
a) During accomodatlon there Is an increase in the antero-posterior. dxametre of'the

\

=7 eyeball -
h) The [ovia is situated on the optical axis of the eye
c¢) Inacow, the fovia measures only a few millimetres in diameter

d) The posterior chamber ‘of the eye is occupied by a transparent and
=i colourless mass known as the vnreous body

]
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MATHENMATIGUES  MATHEMATICS

Encercler fa ou les reponse(s) juste(s) / ciicescle ihe letter(s) that correspond o the correct

proposiiion
. Toute suite croissante cst : / Every increansing series is :

a2) convergente/ convergent b) minorée/ minored c¢) majorée/broadened
2. Le systéme d’équation d’inconnues (x, y, z) suivant a pour solution / the set of the
following equations where x, y and z are unknown has as solutions '

—x+y—2z=-4

~x—y—z=-1]1
2x+y—z=28
a) (-1;4;3) b) (2;-1;9) c}3-1.2)

Une solution de I’équation différentielle suivante / One solution of the following

differential equation

y"+>2y'~—3y=0

a): 2e’ + 3e" b): 3¢ ;_Ze'x
4. L’équation suivante admet pour solutions complexes dans C/ The following equation

c): 5¢7* + 3¢

admits as complex solutions in C
. 24 ZP-(61)Z+1-3i=0
a) 1—1,1-2i,-1+1 100 -1 1) c)1-1,-1-2i, -

5. (In) est la suite numérique définie pour tout ne N * p r/ (In) Is a numerical

A ,
sequence defined as follows for every ne N *

( ) '[:e‘ ri ( )Aestlxs

b): décroissante/ decreasing c) autre/other ..

.. a) Croissante / Inerreasing
, of ‘the

6:+L’ensemble.des solutions dans T de I’équation/ the set of solutions inQ
equation Ln (-3x+14)-£n (x?-8x) = 0
a): (-2;-9) b):  (7,-2) c) 1.(-2,-3)

‘7;:,";'“1:3 probabihité d’apparition d’un dé équilibré, lors d’un lancé, est de 0,25. Le hoxflb;e

de faces de ce dé cst : / the probability of having a head in a dzcb that is IOllbd audr

[osvpd £5:0.23. determzne the number of heads of this dice:

a): 4 b): 6 c): 10
8. Une solution de I équation dlfferentlelle /ais solutzon of the dzﬁ'eré*ntzal equation

y -7y +12y
You will fin all papers and answers of Every Entrances
competitions on www.worldprf.com to download for free
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a): e + ™ b) —x* + x’e™ ©): '-xcj‘x
| 9 Le sys-:érhé/The set s Sy s 7z2=-3 )
Tk -'r“4y‘f Jz==16" - : ‘ d’inconnues/of unknowns (x; e ; - 1
Sx + 9y —4z =2 Uies i
A pour solution/ has as soluti‘o'n
D:(1:433)  B:@;-139)  9:0:-1:2)

10. La composée d’une rotation et d’une symétrie centrale est:/ The compound rotation of

a central symmetry is :
a) un déplacement/displacement ~ b) : un anti-déplacement/ an anti-displacement

‘c) : autre/ other

»

V6 ++2 f 1 V62
A SR A c) e b
4 2J— 2
S
12 La somme suivante / Thefollowmg sum | l+———+—+—+--- 4
2 4 8 16 1024

11. La valeur exacte de sin (—1?2—) est: The exact value of sin (%) s

a):

)est egale / s

-equal to:
) Gl b): 2949 c) autre/ other
1024 : - 1024

.. 13. Les solutions dans C, de I’équstion/ the solutions in C of the equation:
forment des-couples d’éléments deux 2 deux/ are coupled

Z' - 422 +922 - 47+ 8=
and the elements dr}e in twos: - :
a) : opposés/ opposite b) : inverses/ inverse c) : conjugués/ éonjugated

14. L2 Iimite lorsque n tend vers +oo de toute suite géométrique (pn) de raison q téllé’ que

-1 < q < 0 est:/ the limit when n tends to +oo of a geometric series (un) of q reason

.such that -1 < g < is :
a): -oo byz0 * iC) : +oo

15. 8121 — (a-b) = 2(b+b), et a = 8, qu’elle est la valeur de b ? If 21 — (a-b) = 2(b+9), and

a= 8, what is the value of b O

-3): 31 b): 4 - d):%' - e)-5s

3
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Lo HMMIUE 7 CHEMISTRY
Encercier la ou les réponses: saustele) / encircle the leﬁer(s) that correspond to the correcr

proposition _
I - L’hydratation de I'acethyléne en présence d'ions mercuriques donne:
/- Hvdrated acetylene iy the presence of ions of mercury gives:

A) un acide B)un alcool C)un aldéhyde D) rien.

A) an acid B) spinit, C) analdehyde D) nothing
2- Les atomes suivants ont un seu! électron sur la couche la plus externe de I'atome sauf un,
encercler le. :
2- The following atoms have a single electron on the outer mosi layer of the atom, except one.
encircle it. -
A) Lithium B) Sodiuin C) Potassium D) Chlore E) Aluminium

A) Lithium B) Sodium C) Potassium D) Chlorine E) Aluminium

3- La réduction de 9,552g de CuO donne 7,632g de Cu. Le poi:is atomique de Cu est doncde :
- The reduction of 9.552g of CuO(s). gives 7.632g of Cu. The atomic weight of Cu is

therefore: .
a) 60g a) 60g
b)63.6g - . b) 63.6g
c) 64g c) 64g ' 3
d) 62,9g d) 62,9g

€) Aucune réponse exacte e) None of the above
» 4- La combustion de 184 mg d'un hydrocarbure ayant une masse moléculaire de 56 a donné
577 mg de CO; et 236 mg d'H,0. Quelle est ]a formule moléculaire de ce composé ?
4- The combustion, of 184 mg of hydrocarbons whose molecular mass is 56 gives 577 mg of
CO; and 236 mg of H20. What is the molecular formula of this compound?

a) CsHs b) C2H, c) CgHis CeHs C;3Hg
5- Si nous mélangeons 20g d'acide sulfurique avec 980g d'eau, quel sera le pourcentage
d'acide sulfurique dans la solution ?
5- If 20g of sulphuric acid is mixed with 980g
acid in the soiurion?

-a)-0, b) 2,0% c) 20% d) 1,0%
6.- Laloi de diffusion de Graham s'exprime mathématiquement co
6- Grakam's law of diffusion can be expressed mathematically as:

e) 98%
mme suit :

C)ﬁ'._—_\[}_3 D) ﬁzﬂ E) \/]leﬁ_
V'Rz Pz Rz Pz Rz f;

- 7- Parmi les fucleurs suivants, quel est celui qui n'affecte pas I'équilibre des réactions

reversibles ?
7- Which of the following fuctors does not affect the equilibrium of reversible reactions? -
A- Concentration of reactants

- La concentration des réactifs
B- La concentration des produits B- Concentration of products

of water, what is the percentage of sulphuric

i
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C- La pression C- Pressure
D- La température D- Temperature A :

B- Laprésence d'un catalvscur E- Presence of a catalyst

~ 8- La liaison formée par le sodium et le chlore est
8- A combination of sodium and chlorine is

a) Ionique , a) 1onic

b) Covalence b) covalent
c) Dative c) dative

d) Infractive d) infractive

e) Impossible a déterminer e¢) impossible to determine

9- Le tableau périodique a des périodes et des groupes Lesquelles de ces données
caractérisent-elles la période de n'importe quel élément du groupe principal ?

a- Le nombre des protons -
b- Le nombre des électrons dans la couche externe

c- La couche contenant les électrons externes
d- Toutes les réponses sont justes
e- Au'cunc des réponses n'est juste

$- The periodic table has been arranged in pe)zods and groups. Which of the following
answers  characterize the period of any element of the main group?
a-The number of protons . )
b- The number of electrons on the external layer
c- The layer contained the external electrons

» d- All answers is good :
e- None of the answers is good . .

| . s . . ,

10- Tous les composés suivants exposent une allotropie sauf un. Encercler-le.
o] 0— All of the following compounds exhibit allotropy except one. Encircle it.

a) le carbone a) Carbon

b) l'oxygéne b) Oxygen

c) sulfate c) Sulphur

d) le phosphore d) Phosphorus i >
e) Chlorine

e) le chlore
11-Le potassium posséde quelle configuration électronique parmi ceux-ci ?

11- Which of the following eh ironic configurations does potassium possess?
A) 2.8 B)2, 8,1 C}2 8.7 D) .2,8:7 @ 2,8,8,1

12-Les atomes des mémcs ¢léments qui ont les propriétés chimiques semblables mais les

masses atomiques relatives différcntes sont appelés :
12-Atoms of the same elements which have similar chemzcal properties but different relatzve
atomic masses are known as
Isotopes
b) Allotropes

a). Isotopes
b) Ailotropes

c) Isomeéres c¢) Isomers
d) Polymeéres d) Polymers
e) lons

e) lons
13- Le nombre d oxydatlon du chlorure de potassxum heptaoxodichromate (VI) est:

You will fin all papers and answers of.Every exams and Entrances -
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i I0iLsEmn Aeptaoxodichromate (Vi) is:

=

13- The oxidation numba, <\ 6iF g sos

A)+2 5 5 ,H

v B)43 ‘ B 43

AN 5 : el
D)+6 - D))
E)+7 E)+7

14- Combien d'tsomeres y a-t-1l dans le composé C5H12?
14- How many isomers does the compound CSHI12 have?

a) aucun A) None
b)2 b) 2
)3 7 c)3
d)4 d) 4

" e)s e)s

I 5-Parmi les corps solides ci-aprés, lequel est-il plus'soluble dans les solvants basiques?
15- Which of the following solids is more soluble in an alkaline?
A)H,C,05 ° B)MgCO; C)KCL D) Ca(OH), E) CaCl

e
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PHYSIQUE / PHYSICS
I- Le coiit par "unité” sur une quittance d'électricité est 64 francs. Ceci signilie 64 francs pai
unite de: v : i :
[- The cost price of a unit on an elecricity bill is 64 Jrances. This 64 francs stands
ofs . ‘

a) énergice électnique

for a unit'

a) electrical energy.

b) puissance électrique: b) electnical power

c) charge électrique c) electrical charge

d) courant électrique d) electrical current

e) différence de potentiel e) potential difference : i, :

2- Laquelle des formules suivantes relie la fréquence 7/ d'une oscillation 2 sa pulsation o, k

€tant une constante ?
2- Which of the following formulae links the JSrequency f

pulsation w, given that k is constant?
@

SE gy f=Vk b)f =k Af =ke* ~ : df=VKo

of an oscillation and its

-

3- Une ampoule de torche émet une lumiére de 0,015 W. Combien de photons sont-ils émis .

par seconde si la fréquence moyenne de la lumiére est de 7,5.1014 Hz. (Constante de Planck

6,6.107 J.s)
3- The bulb of a torch gives out light of 0.015 W. How many photons are emitted, if the

average frequence of light is 7.5. 10"* Hz. (Planck's constant: 6, 6.10* JLs) S
a)3,0.10' b)7.5.10"  ¢)3.010"  d)12.10" e) 3,0.10%°

4- Quels sont, parmi les rayonnements suivants émis par les atonies ceux qui nous reriseignent

sur les couches électroniques profopdes '

4- Which of the jfollowing rays emitted

by atoms guide us to deep electronic layers?

a) infra-rouge ajy infra- red
b) visible : _ b) visible
c) ultra-violet c) ultra-violet
d) rayon X d) X-ravs
_ €) rayons gamma €) gamma rays 5

5- La loi de conservation de la charge électrique d'un systéme feriné implique que :
a) la charge est invariante.  : ‘ :

b) la charge est quantifiée ‘ ,
c) la somme algébrique des charges présentes dans le systéme est constante

d) la somme des charges positives est égaie a la somme des charges négatives _
:€) toute interaction avec le systéme ne saurait conduire a.la' modification de la charge -

totale du systéme = ’

5- Thelaw of conservation of an electric charge of a closed system implies that
a) The charge 1s not variant 4
b) The charge is quantified
¢ c) The sum of the algebraic charge in the system is constant
d) The sum of the positive charges is equal to the sum of the negative charges
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e) All interactions wito the svstem will only lead to amodxﬁ«,atmn oﬂhe total

charee ir the systesi:

_6- Un gargon a bicyclette se déplace a 20 m.s-1. Quelle est la vitesse angulaxre d'une fourmi

sn.r I'un des pneus si ce dernie; a un rayon de 0,34 m ?
6- A boy on a bicycle covers a distance of 20m.s-1 .

perched on one of the.tyres, given that the radius is equal to 0.34 m?
a) 59 rad/s - ‘b) 1,7rad/s  .c¢) 0017rad/s d) 0,59rad/s

What is the angular speed of an ant

e) 6,8rad/s

7- Quelle est la vitesse maximale d'un bioc de 2,0 kg attaché a un ressort de constante de
raideur k = 8,0 N.m™ en mouvement harmonique simple dont I’amplitude est 0,10 m ?
7- What is thg maximum speed of a block weighing 2.0 kg tied to a spring with a constant of k

=8 O0Nm'ina simple harmonious movement with a scale 0of 0.10 m?
2 @) 0,020 ms’  b)0,050ms? ¢ 040m.s’  d)0,025 m.s“ 1€)0,20m.s’

_ 8 On ajoute 1 Og_vdc vapeur d'eau.a 100°C a 8,0g de glace § 0,0°C. Quel est le résultat du
nne : la chaleur Iatente de vapomsation de I'eau égale a 540 calories/g, la

omne
JP'iaihsxon del eau egale 3 80 calories/g et la chaleur spécifique de I'eau égale

““chaleur latente
alo calores/g
A-4,0g de glace 4 0°C et 4. Og d'eau a °C
C-6,75g de glace a °C et 2,25gd'eau 2 0°C  d) 9,0g d’eaud 0°C

B-1,25g de glace a 0°Cet 7,75 g d’eau 20°C
e) 8,0g d’eau a 6°C

.8~ g of water vapour at 100°C is added to 80Gof ice at 0.0°C. What does this mixture resuit
- 4n? Given that the latent heat of vaporization of water is 540 calories/g the latent heut of Jusion of
“water is 80calories/g and the specific latent heat is 1,0 calories/g. ;

A- 4.0g of ice at 0°C and 4.0g of water at 0°C

“'B-'1.25 g of ice at 0°C and 7. 73g of water at 0°C

C- 6. 75g of ice at 0°C and 2.255"of water at 0°C

' D- 9.0gofwaterat 0°C E- 8.0g of water at 0°C

. ,

9- Utilisant un colorimétre, vous obtenez les données suivantes :

- solution standard : 25 solution a doser : 18
La cencentration de la solution standard est 200mg/100ml. Quelle est la conccntratxon dela

solution a descr.
9-The standard concentration of solutions is 200mg/100ml. What is the concenzratzon of a
solution to be dlluZe? g :
Standard solutzon 25 - Solution to dose: 18 :
a) ]44mg/a!l 'l_2)7_277,8mg/d_l c) 277.8mg/100ml d)1.44g/l e) 277.8mg/l

10- _,:I:-,-c.;-':fondeni“ t mathématique de laloi de Boyle est :
10- The mathemgti;c_‘al” expression of Boyle's law is:
a) - constante a) L constante

b) - constante b) K.= constante. -~ B,
TR hr

c) o constante c) e constante -
F . T

d) PV = constante

d) PV = constante
e) none of the above

e) Aucune de ces réponses n’est exacte

Z0




11 - Le moment d'une force F appliquée en un point O egt fonction de .

1i-Themoment of a force F applied on point-Ois a function of:

a) du bras de levier de laforce ~ a)the hand‘leverofthe' force
b) delarésistance de I'air " ) the air resistance _
¢) de I'intensité de ]a force - " ¢) the 1ntensity of a force $

d) de la densité de la matiére déplacée - d) the density of the displaced body

12- Une onde éIectromagnétique est composée d'un vecteur champ électrique
<E et d'un vecteur champ magnétique B. ’

a) B reste perpendiculaire A E en tout point

b) B reste paralléle a E en tout point

c) BetE se déplacent chacun 4 sa vitesse .

d) B et E se déplacent a la méme vitesse (celle de |a lumiére dans Je vide).
12- An electromagnetic wave is made up of an electric field vector E and a magnetic
Jield vector B.

a) B remains perpendicular to E at all points

b) B remains parallel to E.az all points ”
A .~ €) B and E each displaces at its own sneed :

" d) B and E each displaces at the same speed (that of the light in 4 vacuwm)

13-L’ceil 4 vision normale a une vergence totale de 59 dioptries (8). Le cristallin au repos a
une vergence de 16 dioptries (8). Au maximum de Faccommodation, Ja vergence du cristallin
augmente d'environ 10 dioptries. )
On appelle ceil aphaque, I'eeil qui a subj I'ablation de son cristallin
a) I'eeil aphaque a perdu uniquement sa capatité d'accommodation
b) I'eeil aphaque a perdu uniquement une vergence de 16 dioptrie; .
@) I'eeil aphaque a une vergence nouvelle de 43 dioptries et a perdu sa capacité
d'accommodation. _ :
d) pour une vision nette d'urf objet éloigné, il faut adjoindre a I'ej] aphaque une lentille
divergente de 16 dieptries 5

13- An eye with a normal vision con verges 59 dioptres. The resting crystclline converges at’

16 dioptres. With maximum accommodation the convergence of crystalline increases with
about 10 dioptres. An aphakia eye is a one who's crystalline has been removed :
a) An apkakia eye has only lost its accommodation capacity .
b} An aphakia eye has only lost convergence of 16 dioptres
"¢) An aphakia eye has a new’ canvergence of 43 ‘digptres -and has ‘lost its

accommodation capacity
d) For a clear vision of a distant object, you have ro assist an

aphakic eye with a divergent lens of 16 dioptres

(

I4- En médecinc (radiologie, rzfdiothérapie, médecine‘nucléaire) on utilise les rayons X et 3 P

(Gamma) o ;
A les rayons X ety (gamma) sont des rayonnemenys é]ectromagnétiques
@ les X sont des fayonnements €lectromagnétiques alors que lcs y (gamuna) ne le
sont pas . v
c) lesy sont des rayonnements électremagnétiques alors que les X ne le sont pas.
d) Niles X nilesy (gamma) ne sont des rayonnements €lectromagnétiques
l4- In medicine (Radiology, Rudiotherapy, Nuclear medicine) one uses X apd (gamma) rays
a) Xandy (gamma) rays are electromagnetic rays . ik '
b) Xraysare electromagnetic while y (gamma) rays are not

%
e

e
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¢} yrdys éreeleci o ogEeds while X rays arz not :
({,‘ /"P't/zerx. nCr Vi gtininG) rays aic electroma gnetzr : -

15- bur un p;cm mane felziat un zngle o« = 30° avecle plad horizeatal ? On lache v'n pem
oo;et de masse'm = 00 me g qui glicse sens frottement (on ddnne gE=98m s‘z‘i
)l accelcr«tlon du mouve:nent de cet objet est de 49x1072 .52
b) la réaction (R) du plan incliné sur I'objet st égale a 8,48 N =
c) Paccélération du mouvement de cet cbhjet est ega_k 44,8 x m.s™
d) aucune de ces affirmations n'est exacte Lo
15— On an mc[zne p’arze wnose angle ¢ = 30° with e horzzontal plane, a small object wzth
mass m =100 mg is thrown, whick slides withou: _]rlcfzon (§zven that g = 9.8m™)
a) The acceleration of this object is the 9% 102 m.s
&) The reaction (R) of the dipped plane to the object is equal to 8.48 N -
- ¢ The accelerction of this object is equal to 4.9m.5° -
~d) N ocgth bove.
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: i~ Les n‘ufanong %
B i a) Ont les memea conséquences quelque soit le gene affecté
| b) Prsmouvozr I"évolution )

xc) Modi_ﬁént tou}burs la séquence des pretéines

‘d) Ne mbdifient pas forcemeﬁt le fonctionnement des protéines.

1. Gene Mutations :

o 2) Have the sarrfe effect regardless of the gene affected
b) Promoté ev&fution ' E -
¥.c) Always alter the protein sequeme Bk : , - . ,"_

d) Do not necessarily alter the functron of protems

S T A

2- La réplication :
X a) Est lasynthése de I’ADN
, b) Est la sj’nthése de la protéine
& c) Estlasynthése de ’ARNm
d) Est la synthése de P ARNt
— : i :
2.Replication refers to: o L, ¥
X2a) DNA synth esis | ‘
bj Pfotein synthesis
c) mRNA _synth;;sis
d) tRNA:sy_nthe.%is

3- Les chromosomes :
;1) Existent dans toutes les cellules en douBlé exemplaires
b) Contiennent toujours une seule chromatide:
c) Sont constitués d’ADN associé a des glucides
X d) Sont idédtique_s dans toutes ]es'egpébég;"
3.Chromosomes : 5
a) Exist in all cells in Tden‘tical pairs
b) Always contain smgle chromands

¢) Consistof DD"A assocmted to carbohydrates
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- Ad) Areidenticlin all species
' 4- -La vaccination ::
- a) Entraihe une réponse immiunitaire non durablé’

b) N’assure aucune protection contre les agressions microbie'nnes

Kc) Fait appel 2 i,a propriété de mémoire du systéme immunitaire

~d) Apporte a I’é‘rganisme des antigénes.

4.Vaccination: _ '
a) Stimulates a short-term immune response
b) Does not prs)vide any protection from microbe infection
' x ¢) Actsasa siéual to the immune system’s ‘memory function

»

d) Introduces antigens into an organism . -

5- Une glande end(;crine :
a) Estsousle cbntrﬁle du systéme nerveux
b) N’est jamais vascularisée
K ¢) Est constituée de cellules sécrétrices-:

d) Peut agir sur toutes les cellules de I’organisme. : % g .

o

-

4 5.An endocrine gland:
a) Is controlled! by the nervous system =
b) Isnever vas'ilzular
Kc) Consists of secretory cells . . s

d) Can affect all cells in an organism

6- L’évolution des cellules est caractérisée par:
a) L’acquisition d’une paroti cellulaire
b) L’acquisition de I’état pluricellulaire
X ) L’acqurisition d’un noyau |

d) L’acquisitiorj- d’un cloisonnement extracellulaire

€
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+6.Cailulnn devele pmem 15 ...dmcier:sed by:
z) Development of u ceil wall
Y) Davelopment into.a multiceilular state

%¢) Development of aln»uc]eus e S gl

d) Acquisition of an extracellular compartment ‘ AT -

: 7- Laréactiond’ hypersensxbxl té en réponse a une pxqurc d’abeille est due a la:
a) Formation dv cpmplexe immun dans le derme
b) Libération des %:nz_vmes dans le derme
¥ ¢) Libération d’hifétamine par les mastocytes

d) Activité des macrophages. s

7. The hypersensitivity reaction after a bee sting is caused by:
a) Formation of 'm jmmune complex in the skin

s b) Secretxon of enzymes in the skin e e v s B ot Lo
AS) Secx etioh of h)stamme by mast cells * o m e o ke
d) Tba action of macrophaves. iRy . y

, A -,

8- Les plasmocytes sf:mt des cellules sécrétrices de:
a) L'_-,'mphocytés %"4
b) Lymphocytes 'éytotoxiques
c) Anticorps dans la réponse 1mmun1ta1re a médiation cellujaire

Xd) Anticorps dans la réponse immunitaire 4 mediatlon humorale

§.Plasmua cells are secretory cells of:
a) T4 lymphocytes ' '
_ b) Cytotoxxc lymphocytes
c) Antibodies mvolved in ccll-mediated immune response :

X3) Antibodies mvolved in humoral immune response
9. Laquelle de ces propoditions est vraie en ce qui concerne les cellules du.sang ?
X A. Toutes les cellules du sang proviennent de la moelle osseuse rouge
B. La moelle osseuse reuge est la source prmclpalc de toutes les cellules sanguines sauf

des mastocytes et des macrophages - : .
C. La plupart des types de leucocytes i figurent en nombre égal dans le sang -
W_.__—-n_‘—
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D. Les érythrocytes sont produits dans la rroelle osseuse rouge tandis que les leucocytes
~ sont produrts prmcmale*nem dans les ganghons lympnanques - = e et s S

" -:9. Which statement regérdinv blood cells is correct?
S A all blood cells orxgmate in red bone marrow _
B. red bone marrow is the primary source of all blood cells except mast cells and
macrophage p ‘
C. most types ol’zﬁeukocytes appear in equal amounts in the blood
D. erythrocytes gre produced in red marrow whlle leukocytes are produced
pnman!y in lymph nodes . ; :

10. Lorsque vous pxétmez un cafard ou écrasez. une mouche iln’ y a pasd’ effusion de sang :
parce que: ;
A) le sang est refermé dans un appareil circulatoire clos
B) ils sont trop petits pour avoir un appareil circulatoire
" C) ils sont trop petits pour avoir besoin de I'oxygéne nécessaire a la respiration
D) leur sang est un hémolymphe incolore qu1 ne transporte pas. PPoxygéne . - 4
X E) le sang est un hémolymphe incolore qui transporte I’oxygéne des molécules autres que.
I’hémoglobine rougeatre ¢ /QPUEULB'gc
10. When you step.on a ~ockroach or smash a fly, there is no red blood becat.se’ 4
- A) the bleod is enclosediin a closed circulatory system /"
B) it is too small to have:a circulatory system.

C) it is toosmall to require oxygen for respiration. :
D) the blood is colorless’hemolymph that does not carry oxygen. e
AE) the blood is actually a colorless hemolymph that carries oxygen on molecirgs.¢

- than reddish hemoglobin..

B
11. “L’artére” et la “veme sont defmes par le fait qu’elles entrent ou sortent du Ceeur. Si

_elles étaient définies par le fait qu ’elles transportalent du sang oxygéne ou desoxygené nous

devrions changer le(s) riom(s) de : .
~ A) la veine hépatique porte en artére hépatique porte o

B) le systeme hepathue et le systéme rénal devront changer g

C) I'artére et la veine pulmonaxrc devront changer
* D) Partére et la veine coronaire devront changer

E) aucune, étant donné flue ’aorte et la veine cave ne disposent pas « d’artére » et de

« veine » dans leur appgllation

2 s

11. "Artery" and "vein" are defined by whether they leave or enter the heart. If they

were defined by whether they carried oxygenated or deoxygenated blood, we would have

to change the name(s). of
~ A) the hepatic portal vein to hepatic portal artery..

B) the hepatic and renal systems would have to switch.

C) the pulmonary artery and vein would have to switch,

D) the coronary artery and vein would have to switch.

E) none, since the aorta and vena cava do not have "artery" and "vein" in their pame.,
P O O T S W T XN ORI R Rt et e e e
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B ~ 12. Quelle déclaration ‘n’est pas vraie en ce ‘gui coucerne les globules rougev G o »
A) Ce sont des dxsques biconcaves qui manquent de noyau S o]0
B) Leur durée de vie normale est de pres de-120 jours .
C) L’hémoglobine est une protéine qui s¢ Vomblne librement avec I’oxygéne pour le
transporter . : i
D) Il existe preés de 4 a 6 millions de globules rouges par millimétre cube de tout le sang

"X E) ils sont essentiellement produits dans le foie

- 12. Which statement’ﬁb ot teue abotif ved bloateels® oo e oion s ponionie sl o oy
A) They are bxconcax}e disks that lack nuclei. ' e ke
B) Their normat life Lpan is about 120 days. ' o i
C) Hemoglobin is a protein that binds oxygen loosely to transport it.
D) There are about 4-6 million red blood cells per cubic millimeter of whole blood.
"~ E) They are mainly produced in the liver. »
I R’ :

13. La conduite du potentxel d’une action dans un axone myéhmsé est :

Y A) saltatoire
B) plus rapide que dans une cellule amyélinique

C) sans décrément
D) toutes les propositions ci-dessus sont justes

f 13. The conduction of an action potential in a myelinated axon is:

T Saltatory , PN
B. Faster thanin an unmyelff)ated cell : !

C. Without decrement
D. All of the above

14. Qu adviendrait-il sigles sites de réception de I’ acetylcholme sur les glandes sont bloquées par

~un poison tel que le Cutlare ?
A) stimulation dccrue des glandes pour secreter ses produits =
X B) incapacité de la glande & répondre & la’ stlmulatlon du nerf moteur ' '

C) contraction de la glande
D) contraction excessive de la glande
14. What would héppc_n if the acetylcholine receptors sites on Glands are blocked by a
= poison such as Curare?
. Increased stimulation of the glands to secrete its product . . o~ Yol ONRTRIE 5

R B Inability of the gland to respond to motor nerve stimulus L=

C. Contraction of the gland
D. Excessive contractions of the land occurs

2~

Find all papers and angwers of evrey exams and Entrance Compétitions
on WWw. worldprf com to download for free

s

s g ' . . ) Page 6
L) >
. =k &l




15. Les lymphocytes T sont différents des lymphocytes B en ce que: -
~A)ils sont contenus dans les liquides corporels et non dans les ceilules
B) ils sont produits dans la moelle osseuse et non dans le thymus
RQ)ils transpon’ent les réponses 1mmu11taxres a medzatlon cel[ulaue et non les reponses

immunitaires humorales

15. T Iymphocyte dlffers from B Iymphocyte in that

A. They are found ini body fluid and not cells
. They are produced in the Bone marrow and not the Thymus glands-

' \,‘\ C They carry out cel‘]u]ar mediated immune respond and not humorali lmmune

: respond -
D. All of the above arie true

16. Les cellules de Sertoli produisent: o 5w

i Le mucus - - - B b. les protéines associées a I’androgéne (ABP)

* c. Le testostérone - d.LesFSHetLH

o s 16 -Sertoli-cells produce:: - . - = e e e e Rt s s
- a. mucus " b. androgen -binding pxotem (ABP) A s i

c. testosterone d. FSH and LH : : .

i “17. Un gargon ayant pour groupe sanguin O ne peut pas avoir pour parents : ' N
A) une femme de groupe; O et un homme de groupe B
* B) une femme de groupeiB et un homme de groupe B
C) une femme de groupe\:B et un homme de groupe O
D) une femme de groupe A et un homme de groupe O
E) une femme de groupe:O et un homme de groupe AB

NoQuat, o
oxar

17. A boy whose blood type is O Cannot have as his parents
A) a womun with A and a man with B. _ *
\.B) a woman with B and a man with B. RIS '
C) a woman with B and a man with O. ' : 4~§'°:2\;;a/
A . Ep 05
D) 2 woman with A and a man with O. e e \Mysu ;
E) a woman with O and a.man with Lol T

e
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’ . 18. Ley anticorps gk B S /:' g‘-:pua’t,'
».- : ; : - <

e : A iy & 7 °§—;|1Ft%
“A) sont des immunoglobulines” -+ . : - —;/‘-‘t‘/ A RS !
SET R S5 .» -’ - = - R i o s ,,:_. iz '. :.;’g, o= s )
£) sont constitués de la lumigrs ¢t de lourdes chaines. e Jmal
i 2 ‘ '-'\:ﬂ s\
- C) disposent de deux sites de liaison R "\\?4\‘%\ -
- v - g -
L £,

' : - ‘ Y
\ - s R i 4
‘D) peuvent s’attacher a des antigénes i HEALI NG 2

. ., . - gy
Y E) toutes les pro_posmor%s ci-dessus

18. Antibodies

A) are immunoglobulins

B) consist of light and heavy chains

C) have two binding sites

D) can become attached to antigens : : Lo 4 -
YE) All of the above.

19. Un organisme dispose d’un ncmbre de chromosomes haploides N=12. Combign-de tétrades

se formeront pendant la méiose ?

; Ahe RN |
¢ Bad- i |
“ ) L1 -
C.12
D. 24 :
19. An organism has a haploid chromosome number N = 12. How many tetrads will form
_ during meiosis? - e
RA. 3 .
B. 4.
G 12 G
D. 24
20. Cette hormone stin@ulc la résorption osseuse et I’augmentation du niveau de calcium
dans le sang : % :
a) L’hormone de croissance
b) Llestrogéne_ _»
¢) L’hormone parathyroide
A d) La calcitonine 3 . .
20. This hormone stimulates thebreakdown of bone and the increase in blood calcium
levels: ' : :
X a) growth hormone b) estrogen ¢ parathyroid hormone Xd);'calcitbnin

Se e L s e



pour chacune d’elles, Ia rfponse exacte sans aucune jushficatxon

For each of the foIlowmg exercises, several answers are available. Cu‘cle the correct.
answer for each questmn thbout any justification.

1-la fonction g- est deﬁnxe sur }—oo ~1fuls; toof parg(x)=x++/x2 = Une equatxon de la

sent:, au point d’ absc1sse 2, 2 la courbe représentative G de g est :

1-The function g is deﬁnéd on ]— oo’—l[ [1 +oo[ as g(x) x+wjx - The equatmn of the

tangent at the pomt of abscnssa 2, on the curve Cg of g is:

bl

3+2J§ \/5:. 3-43 \/" 3123 i3
a) y=— x4 b) y= Qy= G
3 3. =73 ‘ 3. g

! or 2x" +x+1 2
- 2-la fonctlon__h est definie sur NM\{2} par h(x) *x*;— h(x) peut encore s’écrire sous
la forme h(x) =ax+b + avec a, b et c trois réels ayant pour valeur : -_ 3
- ' 2 =
eyt e g k. . = ,..4._‘—.2x.2_+x.f:—.1- P . e ol L
2-The function h is defined on H\{2} as h(x) =-“2. h(x) may also be defined as :
. = B i X = % i

. : .
b(x) =ax+b+—— svhen the values of a, b and ¢ are:
= :

a) a=-3, b=2, c=5,Jl b) a= -2, b=-1;, e=2; @a= -2, b=-3, c=-5;
' : u

3-’ensemble des solutions de I’inéquation ln(2x+1) >ln(x~3) est:

3 What is the solution set of the inequality ]n(2x+l) >ln(x-3)"

2) S= |- 400 ; » G)s=Breo[; . os=}ag

3

4- sdit la fonction fdeﬁme sur b +oo[ parf(x) 2x 1+1_n_)_c
b P

B ; SR Ry Pape 9O
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) : a5 =
3 B = , ) - ~ . o 3 i
@f est croissante sur f0;+oc] ; bj (est décreissante sur J;—Hva[ ; ¢) fest coastante sut .

- 4- Let the function f be defned on ;+eof as f(x) 2x 1+£‘1E
%

5- soit g la fonction définie sur 1p-r-oo[ par g(x) =In(x +1)—Inx. Une primitive de la fonction g

>

sur I’intervalle ]0,+oo[ est:

o
7

5. Let the function g be defined on }O,-lm[ as .é-(x')r.i‘lnz(-i:-!-l)_—l'n x. An archaic funcfion g

defined over the inter_val: 'p;+00[ is given as:

a) G(x)=(x—DIn(x+ D +In(x) ; b) G(x) (x+ DIn(x+1) ;@ GX)=(x+DIn(x+1) - xIn(x)

i : .
§- L ensemble des solutichs de I’inéquation e** +¢* —2 <0 est :

i -6-YWhat is the solution set of the inequality e** +e* =2<07?
< SRS @S = }-oo;O[ - c) S= Ji+oof
n P ;

cal + x —1. Le domaine de définition Ds de la fonction fest :

7- soit la fonction f(x) = =
] ex

e

’ +1 | ‘
7- Given the function f(x) =-er 1 + x—1. The domain D¢ of the function f is:
. e — A R e

a)Dr= }0_:1]u]2;+oo] ; g 5 D= ]-ool u @Df- ]—ooO u}0+oo[
8- La solution de l’équatien 3™ —e’ —=2=2 est:

§-"What is the solution to the equation Yol =272

\

os- (3 el o

In3 o L i
= e—dx Le calcul de Pintégrale donne : S
Zl-—e

9- soit I’expression suxvante F= j'

n3 e’

)ﬂ .
9- Given the following egzpression F =

E : . € m)l I

. x : ¥




PR S

[ j
) ' i ” . x+2
10-soit f et g deux fonction§ définies sur [0;+oo[ par f(x)=5{(x+2)e

solution de I’équation f(x): g{(x) est:

10- Let f(ﬁ) an:d;g(x) be two functions defined on_ [0;+m[ as f(x)=5(x+2)e™" and g

(o= . ;r - e s f(x) ;_g(x), The solution to the equation is:

a) ==l by ¥==2mSy , ¢ x=~m2; A . x=1w. - - : 2 T

i L n s o f(x)=3-x el i
112 soit la fonction f définie sur R par pour . lecalculde | f(x)dx
: § f(x)=2¢"" x> 1
p == g [
; .

flg=3x " x1
for .

i The solution'of
flxi=2¢" x=1 i

11- Let the function f be dfeﬁned on R as {

J(x)dx

Q ey N

5% a)-nlexisiepasy L) -1-; : 'c) %-&23, 2 d)
> S -

/

v' S -
: ’ | dy : \31’0('\ Y
2 : ) - . X ¥ V}kCL‘;,EA Lc'\;y/
- 12- la solution de I’équation suivante In(2x+4)—In(6—x) =InBx—-2)—Inx est: e g

12- Vtht is the‘solutiotn o[’ the folfowing equation In(2x+4)-In(6-x)= In(3x-2)-Inx.?
: b

S = {g;—Z} ; b) S= {2;2} sl g S {3%}; @) Sefiz).

18
13- La fonction f est définie sur R par: f(x) = (x— l)e"fI . Soit (¢ la courbe représentzitive de

S

f dans un plan P muni d’un repere orthonormé (0 J) L aire J| du domame plan D, hmlte

parl axe des absc:1sses et Ies droites d’equatlons x= —1 et x= 1 est : g

/

13- The function { is defin:ed on %M as: f(x) =(x—1)e*". Let Cr be the curveof fon a

- - =

plane P with a position vegtor (05 7, j). The surface J{ of the domain plane D; bound by

; . k. :
the x-axis and the lines x = —1 and x=1is:

Al et —3 = h) ,H;ez—3e; é:) i[=e+1; ) 11'=0;' 
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14 or considére le nolyndme T o, fa vaciable complexe 7z définipar P(z) = z' =74z~

P(z) peut se mettre sous la forme Pla) — (z—l)Q(z). avec

14- Consider the po!ynofni:_;l P of the complex variable z defined by P(z) =

4 S0 z
2* -z +z-1. : o _

P(z) can be written in the form P(z) = (z-1)Q(@) when

a) Q= z2+1; b) gQ(z‘)= -1 ;' 0 Q@)= -Z+15 d) Qz)=-32-1 .

3
. y i 1 .
15- La suite (u,)est définie pour tout # e par u,, =7U, +1 et u, =3.Lasuite(y,) est:

L

a) constante; ~ b) décroissante;  c) croissante; &) nulle.

: A | :

15- The sequence (u,) 15 defined for all n e by v, =—u, +1 whereu; =3.The
2 :

sequence (u,) is:

a) constant °~ b) decreasing  ¢©) increasing d) null
: . i

v

- v » o v n
16- La suite (2, ) définig Igcur tout n e paruy, = e La suite (2, } est:

"’/
e Tl £ . 4”" C“EALT"‘
> b : s U 30
a) divergente ; b) Nulj ¢) convergente et divergente ; d) convergente : cr QE’//-

16- The sequence (,) defined for all n eNbyu, = :1” . The sequence (u,) is:
- ‘

a) divergent  b) null ¢) convergent and divergent d) convergent

g =bu =3 ! . !
17- On-considére la suite () définie sur N par { - 8l 7 et la suite (v, ) definie
u = oU —/u i

o

sur Wparv, =u,, U, .%Pour tout entier naturel n, S, = Zv, .

B ey [k 2



- and the sequence {v,
=8u,, T S ’

n+2 n

PR B e e (g =Ly =3
17- Consider the sequesnce (u,) defined on¥ by

: : Sl - S e SRt 3
‘y defined on X by v, = Uy For all natural numbers n, S, =Zv,: , we have:

}' i=0
¢
n 7n+1 :1 n 3n+1 __I n 1
i=0 =008 - . '1'=0 S -

s S : ; S o z
18- on considere les complexes. z, =3-+3i et z; =1 —f3i.Onpose z; =—-.Laforme
2

=

trigonométrique de zz est : ;

T SR teleal o sheravees el B i Tn etin e

s : ) ¢ Z
18- Consider the complex numbers z, =3+3i and z, =1 T z,-=—. The’
:: 22 ; >

« trigonometric form of Zs is:

1 s
I~ 15 ~ /__ . )
A / . - - A 7 s
a) 3————J2 (cos——77 + z';gm——”r) : . b) ol ‘ (005’7__71' -—ism——7r) = .C) JB(cos——-ﬂ +151n——77r)
' o2 2 12 12 6 6

S 2 o g, o
.19- Soit le nombre complexe suivant : z= J3 +i.Lexpression de z” est:
-
19- Given the following complex number: z=:..\/r3__+i. The expression of z7_ is given by:

a3 +64i s by-AB-6i; ) -6433=64i ;)63 -6V

l".

/

= défini pour les nombres complexe z. le module de f (i) est:

0- soit I’application f(i)=
: R z+1

' I z—=2]
20- Let the rnapping §’(z)= 2; be defined for complex numbers z. What is the module
g Z&tk sy : o i 4
of £(7) 2 i
2 V2
B
2

'21):/*—-2—',
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0

E’

e . ) g-

1- La fréquence de I’ 1nten51te d’un courant :xltcmatlf dc loi horaire i= ’7‘@
_v'aﬁt : 5§ ' _ o
a) 50hz ~ °  b)100Hz ¢) 200Hz. | ‘

1- The frequenq of an alternatmg current m the law of conduction i = 72 sin (2001t +

B e e e St

'- -TI) is equal to:
a) - 50hz ' b) 100 Hz ¢) 200Hz. " N LT

2- Pour observer un 'dlentx apparent indirect d’un phénomeéne de fréquence donnee la

frequence des éclairs du stroboscope doit €ire :

B

a) Légérement plus grande
g

b) D’égale valeur '

¢) Légérement plus petite

- To observe an apparent indirect slow motion of a phenomenon'of constant frequency,

the frequency of stroboscope flashes must be:
R,

") Slightly higher
¢) Slightly lower e kAt L
3- L’équation différentielle du mouvement d'un penduie élasticiu-e horizontal s’écrit :
a) ki X = 0 E
b) x+ kx=0
€)X = x = {0 |
e m e ; _
3. What is the differential equation of the horizontal elastic motion of a pendulum?
a) x+ % x=0.
b) x+ kx= 0
e) X + kx=0 _ . -
m 2 > = /2
4- L’équation différentielle dd mo‘uvement d’un pendule simple pour des petites oscillations .
est : e ‘
) 6+20=0 b)9+ log=0 g+ wd=0

L et gt L B




4 \Vhdt is the” dxfferent al equation of the motion of a simple pendulum for small V-

os« JHdtzons” )

7';5,)1 9+ 26=0 b)6+ 9_0 Q8+ wh=0
3 La perlode propre d ux§ pendule simple, dans le cas des pemes oscillatidns, est donnee Dar -
le relation :
2 To=2V2 B)Ty=2lVlg T, = ZH.\/é

5« The natural period of a simple pendulum for small oscillations is'de_ﬁned by the

relation:
. 4 . /“'“” “f
- [ Ve 2 \l‘-—"‘ 2y -rr
» ik o B) Tpe= znx/él’- b Ty —2ilg ole= zm/; ,‘:‘.f{:f:,,ff (j
' 75 e L R N Y Tl L = 0 A0 W
o ok R PSNROA
’ I . % 4/ Ay o\ Cp S
6- Le pendule de torsion:effectue un mouvement : !/ Ze ,J;(th P A \}
o : 5 i . i g 7 $ --_:5 MRS
a) Rectiligne "~ b) hélicoidal g-:'_-'( (i ol SiEpl
) - C L REN {3\°TZ’ JuriEs
¢) Sinusoidal de rotation : o =30 7 Y
< AP Py
6- A swinging pendulumé.in motion is: S T es
=3 ) H ‘\(;p,,, “’0 .‘,,/
ye P 5 i rt \
a) Rectilinear : *  b) Helical 5
¢) Sinusoidal in rotation” . . ; ' .
» - 7- L’énergie total emmagasinée dans un condensateur chargée est donnée par la relation e

2) E—-—CU"b)EJ=5Li’ Q) E = CU?
7- Thc total tnergy stored in a charged capacitor is given as:
a) E=ECU7 b)Ezle’ - o} E =60
8-parmi les phénorr'léneé-_f suivants celui qui n’est pas périodique est : _ s
. a) les jours de la semaine | i
b) les battements de cq@;pr
c) la rotation des a.iguisles d’une montre
d) No proposal isTight
~ 8- Which of the following phenomena is 1ot periodic?
a) days of the week
b) Heart beat

- ~ ¢) Rotation of hands of a watch : o

d) none of the above

2 ' Page 15 P
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.
9-Lors. u: sa propagation, hm omw mes-ngue tra nsportc : , : /" R“Pus.uf/@(
: : : i X, eI L ,§
_ d) De la matlcre ’ : AR 4’» : K : _,’X.f",:,‘\"& .
- T AR TN
SR : De I’énergie . % il 3 '-\' AR
3 s Bz Y, -5zl
' c) De la matiére et de I’énergie ; ‘;1\ 'éi /i;ﬁ 3 ri?}
‘ \o* S ¢
9. During propagation a:mechanical wave carries: '\'-;\-“," \ 7 @ y,«j"
E . \\‘ ’, 7 Y e
a) Matter \n_— :&Q\fy
i b) Energy far 07 e s R A R T e
- ¢) Matter and energy : sat PR w8
10-Une onde progressive d\, période T = 0,05s se propage & la célérité C = 20m/s le long d’une  *
corde tendue — sa longueur d’onde vaut : »
a) A=20m | b)A=1m &)A=10m
10- What is the wavelength of a progreésive wave whose period T=0.05s propagates at
speed C= 20m/s along a's'tretched rope? i ; '
b)  a)A=20m b)A=1m ) 2=10m
‘ j1-Deux points vibrent en phase lorsqu’ils sont distants de:
. ) k2 b= @k+1D 2

11- Two points vibrate in a phaseswken the distance between them is: -
2 gl b)-’fi o (Zk+1) 3
12-Les phénoménes suivants révélent le caractére ondulatoire de la,l—umiére :
a) L'effet phg)toelcctnque
by 1. effet Vcﬁﬂphon
c) Les mterfe;ences
12- The following phenomena show the undulating nature of light:
a) The photoelectric effect ' .
b) The Compton effect
c) Interference i
13-Le potentiel d’arrét d’une cellule photoelectnque eclalrée par \iné radiation de longueur <~ 7

d’onde X = 242nm est UO 2V. Iénergie cinétique maximale des &lectrons émis’dé la cathode

vaut (Je/=1,6 x 1077 C). ‘ Sy -
a) Ecmex™ 3,._xlO[9J 3 : 3
b Eone lypxlo'% : » T

¢) Ecmax= 4,8x1o,19J

r‘m



13- The continding potential of a photoelectric cell irradiated by a radiation of 2

’ ',vm;eiength}. = 242nm is U0 =2V. The maximum kinetic energy of electrons cnltted by

- this cathode is: (o= 1.6 x 1072 C). ﬁe w\‘:@;‘}ﬁg \' b L LB )
_ 2) Ecme=3.2%10"J : {/ . |
ot e eSS b) E(ﬂ,‘;;x":"l'.'éx'IO'w'J" o :/::z e R e
' r LA Qe 107Y 1oz ”
¢) Ecnax= 4.8:.21( 10770, \?{‘3‘5 ,_
la-L’expfession de I’inter:}_%rangc' s’éc;it - \f
f
=2 § bi=22
14- The interfringe expréssion is: ,
; ‘ a)i; 5‘:—1 b)l——far W o) i= %
15-Lorsque la distance sov;lrc_e-écran D augmente, 'interfrange :
a) Diminue b) est inchangé . ¢) augmente
15- Asthe source—screen dlstance Di increases, the mterfnnge y el
a) Reduces b) No change ) Increases = s 5
o 16)a radlogctxwte B- est une émission : ’ T e
o a) D electrons b) est mchange c) Augmente »

16- Beta radloactxvxty repers to ‘an emission of:
- 2) Electrlons E,’ - b) No change -¢) Increases
17-Au bout d’un temps t = 4T, le nombre de noyaux.restants d’un échantillon de période T et

de norribre initial NO est : .

] a)

17- At the end of a certain time t =4T, the remaining number of nuclei in 2 sample which

No
8

Bl & 93N,

16

“has a period T and the initial number of nuclei N, is given by:
N N ; : ;
a) —8—0 : b)';_% ¢) 32N, e

18-L’expression de I’activité d’un échantillon radioactif s’€crit :

a) A=MN,e g‘ b)A=Noln (A) ) A=xre™

18- What is the expression of the activity of a radioactive sample?
a) A=AN,e™ b)A=N,n (M) c)AZre™
p A

S i et e it s
-]
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"19-Un moteur électrique e. de w¢siztance .urelrw 20) gébite danq une charge constiteée d une
-"':,resxstance pure R=30,5C: wr courant de 2 A sa fé. o e.,t , o Vg
€ 152,5V S L : 2 il
D 1625V N
E. 1725V
19 -An electric engine with internal resistance 28 delivers a 104d consisting of a”~ pure

resistance R=30,502; a cyrrent of 5A. Its emfis:

13
A. 10V !
B. 1425V
C. 1525V
D. 162,5V :
E. 1725V -

20-Un corpuscule hxminéux transportant un paquet d’énergie est appelé

- a) Quantum . . b) photon.” ... ... . ¢)Quanta... . ..

20- A light particle carrying a quantity of energy is known as: . p ,_f
5 a) Quantum b) photon c) Quanta.
- ,/':":Tf;\\\

2 5 ; GER; &LQI'@ Y
N i % 7 /‘@r, Lo 8 ,:\
" 2 e N
- t! ; *’.,\3-. b

AN

7 B
AN

W

¥,

~

\

f’-‘*”'_
Ve
¢t '
Ly
\\”_‘f
NOL
\\N

5
§
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i) Au cours'dé la mise en solution d'uh'acide si en.a ¢ Ca-[-—&‘—z--o—1 alors ﬂ‘s agit de: -..;;,: . i
(3} Un acide r'nono,acide E"ort; _ K (b) Un _diaacfde fo‘rt; . - \e‘rp'm),j,ﬁ Ga \
(c} Un polyacide fort; ¥ (d) Un diaacide faible K <
¥ :
1.In producing an acid sglution, ifin a: CaLiEO——]- > then, itis :
{c) A strong monoacid; : ' Y. (b) A strong digacid;
{c) A strong polyacid; . (d) A weak diaacid SRR -
: £ W\ &
; s N2y
&,JFW neAM ot/
gt NRENTE cusy
2) En nomenclature systématique le nom du composé CH3 — CH — COOH est : T
! (a) Valenine; . » (b) La valine ; = T
(c) Uacide 2- amine apropanoique ; X (d) L'acide aminopropanb?due;‘ ¢
.2.The systematic nome_}vclature of the compound CH3 — CH-— COOHis:
' NH3
(b) Alanine; . § . (b) Valine ;
(c) 2- amine propan,oi‘c gcid ; X (d) Aminopropanocic acid

3) Lequel des noms suivants convient au composé A de formule suivante :

- CH )
CHy=— oo ~CH2> CH=CH % '
57 NH2 i ‘ | .
Ka- 4- Méthylpentan — 2 — amine b- 4- Méthylpentanamine )
o 1,3 -diméthylpentan—2~amine - ...t 33— dimetfylbumylamietiE

-

2

3.Which of the following names denotes the compound A in this formula?

CH
2 CH - CH l H
T M QEH e
a ¥
X a- 4- Methylpentdn —2 —amine - : b— 4- Methylpentanamme
c- 1,3—-dimethylpentan—z——amingz d- 1,3 —dimethylbutylamine

4.’hydratation d’un anhydride d’acide donne :

a- Un chlorure d’acyle ; b- Acide correspondant; c- Un ester; d-un amide.

4.The hydration of an énhydride acid will producfe:

a- Anacyle chloride ; b- A correspondant Acid; c-An ester; d-An ‘amide.

- ; Page 194
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5.les aidéhydes et les c?étcneé donnant avec la 2--4—-DMPH ;

. a- Un dépot d’argent; b- Une coloration rose ;

l' .

' b b : 4,
@ Un précipite jaune ; d- Un precxplte rouge brlque de CU;O 4

5.A reaction of Aldehyde< and Ketones with 2 4 —-DNPH produces:

a- A Silver deposit; b-a pmk coloration ; ; =

—t

¢- a yellow precipitate ; d- a brick red precipitate of CU,0- T

.6 le groupe fonctionnel des acides carboxyliques a une structure :
a) linéaire i b) plane V c) tétraédrique
€. The carboxylic acid f:’flnctional group structuré is:
a) linear (b) plane '~ ¢) tetrahedral
7. le methyl propan-Z-Oi est un alcool :
’ Katertiaire - b) secondaire . ¢} primaire 2
7. What type of alcohol is methyl propan-2-ol?
a) tertiary b) sg.cor_\dary e "._c') EvriAmary
8. le composé de formule CHS-COOCHS& est appelé :
B a) Methanoate d’éthyle
b) Ethancate de méthyle
c) Anhydrlde n*‘ethanonque » : 4
8. The compound w:th”chemlcal formula CHg‘COOCHng called:
a) Ethyl ethanoate ’
b) Methyl ethanoate
c) Formic ar;hydride '
. -“9.'pour un acide carboxylique, le couple acide/base s’écrit :
a) RCOO/RCOOH
.b) RCOOH/RCO0™ . S 1
c) RCOO-/RCOOH;’
" 9. The acid/pase pair Q'f a'.car_boxylic acid is written a:s:
a) RCOO'/RCQOQ—% .
b) RCOOH/RCOQ

o ¢) RCO0-/RCOCH," ~ - s o



10. A partir d’'un mélange d’acide carboxyligue et d’alcool, on peut accroitre le rendement
.-en ester’: -
gl a) Parchauffage ref";:'\;' I, S i b i, U 3 )
o) Fn utlhsant u’n catalyseur | :
c) Par dxstlllatxon de I'ester (supposé etre le plus volatll)
10. Given a mlxture of carboxylic acid and alcohol the ester production can be
increased by: ’
a) Reflux 7heating"
b) Using a catalyst 2 : coe =
c) Distilling the ester {(assumed to be most volatile) . & &
il.Le 1-ch!9ropropene admet upetsomerle : .
a) DetypeZ/E | |
b) De position §
c) De conformatson
11. Which type of isomerism is observed in 1- chloropropene?
a) Type Z/E
b} position

il

c) Stereoiéomerism- -

12. On donne trois selutions JinE sz=12;3) '
B : {[HO-] = 5,0 x 10-3 mol/l) i = ke, i
C : ([H30+] = 4,0 x 10-3 mol/l] :
Leur classement:par ordre d'acidité croEssénte est:
al> " ‘B A b%B £ ¢} A B €

12. Given three»sold_tions:
A: (pH=12.3)
B: ([HO-] =5.0 x 10-3 mol/l)
C: ([H30+] = 4.0 x 10-3 mol/l} .
Classify them in ascending order of acidity:

b) C BA bjB CA A BC

3
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- \\EDU(, N :
3 Or‘.“:"?’g\

’I'
S o OE ¢ 2\

13 % atome d’ azote ‘d’ur.iz melécule d'amine 287 2

o 3) Uncentre e[ect:ophn!e

X b) Un~cent_re..ﬁﬁclécphile = , -
y . : & (bt
c) Polaire , _ e & 4&/’-’

13. The nitrogen atom of an amine is:
a) electrophili : ¥
Y b) nucleophilic :
¢} polar ?
14. Le composé de formule semi-développée [ R
CHH3-CH2-CH2-CONH2 est un (e) :
a) Acide carbo?cy!ique
b) Acide X—am:::né :

K Amide ; e

. 14. The following compound; CHH3-CH2-CH2-CONH2; is an incompiete'chemical formula
< ’ of: .
- : a) A carboxylii acid

b) Amino acid X
¢) Anamide 2 ' -
15. La déshydrogénation catalytique d’un alcool secondalre condunt a:
a) Un alcéne . 2%
b) Un aldéhyde-
¢) Une cétone
. 15. The catalytic aehydrogenation of a secondary alcohol leads to: ,
a) An alké_ne 4
b) An alde‘hyde
c) Aketone g

16. La formation de la rouille par corrosion du fer dans I’air humide est une réaction:

a) Lente - v, -

b) Tres lente . 3

¢) Infiniment lente : : b

TR Ry ey



16. What type of.__réa'ction is the rusting of iron in 2 humid atmosphere? ,

; o, ‘ - v ; - : e /v<°\‘,\\\r
SalSlow - st n T i s RS R E

b) Very slowi ’
i
¢} Infinitely sgow

17. La réaction dé saponification des esters est une réaction :
a) Athermique
- b) Limitée

c) Totale

: >
e
< DU ”“M\

17. Saponification of esters is: S i e s

a) Athe‘rmal:'_: ) ' = %
b) Limited .
c) Total
18. A 80°C; une %olution aqueuse dont le pH = 6,3 est donnée : 380°Cke=2,5x 107"
-‘a) Neutre
b} Basique
c) Acide

“E

18. At 80°C, an aqueous solution with pH is 6.3 Is given. At 80°C, ke= 2.5x 15

a) Neutral
b)' éasfc | ‘
c) Aciciic | , - ; .
19. Quel est pafmi les acides faibles suivants le plus fort ?
Ka) CH3H bii HCOOH  c) C6H5COO0H
Données : ICOOH/HCOO- (KA = 1,83x10-4)
 CH3COOH/CH3CO0- (KA = 1,8x10-5)
C6H5CO0H/CEH5C00- (Pka + 4,20).
19. Which is tﬁ'e strongest mé the fo.llowing weak acids?
{a) CH3H  b)HCOOH _ c}CE6H5CO0H
Data: HCOOH/HCO00- (Ka = 1.83x10-4)
© CH3COOH/CH3C00 (Ka,= 1.8x10-5)
C6H5CO0H/CEH5C00- (PKa + 4.20).

-] = Pagefl?
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5 ¢ 3 ‘_ i
!f : :C;‘/"
¥ % . /‘?fur@)/
\-p\s‘- 1%\’/4’
1- Donnez : .
Le contraire de « différent » : M&@Qmﬁ
: i f )
Un verbe dérivé de « niveau » : Luwug\er:
Un nom dérivé de « effrayer : E;ﬂ&wrl
b , : /1
Un synonyme de « futile » : il =
, i i
2- a) Quelle est la dlf érence entre une bibliothéque et une libraine ?
_[a/ L@é&ofb,aw,u 74 A 57544/ ‘WAMW auX LMM A
& I -

Tl by ot oo liies’

b) Employez chacun des deux mots dans une phrase (bibliothéque et 11brame)

\/[/ !/&LL.? R_ ﬁa L/A‘//ﬁ/‘fbi’“?l AAAL r L4 WAMJ@W

, %qw . GoCRATE
i-p lﬂ/iwm.f;n/d,,b{:u Lt 22 -fmwuf’,,xr/ ,Mﬂ/n,ut’/z/ -

L
3- Encerclez le chiffre ci-dessous correspondant au lien de I'étude a son spécialiste selon ce

tableau.

Etude b | Spécialisation
a/ del ongg*ne des mots A lexicologie
b/ des étres. vivants B étymologie
¢/ du vocabulaire -1 C  théologien
D
E

d/ delareligion écologie
e/ du milieu des étres vivants biologie

(D).a/A —b/E ~c/B ~dC—e/D;
> - aJA —b/D —c/C —d/B —¢e/E;
- 2/B —b/E —c/A —d/C—e/D
A: ofB ~blA—eD=d/E~e/C.




i , Ja
20. Les niveaux d’énergieide i’atome d’hydrogérie sont donnes nar la relaticn :
. ) " J 2
“A) En=138/nt @ bYEa=1/n2 .. @ E,=-13,6/n
70. Tha én‘ergy!evel ofa ;;Jy'droge'n'atom is_def_iX‘fe::Q byss. .. by hh
| S ES=a36mt b) E,=1/h e E
IS
//Q\/\V\ ‘_‘oE -A': l,. ‘Q\
= -:"I;%é" S X ;
; \% 4
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_4- A ravers les mots. ci- dcvsJus construisez fne phrase’ en posant’ convenzblemernt los
_ 'qae:tlons qui cmvxen.nem/ Usmp the words below, construct sentences by askmg the rwht
questions

e
?.

2) New they in are What doing York

Wﬁwh;—)wjtﬂw oy €0 e w’x 7 |

b) children? got they Have
tﬂl@\/ W w} Lﬂh ééfjwﬂ 7

c) are ch11dren'7 old How thF‘lI'
_&aiv otd ons then CZ/LJID{W 7

d) children the with then ? Are

”f/’L{ il)nLUﬁ//m ard Wtb{ 7%8[\4’1
e) Whendid Y ork? I_EX;N_Q\E in arrive a2 '
Ahen odad Z’AL\/ UL (e ‘mW york

L 4

f) they to Guadeloupc_” D1d fly
t\w{ ﬂ\%‘ XM\/”{/V (ﬂf‘/ﬂ& MM 7 b,

g)t_h_exwxll long How _Lutheu? ‘7
How 1/9”% they W wild A’t"/\? ﬂﬂé}m

1) did they visit visit decxde Why Trinidad? to

W ubw? %Aqy L deocole e et /Evmolwi

A0




s
7

5. Match the phrases in column B with their appropriate beginning in column A so that the

‘séntences make sense. Use each item only once
g

8 Co}umn A2 i 'c e RS it Column B ST .
1) Lake Nyos is the locahty v’l \i 'a) to play in'the basketball team

2) It’s time you got married L‘L"“ e b) You can’t be c’ured‘ of AIDS

3) Whichever drug you taf&e 3.- L c) to stand up in the hut
4) He is much tooshort 4~ C ~ d) Where the lake exploded
S)Heistootall K—f, - - &) Being aspinster doesnOt pay. «-wwr s s

.
-

/

6- Complete the fo}lowir}_'g sentences with should, would, shouldn’t, or wouldn’t. You may

use one word more than 0ace.

a) You < H Wéd have a robot for your domestic chores

b) If you were tired of its presence you W o LLLO/Z always be able to switch it off

c) If you had a robot§ U'WMY)%IO any work in the house any more

d) It W M M k clear up,and make your bed comfortable and welcommg

-

Ty = 'EO
= . 5T ”.\ I(~ \
v \\’/\/\u‘-‘( g qu "b ‘Q. )

I

N
/_&V:z m s

! | vy

b N
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plusieurs affirmations vous sont.

pour chacune des ﬁ;uestions 3 choix multiples suivantes,

‘Proposées. Encarclez pour chacune d’elles, la réponse exacte

Several answers are proposed for each of the following multiple choice questions

Circle the correct answer for each question

‘1- Comment appelle-t-onle programme central assurant la gestion.d’un ordinateuretdeses

périphériques? .~ . )
a) Le bureau e - i 2
b) Le lecteur de CD/DVD-ROM

: @Le systéme d'exploitation
d) Le traitement de texta;j

1- What is the name of the central program that manages a computer and its perip'herals?‘

3) Desktop
b) CD/DVD-ROM reader : S
* R DL

O
6] FIPIRR.

@)perating:system :
= wr

d) Word processing

2-Comment s'appelle le jour de I'année ol la nuit est la plus courte 2

a) ie jour solaire

le. solstice d'été

c) le solstice d’hiver - i _ :

d) le crépuscule  _

>. What is the name given to the day of the year with the shortest night?
a) Solar day g

@Summer solstice gx
. i
c) Winter solstice
d) Twilight

\

» 3. Sur Internet, 3 quoi sert un « moteur de recherche »?

@ C'est un outil permetiant de trouver des sites a partir de mots-clés
=/ ;

écran a partir de laquelle on peut cliquer Rl

b) Dans une page web, c'est une zone de I
: . \

es web déja consultées et archivees dans l'ordinateur

e
]

c) C'est unoutil permettant de parcourir les pag

d) C'est un outil permettant de décryptelj des messages

A



——

Find all papers and answers of evrey exams and Entrance Competltlons
on Www. worldprf com to download for free =

2

- 3-Whatis the role of a search er'gmn on the Intern et’

alltisa smtware used ﬁo find webs:tes thn the help of passwo. ds. o s Pt

] b)Cna web page itis tho area of the screen on which you can chck
c) Itis a tool for browsi,ng previously visited web pages stored in the computer

d)itisa to.oi used to defcrypt messages

| i ' '-j . iy {.

4-Un « verbatim » est :

A :un résumé des débats d'une assemblée
(B un compte-rendu mot & mot

C : des propos liminaires 2 un débat

S
A

O to—— e

s UG AN

D : un manuel utilisateur NG ‘2 g

\.e,,ur")"

4- A "verbatim" is: .- ' _ ~
5 - . 4 = Fd
A :asummary of discussion at a meeting i

B : a word for word repbrt
*  C:theintroductory refharks to a debat»

D : 3 user's manual i

5- Que signifie le mot «*aphasie »? ~ % ¥
a. Solennité .
b. - Exagération - : : ®

(2 Perte de'la parole

d. Absence de velonté
4

5-What is the meanmg of the wor rd "aphas:a

a) Solemnity . y : =
b) Exaggeration '
c) Speechloss

= d) Unwillingness

]

6- Définissez le sigle P.!\I.U.D. : =
@Programme des Nations unies pour le Dév_eloppement‘

b. Projets non utilisés du Développement

c. Politique des Nations Unies pour le Développement

. o
d. Programme National pour I'Unité et le Développement

Page.29s?



“Find all papers and answers of evre -
on www.worldprf.com to download fc})lref)r(gén S/ andrEntranceiLompetivags

¥
f 3 A -
y c ]

- Give the fu‘\meanmg githdatrongme BRGSO Bl

“a. Programme des Nations unies pbur le D:veioppement/United Mations Deveiopnﬁent Pro,,.n.n '

b. Unused Development Program
c United Nations Devélopment Policy
~ d. Nationai Program fipr Unity and Developiment

7- Quelle est la vitesse de propagation de la lumigre-dans le vide ?

3. 299 792 458 m/s
H =

b. 400 000 000 m/s E

c. 500 000 000 m/s

(4)300 000 000m/s
7-What is the speed of ligint in a vacuum?
2.299 792 458'm/s '
b. 400'000 000 m/s
c. 500 000 000 .rh/s
@300 000 000m/s 1

8- En quelle année lsﬁPrésident paul Biya terminera son mandate de 72ns?
b :

2

a. En2014 : -

b. En2016 ,

© En2018 -
d. En2017

8- President Paul Biya's 7-year mandate will end In?

o T SN 7008 : s i A SRS ] -
b) 1n 2016 : S s u-.--_.-.‘l.- otiiete e A ML Ie Ao ee tpdee)

@ In2018 g , "

d) 1n2017

9-Quel est le 1% pays indépendant en Afrigue ?
#
a. LU’Ethiopie %
b. Lelibéria i
Le Ghana
d. Le Cameroun

=)



Find all papers and answers of evrey exams and Entrance Competltlons
on www.worldprf.com to download for free
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alltisa smtware used io find webszt s thn the Help of passv,o. ds.

i

‘comn a teléchz

] b)Cna web page itis th° area of the screen on which you can chck

arger gratwtement

c) Itis a tool for browsi,ng previously visited web pages stored in the computer

d)itisa to.oi used to defcrypt messages

s

- 4-Un « verbatim » est :

A :un résumé des débats d'une assemblée
(B un compte-rendu mot & mot

C : des propos liminaires 2 un débat

D : un manuel _utilisat'etif

4- A "verbatim" is: )

A :a summary of discussion at a meeting
B : a word for word re;ﬁbrt

C:the 'introductc?ry rerharks to a debat~
D : a user's manual

5- Que signifie le mot «ipha'sie »?

a. Solennité
b. - Exagération -
(c> Perte de'la parole

d. Absence de velonté
i

5-What is the meanmg of the wor rd "aphas:a

a) Solemnity .
b) Exaggeration
c) Speechloss

d) Unwillirgness

| .
6- Définissez le sigle P.!\I.U.D.

@Programme des Nations unies pour le Dé\/_eloppement‘
b. Projets non utilisés du Dé;/.eloppement

c. Politique des Nations Unies pour le Dévelo'ppement'

d. Programme Nationz;l' pour I'Unité et le Qévzaloppement

O to—— e

;cw Y
S ?\’%\\s’auc’f["' - S
o AR = _"'-"i’
< -.;," =

e,

NS
A
~

RS NI
'
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pour chacune des :t;uestions 3 choix multiples suivantes, plusieurs affirmations vous sont.

‘Proposées. Encarclez pour chacune d’elles, la réponse exacte

Several answers are proposed for each of the following multiple choice questions

Circle the correct answer for each question

‘1- Comment appelle-t-onle programme central assurant la gestion.d’un ordinateuretdeses

périphériques ? )
a) Le bureau o 2
b) Le lecteur de CD/DVD-ROM

: @Le systéme d'exploitation

d) Le traitement de textg

% 1- What is the name of t'§ﬂe central program that manages a computer and its periphera!s?_
. ' a) Desktop c
s b) CD/DVD-ROM reader . e
_ : -
-’ @)peratmg system : " ¢S/ ‘%:‘I%’?r';;"ix
< N

d) Word processing

2-Comment s'appelle le jour de I'année ol la nuit est la plus courte 2

a) ie jour solaire
le solstice d'été
c) le solstice d’hiver - i _ :

d) le crépuscule  _

>. What is the name given to the day of the year with the shortest night?
a) Solar day g

@Summer salstice
c) Winter solstice '
d) Twilight

i
\
» 3. Sur Internet, 3 quoi sert un « moteur de recherche »?

O C'est un outil permettant de trouver des sites a partir de mots-clés

b) Dans une page web, c'est une zone de I écran a partir de laquelle on peut cliquer

4
ettant de parcounr les pages web déja consultées et archwées dandlordinateur

c) C'est un outil perm

A ' ) . ‘ ;
d) C'est un outil permettant de décrypter, des messages Sl = _

A



5= Whlch was the fl"St t\fr.gan country to gain mdependence" : sz

/
//Can NH,,“\ ™
Vﬁ\,\chCAQ, &,

a) Ethiopid o Bt ; = ' : 17\{% - ‘..,v,\\\

k) Liberia ~ ol s gl it 2 =y

{cly Ghana - - . 4 :
- AR

d) Cameroon

10. Donnez la définition de ces sigles :

SIDA gyuo&ﬂk_v Immww fic A b e /

UNESCO 4&,»./ ler ,«/ALW«JW 7
&%“fw s £ floinrn . j‘}“j}ij‘“‘f" o

10. Give the full meaning of the followingacronyms:

(38 (gl (o7 ;'m

a'} AIDS:, 2
" b) IMF: .

¢} UNESCO:

g} FAO:

11. Quel est le pays le plus étendu de I'Afrigue noire ? Précisez sa superficie et sa capital

11. Which is the largest country in biack Africa? State the surface area and its capitai city

o

i
.12-La guerre de six jours est :

a) Une guerre ayant oggposé la France & la Grande Bretagne

@ Une guerre ayant o;{‘posé ies Etats-Unis a I"Allemagne

c) Une guerre ayant opposé Israél aux pays arabes.

12. The Six Day War was:

a) A war between France and Great Britain
A war between the United States and Germany
c) A war between Israel and Arab countries - -

i
by -
-

7 . 3 - i
15« Nous préférons la pauvreté dans la liberté plutdt que la richesse dans 'esclavage ». cette

- déclaration a été faite par :

SékouTouré §  “c) Ahmadou Ahidjo :
b) Félix Houphouét k! Boigny.

Page 31
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Q
:' “wWe prefer poverty n freedom racher than riches i;1 slavery.” Thic statement was mada
. & ‘ i 4 .
3 gl k
# e . s
fa}; Sékou Toure : : . ¢} Ahmadou Ahidjo
S -
b)Félix Houphouét — Boigny.
14- Quel est 'ordre de préséance des autorités suivante Jors des cérémonies officielles au Cameroun:
a-Le Président de la République; 4 v
¢ /
VE DU r”‘
i . O cuEcC "f_ 3
b-le Président de la Cour Supréine, é /@,;(\6 W Mg :o-\-\
g / q%f*’“\
c- le Président du Sénat, 2, v>\ A\
: : : 2o R B
z » T .
d-le Président du Conseil Economique, ’-}- :wl
; ’ LN A :/
AT
e-le Président de 'Assemblée Nationale, X ) ’:'{'é’ P
, VAR PUBYRe
f-les Ministres - ~_ELash o~
) 1" What is the order of pr»ccdence of the following authorities durmg officml ceremonies )
o in Cameroon? v
® a-The President of the Republic, 4
b-the President of the Supreme Court, b 2 : : ' ;

3
c-the President of the Scn*aéte, o

d-the President of the Economic Council, H
o-the President of the National Assembly, 3
f-Ministers g

15- Que signifie UEMOA ? Et quels sont les pays membres?
o @me} b ej fm’\*”\ﬁ//ﬁ‘@hxt de, l/%/M u}w»t Ai( lmwd‘
A GO | vk

15- What is the me'mmcr of UEMOA" Who are its membex countncs"

1
H

16. Quel est le pays africain qt&i a une partie de son territoire dans l'océan atlantique ?
3 . 5

a. Guinée équaGthia!e |
b. Cameroun

c. Namibie ’
d

. Congo Brazzaville _ ' : > . 32 ¥

o mia b '- ‘Page 32
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Find all papers and answers of evrey exams and Entrance ‘Competitions

on www worldprf com to download. for free | "
““16.%Which African: country has. part of its tcrntory in th&Aﬂantlc Ocezm" e
a) Equatorial Guinea - s ) '_;‘ ‘
k) Cameroon : ; S T U CANEN " e
¢) Namibia = - s S2 i h //é\:‘ ‘:Focs}\dm'i,.
d) Congo Brazzaville . . : v / S5 5
, . , J3%
o [

17- laquelle de ces villes fait partie de I'espace C.E.D.E.A.O ?

Casablanca F

b. Luanda 4
73 2 2

c. btomé |

d. Yaoundé

Al Whlch of these cities is part of ECOWAS’

s

@ Casablanca - ’ o
b) Luanda . ;
c) Lome
d) Yaounde -
18-Les relations qu’ entretlennenl les pays du trers monde s appe!lent

‘.

a) Lacoopération Nord~$ud : : o
—b) Ea coopération Nord-Nord
@ La Coopération Sud-Sud.
18-The relationship betvf'.een third world countries is known as: ) o
" “ |
a) North South cooperation

b) North-North cooperation
South-South coaperation

S

" .19-Le siege de 'Union européenne se trouve a:

i a) Paris @Bruxelles c) Londres
18-The headguarters of the European Union is found in:
d) Paris ‘Brusse!s . ¢) London - 5

20 Comment s’appelle le tout premier président du Senat camerounais?

* 20 Whe is the pioneer president of the senate in Cameroon?

My NjET NIIFEMT Mapu:L

Fmd all papers and answers of evrey exams and Entrance Competltlons
on www. worldprf.com t6 download tor free .
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. TECHNICIENS MEDICO SANITAIRES, SAGE-FEMMES
e ET AIDES SOIGNANTS

EXTERNES

BIOLOGIE
BIOLOGY

-',ﬁ.'fDéﬁﬂir les fzrmes suivantes:
1. Define the following terms : .
a) La cellule est

a) A cell is

b) Un caractére dominant est

b) A dominant character is

a) La dalionisme est

I A § e o e ey
a) Dalionisa is

: , b) Dans cetie affection le géne dominant est-il dominant ou récessif ?

b) In Daitonism, the domingut gene is dominant or recessive?

3. Enumérer le milieu transparent de 1 ceil :
3 Name the transparert milieu of the eye -
a)
b)
ey
- d)
Définir les expressions suivantes et donner les limites de distance conespondames :
4. Def ine the following expressions and give the ¢ eSpndzng distances: ; / -)L
. a) punctum proximum &# W e ,\ Wﬁ("o le TW
‘ a) punctum proxlmum : 17 7 /' / UL ¥ lj’\ Y

-

C / a!!m t' N -'zhm"ﬁrann‘.‘a_ ey o~ ‘?Z
A YW -NA_&
b) prutctuen 't Edhtuim 2y GCCo v N Olin

b) punctum remontum Q’AZL 1& Wf j& P/Q/Jv’\ J/@&’M 3 ,}\/,Zﬂ I\W

!&JJ\/ Vf}‘j]j/vm%d' [ w/'/r/\ ‘7’ C CN W Jdig Vs

%1
€ . 5
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10.

IDE/TMS EXTERNES nta.:
5l novauﬁe la fibre *nusculaxr» se. dxvme Vrar [ ] vou Paux il

True [ ] or False | |

The nucleous of mu °(~u1ar cel!c div zdes

On peut étudier une contraction musculaire sur une grenouille décérébrée

One can study muscular contraction on a decerebrated frog:
Vrai [\ ou Faux [] i
True [ | or False[ ]

ou Faux [ ]

Une fibre musculaire est une cellule musculaire.  Vrai
or False[ ]

Muscular fibre is a muscular cell. True [ ]

La croissante en longueur de 1°0s long se fait a travers I’action du cartilage.
Gorwth of a long bone a long occurs through its articular cartilage

articulaire. Vrai @ ou Faux [_]
- True| ] or False[ ]

Les métaphyses des os longs sont les segments de diaphyses les plus proches des

Metaphyses of long bones are parts of diaphyse near epiphyse
-Organe de glissement= Vrai [] -ou Faux [ ]
& True [ ] or False [_]

¥

Larticulation se compose des moyens d’unions, des surfaces articulajres etdel’

The join is made of ligaments, the artzcular contact and the sliding ¢ organ =

Organe de glissement. Vrai ] ou Faux [ |
True[ ] or False [_|

\n
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CHIMIE
CHEMISTRY

Parmi les options suivantes, cochez la bonne réponse. -
Choose the right answer.

-Ne ] : ENONCES- SOLUTIONS PROPOSEES
: T :

Donnez la représentation de LEWIX du At

! fluor B: ’/_f ’
What is the LEWIS representation of fluor C-|r

- ] T = ==

gzgggszi;;fonnme statique du fluorure de A MGHF
11ag iIl. - 2
Give the formulation of magnesium 'B: Mng+

C: MgF",
Sfluorure i

.| Lamasse atomique molaire Me = 12g/mol

= 2307 ,
ItI-— 6,0223 107°. Calculer la masse. de A= 3.10'23g .

I'atome C, B:=1.99x10"g
C:z=15x% I.O'zzg

The atomic melar mass is Me = 12g/mol;
AT 3
N = 6,022 x 107. Calculate the mass c

1 A: Lorsque les produits formés |
réagissent pour donner les réactifs.

i Quand dit-on qu’une réaction est oy th_e S peR e poncnts
teversble 2 '" react to give a{zotl%er com:ponent
When is a reaction reversible = Lp Isque 18 roacion Drceciie des

10ns spectateurs.
! When the reaction generates other ions
A: Dégagement de chaleur
| Heat relzase :
7% | Au réaction est athermique quand il y a: B : Baisse de température
.| An athermic reaction occurs when there Drop of temperature
Pl ' C : Augmentation de température
£t Rise in temperature
| Une solution est acide quand ellc contient - | A : HCI ¢ <OH
i An acid solution contains - @H o D: NO ;
A : Tout compos¢ capable de céder un
ou plusieurs protons.
Every componeng that cun release
Qu’est ce qu’un acide de BRONSTED ? one or more protons.
Whant’s a BRONSTED acid ? B: Un compose contcnant du HCL
A component containing HCI.
C: Un composé -3 réaction
exothermique.




An exothermic reactive component

Ecrire I'équation bilan du carbonate de
calcium avec I’acide chlorhydrique.

A: CaCO;+2H;0+ — CO,+ Ca® +
3H,0
B: CaCO; + 2H,0 — CO, + Ca**

To study the function f(x) = ax* + bx + ¢ ;

8. i .
Write the fnq[ equarrzon? of ca{czuzn C: CaCO, + 2H;0+ — CO; + 3H,0 +
carbonate reacting to hydrociloric acid. Ca? :
L o A: Substitution ' &
La polymérisation est une réaction de: 2t
9 B e - i ) B; Addition
olymerisation is a reaction of : - AsdEction.
Donner la formule semi développée du | A: CyoHg — OH ;
10. phénol B: C¢Hs — NH; - OH
Give the semi-developed formula of phenol | C: C¢Hs —OH T ,
A: Remplacer un atome d’hydrogéne
par un groupement methyl.
" Replacing an atom of hydrogen by
y . s y methyl.
En quoi consiste la réaction de FRIEDEL | _ 5 s
et GRAFF B: Remplacer un atome’ d’hydrogene
Y| 1n what the FRIEDEL and GRAFF consises | P2F U0 groupement méthyl.
. Replacing an atom of hydrogen by
of
alkyl. ,
C: Nitration + Sulfuration
Nitration + Sulfuration
Quel!e. est la: couleur des ions dichromate B Rouceliray
en milieu acide? - .
12 3 Lo B: Jaune foncé / Dark yellow
] Of what coulourare dicromat ions in an >
S C: Jaune orange / Yellowish
acid milieu ? ,
Donnez le nombre d’oxydation de Crdans | A: IX
+13. CrzO 7 : a BV
Give number of oxydation of Crin Cr;O0%5 | C: VI
]
MATHEMATIQUES
MATHEMATICS
Parmii les options suivantes, cochezla bonne réponse.i
Choose the right answer.
N® ENONCES SOLUTIONS PROPOSEES
Quand on connait une des racines de
I’équation ax* + bx + ¢ =.0, on utilise des
relations P=X"X"" ou S =X’ + X"’ pour
1 trouver la seconde racine. \ A- Vrail/Trie
’ When you know one of the root of an B: Faux/False
equation of type:ax’ + bx + ¢ = 0, you can
use the relation P=X'X"or S=X"+ X"’
to find the second root.
4 1 ] 74 :
Pour étudier le signe de f(x) = ax? + bx + At
2. ¢ ; on commence par calculer A = h* + 4ac i ;
B: Faux/False




St 4= /1‘ + dac

fir.
Gie une

inéquation -- quotient,

:ut-11 chaser de dénominatzur? 2
i 7o solve Y aen :’neyua:[[on wiyh a L ue s
o . g S .| B:Non/No
denominator, we siart by ignoring the |
denosminator.
4 A = (x + 1), Résoudre P’inéquation A <0 g g;? )
_ Solve the inequation A <0 C:S=14-13
Le domaine de définition de toute fonction
irrationnelle est fermé de I’ensemble des =
: réels pour lesquels les quantités sous A Nai Tree
5. radical sont positives ou nulles. BT/l
Dy of any irrationnal function is made up |
of the real numbers for which radical
values are either positive or null.
Si fest continue enx0 et g continue en N
i f(xQ) alors gf)f est contipuc en f(-xo). A Vaai e
t 6. If fis a continous function at point xp, and )
f . ’ B: Faux/False
| g continous al point f(xg) then go fis
E___ | continous at fxg).
f i Si f présente un extremum en Xo, et si fest
i o | dérvable en x0, alors £ (xo) # 0. A: Vrai/True
: If f show an extrem value at point x; and if: | B: Faux/False
: [ can derivate at point x0, then f"(xy) # 0.
; Combine de nombres de cing chiffres peut-
| on écrire avec les chiffres de la
numérotation décimale, en“acceptant que A: 100 000 nombres / numbers
: les nombres tells que 00100,00000 ont un B:C: e e
3. sens. o :
How many numbers of five digits can we C: 4,, nombres / numbers
write with the ten digits? We include D: 5'% nombres / numbers
numbers such as 001 000,00000 are
accepted. ¥
| Le nombrede permutatlons des n éléments
de F ou encore d¢ bijections d’un ensemble | A:nf
... | an éléments vers un ensemble equlpotent B: C"
9. |estégala: 3 =
: |*Permutation of n elements.in a gzven set I & n‘h-
or bijections between two equzbalent setsis | C1 Co
|equalto i
“.. A= C%. Calculer’ i \ e
o Calculate b
= i o3 C:84
342 =47, (1) = .
A=A (2) ; A:x=4;y=5 .
e Reésoudre dans I’ensemble des entiers B: & & % y —_4 :
C:x=10;y=8 i

naturels :
Solve in the set of natural numbers

al

/1



i' IDI}- :ALtantuncpartie{EzE. 1:=A . I
2. | déterminer 2:4 ) |
1.4 = E :Determine : . 3:=E |
|13 | (R?, +, *) est-il un espace vec: orxel reel 7 A-:_Non/No ‘
] Is it a vectorial ? B : Ouy/Yes
giy U _
14, x = (x=1)/(x-2) A : Non/No
- g est une application B : Oul/Yes
g is a function
, AU A . A étant une partie de E. I1:E
15. ‘Détermifer 25000
Ae E . Dertmine 3zA
PHYSIQUE |
PHYSICS
Parmi les options suivautes, cochez Ia bonne réponse.
Choose the right answer.
N° ENONCES SOLUTIONS PROPOSEES
Le moment d’une force ; son unité est : A:Kgm™
3 1. | In what unit is the moment of a force B:N.m
expressed ? eMy
L’incertitude absolue est Je repport de ) :
P’incertitude relative-au résultat de la a2 Vral
; i True
2. | mesure. B Fux
Absolute incertainty is given by relativez Falie
incertitude over the result obtained.
‘ ’ E A:7nR%*h
Le volume de la sphere est: -Ble B }; ]
< Volume of a spfere is given by : A xl
= (B étant I’aire de la base)
: (B is the surface of the base)
En mécanique un solide est un corps A: Veai/True
4. | déformable au cours du temps B- Faux/False
In mecanics a soli is deformed with time. ; :
Le vecteur vitesse conserve la méme
normc, mais il nc change pas de direction A Vrai/ True
5. | chaquc instant.
, : : : B: Faux/fualse
The speed vector conserves its norm but
rray noz (,/zan‘”_f.iz_n.,lurzlly
| La force est dite motrice si le déplacement
6. |s€ fait dans le méme sens de la force. Elle *A: Vrai/True
| " | est dite résistante dans le cas contraire. 3 Faux/False
3 In kinérics a force is sa id 1o be active if the

Nationaux sur www.worldprf.com a télécharger gratuitement
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nt jollows its direciion v

&6

s #
iani

hetr vespective direciions are

YESLS

opposed.

force ¢’ attraction est inversement
propertionnelle aux masse my et mg ¢t

i.a

i
e T R

proportionnelle au catré de la distance s i
7. | entre les deux masses.
- 4 ) B: Faux/False
The attractive force inversely proportional
to masses my-and mg proportional to ihe
squarre distance between the two masses.
La pression d’une masse donnée de
volume de gaz constant est proportionnrelle | A: Boyle Mariotte
8. | alatempérature de ce gaz. B: Guay-Lussac
Pressure of a given mass of a constant gas | C: Charles
is proportional 1o its temperature.
; Moment du couple de force magnétique A:M B sin0
- 9. (M) : B:CO. -
[ Moment of a magnetic force couple (M) C:ins B sin 0
Un liquide au repos exerce sur toute
surface avec laquelle 1l est en contact une
" : 'ﬁ force pressante paralléle a cette surface. A: Vrai/True
© | A static liquid exercises on the surface it’s | B: Faux/False
in contact with the magnetic field that
generated if. o
L’aimantation du barreau de fer ne dis
; parait pas avec le champ magnétique qui la :
11 CIeE. A:Vral/True
et B: Faux/False

| Magnetisation of an iron does not

disappear with the magnetic field that
generated it.

Deux forces F et F, ont méme point
d’application et méme direction : F) = 4N,
F,=6N. déterminer la somme de ces deux

forces dans le cas ou elles sont de sens

contraire.

Two force F; and F; have the same
application point and he same direction ;
F = 4N, F; = 6N. Determine the sum of
these force in case they are opposed.

A 10N
B:10N
C:2 N

| Deux forces F,.et F> de méme intensité
*,| sont appliqués au méme point Q. Elles sont
.| entre elles un angle de 120°. Déterminer la
-| somme de ces deux forces. On prendra F
. |=F=6N.

| Two forces Fyand F, of equal intensity are
“| upplied at point O. The angle between the

(wo measures 120°. Determine their sum.
We consider F; = F>= 6N.

14.

Quelle est le rdle principal du complexe
&rgilq-humiquc (CAH)

A:6N
B:10.3923 N
C:2,449 N
D:3N

A: Assuré le stockage des cations par
les engrais '

K

- 7N



| What is the role of clavish hyvdrated ] Stocks cations
i complex - : . - -+ | B Ennichi le sol

i ' ) Enrichies the soil 5o §
C : Détruit les acides : '
Destroys acids

Une tige AB, dec masse négligeable est
mobile autour d’un axe (A) perpendiculaire
en O au plan de la figure OA = 20cm AB =
50cm. On suppose qu’on a des masses
marquées a crochets, de valeur totale m = 9 ]

300g

Quelle mgsse doit—(ar(%spendre en our
maintenir 12 fige en“equilibre en position .
horizontale ? :300g
B:300g -
C: 120g

A stem AB, of negligeable mass rotates on
an axis (4) perpendicular at O as shown
on the figure O4 = 20cm AB = 50cm. we
have a total mass of m = 300g. i

O (1»)
What mass can e hang A soRas to
maintain  the stem  horizontally in
equilibrium? .
9
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L) -
YAr A:'f £ | Ire s
i sigles ¢i- apres::
H.G.P.O.Y {Page 1 sur 21P.P.T.E (1pt)
. V.LH. (0,5pt)
SID.A ‘ (0,5pt1)
PP.T.E. (1pt) _ o
PART A é‘iﬁz;r} 5)
= 1%/ Define the following acronyms:
G.OPHY (1 Mark)
S H1P.C. (1 Mark)
H.I1.V (0.5 Mark)
g AIDS - (0.5 Mark)*

- !
2. Choisissez la réponse :

Lgs nouvelles orientations de la politique sanitaire du Cameroun jusqu'en 2010 sont contenues

dans un document de référence, appelé :
Statut Particulier

Stratégie Sectorielle de Santé

Normes en Personnel

\

2 Choose the right answer:
The new health policy guidelines of Cameroon by the year 2010 are found in'a

- Reference document caIled
= Special Status

Health Sectors Stiategy
Personnel Standards

5 3 PARTIE B (15 pts)
: Si la santé est le bien le plus précieux, dites en quelques lignes (10) comment la

préserver et améliorer sa qualité.




3

LANGUE / LANGUAGE

A- Traduire en anglais les phrases suivantes

I- Tuas mal a la téte

2- Elle ne doit pas bien

3- 1l ne peut pas utiliser ses membres i &

= Le -malade ne dort pas bien

5= .11 @ le mal de cenr »

6- 11 est porteur de SIDA ' ol

7- Il est marié et pére de deux enfants___

B- Traduire en francais les phrases suivantes -

i- Your friend says "happy Easter” to you . I I T N

Z- You are going on trip and your husband SAys “take came® | SEERL

'3- You have never met doctor _ L
Your friend is leaving and you are sure that you will meet again before

the end of the day. What do yousaysn : i

prey

5- Shopping
6- Giving directions

2 4 -

7- You don't smoke
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BIOLOGIE / BIOLOGY

‘Question 1 Parmi les hormones, quelles sont celles qui font partie des hormenes -
sexuelles ? / Which of the following hormonres are sex hormones ? 8y w
e REL S e a- RH

b- LH b-LH

¢- LTH ou prolactine ¢- LTH or prolactine -

d- Estroetérone d- Oestrogene

e- Progestérone e- Progesterone :

g- HPL - g- HPL .

h- HCG h- HCG

Question 2: Le phénomeéne de I’osmose est caractérisé par :
a- Un transfert de solvant de Ia solution la plus concernée vers Ja solution la moins

concernée.
(b Un transfert de scluté de la solution ia moins concernée vers la solution la plus

=

concentrée
c- Un transfert de soluté de la solution la moins concentrée

d- Aucure de ces prcpositions n’est exacte

Q=estion 2: Osmosis le characterised by - ;
a- Transfer of the solute Jrom a more concentrated to a less concentrated solution

b- Transfer of the solute Jrom a more concentrated to q less concentrated solution
¢- Transfer of solute from a less concentrated to a more concentrated solution

d- None of the above.

» Question 3: Les humains organisent
a- L’eau représente environ les deux tiers du poids de ’organisme.
b- Le volume des liquides “extracellulaires est plus grand que lu volume des
liquides intracellulaires.
c- Les liquides Jnterstitiels appartiennent aun compartiment - des
intracellulaires . ’
d- Toutes les propositions sont exactes.
e- Aucune de ces propositions n'est exacte
Question 3:  About the human organism o= N
a- Water represents about Iwo-thirds of the weight of the organism.
b- The volume of extra cellular fluids is greater than that of intracellular fluids.
c- Interstitial fluids belong to the compariment of intracellular fluids.

d- All of the above.

e- None of the above.
Question 4 : Le produit de Ia reproduction entre le x individus d'especes différentes

est appelé / The product of reproduction b,\e_twee_'n two individuals of différent ‘.spécies

liquides

s called. '
a- Genre a- Gender
b- Hybride ou hétérozygote : b- hybrid
(69 Métis - - . ¢c- Metis
d- Sous-espéce s d-sub-species

Question 5: LLa principale différence entre ta mitose et la méiosc ¢kt :
a- L'unc diurne deux cellules filles diploldes alors que l'autre donne deux

cellules filles haploides



e comporte des tétrades el non ['autre. 7 )
ia metose les chiromosomes homologues s'associent {'un avec l'autre aiors

He Ceiz ne se preduil pas dans Ia mitose.
~IEiose se passe en quaire ¢tapes alors que a mitese so passe en huit .

2 The principal difference between mitosis and meicsis is

a- Line gives two diploid daughter cells.

&~ One has tetrads and not the other.

¢~ In meiosis, homologous chromosomes arc assoctated to each other but this does not
happen in mitosis.

d- Meiosis occurs in Jour stages while mitosis occurs in eight stages.

Question 6 : Au 14°™ Jour du cycle sexuel de la femme se produit généralement I'ovulation -
a- L'épaisseur de la paroi utérine est maximale, i
b- La création de FSH est maximale,
~ ©- Deux de ces propositions sont exactes,’
. @ Toutes ces propositions sont exactes. » .

> On the 14th day of a woman's cycle:
a- Ovulation generally occurs, :
T%e thickness of the uterine wall is maximum,
¢- The production of FSH is maximum,
- Two of these Propositions are correct,
7

2

e- Al those prepositions are correct.

stion 7: Les glandes suivantes sont des glandes mixtes / The following glands are mixed
5vih endecrine and exocrine): '

a- Capsules serrénales a- supra-renal capsules
b- Duodénum “ b- duodenum
c- Foie c- liver
d- Hypophyse . d- pituitary gland
e-- Pancréas €- pancreas
Question 8: L. ADN est constitué de /DUNA is made up of X
a-" Acide phosphorique ) a- phosphoric acid -
b+ Desoxyribose b- deo xyrihose
-c- Glycerol ¢- glycerol
-d-*Adenine d- adenine
e- Cytosine : e- cviosine

,'f- _Uracile f- uracil

Question9: Les constifuants saguins sujvants Interviennent dans la coagulation sanguine /
The following blood constituents pla a role in blood coagulation: '
Jollowing , play a role g7

a~ “globules rouges a- red blood cells

b= filbrinogénc b- fibrinogen

¢- ions calcium c- calcium ions

d- alburnin ' : d- albumine

e- plaquette e-.platelets : ;

~

uestiou 10: Concernant la vision R
Re?rjgljl\,/ﬂez tous 1es as‘mﬁ@?s avec corriges au concours et exartnens
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a- L’iris ne laisse pénétrer dans ’eau que les fayons paralléles a I’axe o-.
convergent sur la fovéa ;

b- Un il qui fixe un point situz a Pinfini peut.voir neltement un objet siti
Peeil- HE ' ~

Lo et sul

¢ +.50m de

¢- Un cceur de 'accommodation se produit une diminution de diametre de la puoille.
d- Au cours de I'accommodation la convexité antérieure du cristallin diminue. :
Question 10: Concerning vision
a- The iris allows only rays pafc_‘zl[el to the
to enter the eye. ' :
b- An eye looking at a point at infinity can clearly see an object situated 1,5m: jram the
eye. '
¢- During accommodation, the diameter of the pupil reduces.
: d- During accommodation the anterior convexity of the lens reduced.

i : . e s
optical axis and which converge o the jovea

¢ Question 11: Concernant le noyau :

a- Ilest entoure d'une membrane composée de deux membranes plasmiques.

b- Il présente une sphérule généralement centrale appelée centrosome. :

c- La structure line des chromosomes est bien visible en microscopie électronique.
d- Il contient des enclaves lipidiques sous forme de vacuoles.

Question 11: About the nucleus ;

a- It is surrounded by a membrane composed of two plasma membranes.
b- - It presents a small spherical body, generally it) its centre, called the centroscme.
¢- The fine structure of chromosomes is clearly
d- It contains lipid-filled vacuoles. e

visible under the electron microscope.

Question 12 : Dans un arc réflexe _ ,
, a- Leseuil d'excitation désigne I'ensemble des récepteurs stimulés par ]'éxcitant,
b- Le centre nerveux est situé dans la substance blénche'de Ia moelle, :
c- Le bcorps cellulaire du neurone moteur est situé dans le ganglion.
d- L'excitation peut étre transmise a plusieurs effecteurs.
Question 12: In a reflex arc

i . , : :
- a- The threshold of excitation refers to the set of receplors stimulated bv the exciting
stimulus. ’ Gl

b- The nervous centre is situated in the white matter of the spinaLcord.
c- The cell body of the motor neuronetis situated in the ganglion. ;
- The stimulus can be transmitted to manry effectors.

Question 13 : Qu'appelle-t-ou sommation
a- C'est la somme de plusieurs nombres,
b- Cc sont des changements héréditaires. ;
- ¢- C'est la modification non héréditairc résultant de ['action du milicu sur Pindividu. << -
d- C'est la modification héréditairc résultant de I'action du milicu sur lindividu.

Question 13 : What is summation?
a- It isthe sum of many numbers, ‘ : i
b- Ifrefers to hereditary changes:. v g

c- It is the non-hereditary modification resuliing from the action of the
environment on an individual '

t.
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b- L’une comporte des tétrades et non l'autre.

c- Dans la méiose [es chromosomes homologues s'assori
que cela ne se produit pas dans la mitose.

d- La .inéiose se passe en quatre étapes alors que la mitose se passe
élapres. ' '

Question 5: The principal difference berween mitosis and meiosis is
a- One gives two diploid daughter cells.
b- One has tetrads and not the other.

¢c- In meiosis, homologous chromosomes are associated to each other but this does not
happen in mitosis.

d- Meiosis occurs in four stages while mitosis occurs in eight stages.

en{ I'un avec i'autre alors

en huit h

Question 6 : Au 14°™ jour du cycle sexuel de la femme se
E a- L'épaisseur de la paroi utérine est maximale,
0- Lacréation de FSH est maximale,
c- Deux de ces propositions sont exactes,
Toutes ces propositions sont exactes. »

produit généralement I'ovulation -

: On the 14tb day of a woman's cycle:

a- Ovulation generally occurs,

b- The thickness of the uterine wall is maximum,
o The production of FSH is maximum,

d- Two of these prapositions are correct,

e- All those propositions are correct.

rr

- . Question 7: Les glandes suivantes sont des glandes mixtes / The following glands are mixed
g {both endocrine and exocrine): : :
g Capsules serrénales a- supra-renal capsules
(8 ..-b- Duodénum ' = b- duodenum
c- Foie c- liver
d- Hypophyse . d- pituitary gland

- € Pancréas e- pancreas

Question 8: L’ ADN est constitué de /DUNA is made up of
. a: phosphoric acid

a-" Acide phosphorique

b= Desoxyribose b- deo xyrihose
-c==Glycerol c- glycerol
: d- adenine
e- LCytosine e- cvtosine
£~ Uracile f- uracil

Quéstion™9: és constituants saguins sujvants interviennent dans la coagulation sanguine / .
The ]fb?[bning blood constituents play a role in blood coagulation:
é—;’;globules rouges . a- red blood cells
b- ‘filbrinogénc

b- fibrinogen
¢- ions calcium - ¢- calcium ions
= d- alburnin d- albumine
. e plaguette _ ] ~ e-platelets

Questivu 10: Concernant la vision

-Find all papérs and answers of evrey exams and Entrance Competitions
on www.worldprf.com to download for free .



<

a- L'iris ne laisse pénétrer dzns "eau que ics rayons paralléles 3 I’axe optique et suj . - -

convergent sur la foyéa ‘ s
b- Un ceil qui fixe un point situ¢ &,1’infini peut voir netlemeit un’ objet situé 4 1,50m-de &
Peeil. : = : WPoN SRR
¢- Un cceur de I’'accommodation se produit une, diminution dé diamatre de'la pupille )
d- Au cours de I’accommodation la convexité antérieure du costallin diminue. . =~ P
Question 10: Concerning vision ' ey 2t

a- The iris allows only rays parallel to the
to enter the eye. T i

b- An eye looking ar a point at infinity can clearly see an object situated 1,5m Jfram the
eye. ' ‘ '

¢- During accommodation, the diameter of the pupil reduces.
d- During accommodution the anterior convexity of the lens reduced.

optical uxis anid which converge on the Jovea

we

Question 11: Concemnant le noyau :

a- Il est entoure d'une membrane composée de deux membranes plasmiques.’
b- Il présente une sphérule. généralement centrale appelée centrosome.
¢- La structure line des chromosomes est bien visible en microscopie €lectronique. -

=

d- Il contient des enclaves lipidiques sous forme de vacuoles.
Question 11: About the nucleus '

a- It is surrounded by a membrane composed of two plasma membranes. -
b- - It presents a small spherical body, generally it) its centre, called the centrosome.
¢ The fine structure of chromosomes is clearly visible under

the electron microscope.
d- It contains lipid-filled vacuoles. : : '

Question 12 : Dans un arc réflexe s : iy ' -

, @ Leseuil d'excitation désigne I'ensemble des récepteurs stimulés par P'exeitant, . )

~ “b- Le centre nerveux est situé dans la substance blanche de la moelle, i
C-

Le corps cellulaire du neurone moteur est situé dans le ganglion. : e ¥
d- L'excitation peut étre transmise 4 plusieurs effecteurs.
Question 12: In a reflex arc PR , :
a- The threshold of excitation refers to the set of receptors stimulated bv the exciting
Stimulus. ‘ g :

b- The nervous centre is situated in the white matter of the spinal cord.
c- The cell body of the molor neurone is.situated. in the ganglion.

d- The stimulus can be transmitted to many effectors. .

Question 13 : Qu'appelle-t-ou sommation , ' g
a- C'est la somme de plusieurs nombres,
b- Cc sont des chungements héréditaires.
c- C'est la modification non héréditairc résulta
d- Cest la modification héréditairc rés
Question 13 : What is summation?

a- It.isthe sum of many numbers,
b- If refers to hereditary changes.

c- It is the non-hereditary mod
environment on an individual.

' -
1 3 :
) ]

nt de l'action du milicu sur Findividu, = -5 -
ultant de I'action du milicu sur I'individu.

ification resuliing from the action of the
3

g -
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s the_hereditary modification resulting from the actior of the environment
i anndividual

%
“feesiinn 14 : Fajre correspondre chaque espece en A avec les génomes en B
3 G- iju DEbE Agé de 2 uns - I-2n=78 ’
& Ur chien II- 2n = 38
c- Un chat HOI- 2n =23
d- Une panthére IV-2n=4¢
Question 14: Link every specie in A to the corresponding genome in B
A B
a- 2 years old baby 3 I-2n =78
b- a.dog II- 2n=3¢8
3 e-a cat II- 2n = 23
ci- a panther - IV- 2n =46
Qﬁi@sﬁon 15: Quel est-le nombre de gamétes produits par ur’ individu de F1. Sachant quele
sombre Je couple dalléles est n? What is the number of gametes preduced by ap
vidual of FI, knowing that the number of couples of alleles is n?
& 2n a-2n :
5- 3n : b-3n _
- n? ' c- n?
d- o’ d-n’
- : Parm les plantes suivantes trés appréciées au Cameroun pour leur valent nutritive,
X £alisent un bouturage naturel? / Among the Jollowing plants greatly appreciated in,
o won for their nutritive value, which of them have natural slickers?
%5 “ a- Lemanioc : a- Cassava
I " »b- L’igname “ b- Yams
. ¢- Lapomme de terre c- Irish potatoes
i d- Lacannea sucre . d- Sugar cane
‘ e- Le mais : e- Maize
‘f ! i~ Le plantain - Plantains
‘\ <uestisni 17: Dans lequel “des Cas suivants placez-vous la- formation de vrais Jjumeaux aprés”
" fZcondation? In which or the following cases can You place the formation of identical twins offer
Jfertilisation?
a'—'_A Repreduction sexugée a- Sexual reproduction
b-" Parthénogenése b- Parthegenesis
c- Parthénocaxpiqu_e ¢- Parthenocarpy
s d-* Multiplication végétative d- Vegetative multiplication
Qe?é§ﬁggz5;_8 : Laquelle dey pr'o"j')ositicms suivantcs est-elle exacle?
a-=:-Tous les virus sont a AND, e
: b> " Tous les virus sont 4 ARK.
g ¢-+:Tous les virus sont soit 3 ADN. soita ARN.
d- Tous les virus sont 4 ARN eta ADN.
. Duestion 18: Which of (he following Propositions is correct? i
a- Al viruses ars DNA viruses. : R
b~ Allviruses are RN A viruses. -
: c- Al viruses gre either DNA or RNA viruses. ¢
. ) d-  All viruses are DNA and RNA viruses. £
il
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¢- Un cceur de I’'accommodation se produit une, diminution dé diamatre de'la pupille )
d- Au cours de I’accommodation la convexité antérieure du costallin diminue. . =~ P
Question 10: Concerning vision ' ey 2t

a- The iris allows only rays parallel to the
to enter the eye. T i

b- An eye looking ar a point at infinity can clearly see an object situated 1,5m Jfram the
eye. ' ‘ '

¢- During accommodation, the diameter of the pupil reduces.
d- During accommodution the anterior convexity of the lens reduced.

optical uxis anid which converge on the Jovea
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Question 11: Concemnant le noyau :

a- Il est entoure d'une membrane composée de deux membranes plasmiques.’
b- Il présente une sphérule. généralement centrale appelée centrosome.
¢- La structure line des chromosomes est bien visible en microscopie €lectronique. -

=

d- Il contient des enclaves lipidiques sous forme de vacuoles.
Question 11: About the nucleus '

a- It is surrounded by a membrane composed of two plasma membranes. -
b- - It presents a small spherical body, generally it) its centre, called the centrosome.
¢ The fine structure of chromosomes is clearly visible under

the electron microscope.
d- It contains lipid-filled vacuoles. : : '

Question 12 : Dans un arc réflexe s : iy ' -

, @ Leseuil d'excitation désigne I'ensemble des récepteurs stimulés par P'exeitant, . )

~ “b- Le centre nerveux est situé dans la substance blanche de la moelle, i
C-

Le corps cellulaire du neurone moteur est situé dans le ganglion. : e ¥
d- L'excitation peut étre transmise 4 plusieurs effecteurs.
Question 12: In a reflex arc PR , :
a- The threshold of excitation refers to the set of receptors stimulated bv the exciting
Stimulus. ‘ g :

b- The nervous centre is situated in the white matter of the spinal cord.
c- The cell body of the molor neurone is.situated. in the ganglion.

d- The stimulus can be transmitted to many effectors. .

Question 13 : Qu'appelle-t-ou sommation , ' g
a- C'est la somme de plusieurs nombres,
b- Cc sont des chungements héréditaires.
c- C'est la modification non héréditairc résulta
d- Cest la modification héréditairc rés
Question 13 : What is summation?

a- It.isthe sum of many numbers,
b- If refers to hereditary changes.

c- It is the non-hereditary mod
environment on an individual.
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b- L’une comporte des tétrades et non 'autr

c- Dans la méiose [es chromosomes homolo
que cela ne se produit pas dans la mitose. _

d- La .inéiose se passe en quatre étapes alors que Ia mitose se passe en huijt
élapes. ' '

Question 5: The principal difference berween mitosis and meiosis is

a- One gives two diploid daughter cells.

b- One has tetrads and not the other.

¢c- In meiosis, homologous chromosomes arc associated to each other but this does not
happen in mitosis.

d- Meiosis occurs in four stages while mitosis occurs in eight stages.

¢

ues sassocicnl l'un avec i'autre alors

.o

Question 6 : Au 14ém°jour du cycle sexuel de Ia femme se produit généralement I'ovulation -
a- L'épaisseur de la paroi utérine est maximale, )
0- Lacréation de FSH est maximale,
¢~ Deux de ces propositions sont exactes,
_ d- Toutes ces propositions sont exactes. »

“Qaestion’6: On the [4th day of a woman's cycle:
a- Ovulation generally occurs,
b- The thickness of the uterine wall is maximum,
o The production of FSH is maximum,
d- Two of these prapositions are correct,
e- All those propositions are correct.

rr

~ Question 7: Les glandes suivantes sont des glandes mixtes / The following glands are mixed
{both endocrine and exocrine): '

a- Capsules serrénales a- supra-renal capsules
..-b- Duodénum ’ = b- duodenum
c- Foie c- liver
d- Hypophyse . d- pituitary gland
- € Pancréas : e- pancreas
Question 8: L’ ADN est constitué de /DUNA is made up of .
:a-" Acide phosphorigue . a; phosphoric acid
“b=- Desoxyribose i b- deo xyrihose
-c==Glycerol c- glycerol
~d=*Adenine d- adenine
e- LCytosine ’ e- cvtosine

f  Uracile . f- uracil

Question™9: Les constituants saguins sujvants interviennent dans la coagulation sanguine / .
The foHlowing blood constituents play a role in blood coagulation:

:globules rouges . a- red blood cells
- filbrinogénc b- fibrinogen
¢- ions calcium e - ¢- calcium ions
d-  alburnin ' - d- albumine
e plaguette _ ] ~ e-platelets

-

Questivu 10: Concernant la vision

Pl
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- Question 22- 4n individual with g dominant genon

Question 19 : 4 fécondation est -
a-  L'union-do deux cellules somatiques.
b- La fusion de deux cellules diploides dont I'y
¢- L'union de deux gameétes males et fernelle.
d-  Une séparation des chromatides lors de Jam
Question 19- Fertilization jis-

a- The fusion of two somatic cells,

- Un gargon homophile
- Un gargon bien portant
- Une fille bien portante -

»

marry healthy person vy 0 are not carriers of the gene. Among t

haemophiliac boy. how will be the children?
a- tous les entants sont atteints.
b- toutes les filles seront vertrices
C- toutes les filles seront malades.
d- tous les gargons seront conducteurs.

ne est male et 'autre femelle.

itose

a-haemophiliac boy
a healthy boy
a healthy girl

a- all the children-are affected.

b- all the girls are vectors.

c- all the girls will be sick.

d- all the girls will he conductors.

a- siindividu testé est homozygote. gote on obtient en F1 100% de (G)

b- si I'individu testé est homozygote. on obtient
c- si I'individu tegté cst hélérozygote, on obtient
d- si I'individu lesté est hétérozygote, on obtient

en F1:100% de (o :
en F150% de (g) et 50% de (G)
en FI 75% de (G) et 25% de (o)

e (G) can be homo or heterozygote. In

order to determine, \ye do u lest-rross yyir @ parent recessive for "G
a- Ifthe individual s tested bomozygote, we obtain 100"/ of "G"inFj] °
b~ If the individual tested is homozygote, we obtain 100% of "g” in FI :
e If the individual tesred Is homozy:.gote, we obtain 50% of "G" and 50% of "g" in FI
c- If the individua] tested is heterozygore, e obtain 75%) of "G” and 25% of "g" in FI

’

v
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Réponare

par vrai ou faux/ Answer by true or false 7
e Waestion 23 Chez les animauy (métazoaires).,cg A S Ly« 'w#/
in animals ( metazoan), there 1s sussiparity.
S e e :
Vil l Faux D )
fiwe 7 False
Question 24: En principe il existe autant d’anticorps que d’antigéneA
54) In effect, there exist as many antibodies as antigens
} Question 25 : Les bactéries possédent des noyaux
Bacteria have nucle;
Viai [ Faux l ’
- True — False
Question 26 : Si on pique un certain point de la moelle épiniére il y a hyperglycémie on parle
de « pighire diabétique » ,
Lerestion 26 If a certain point of the hvperglycaemia, we talk of "diabetic injection”.
L o
True ' False
Question 27 : Le bulbe rachidien est aussi un centre réflexe comme la moelle épiniére.
2T ihe modula oblongata is also a reflex center just like the spinal cord.

. - Vra D Faux D
< True . :

False

Question 28 : Toutes les radia
All light tays are visible by th
Vrai

'".ifrue E False o 1:’

tions lumineuses sont visibles par I'ceil. ok
€ eye. '

Quesﬁ'qu’ 29 Ees noyaux de la libre musculaire se divisent.
" The nuclei of muscle fibrés are divisible.

Vrai Faux

False

* " The sex hormonés of a pig can have the same effects on a woman.

| S TR

False

EY

| - | ’ ' “ igés . mens
- Retrouvez tous les sujets avec corriges au co_ncoutt?J i?é ;)é?] t
Nationaux sur www.worldprf.com a télécharger gra 4
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MATHEMATIQUES / MATHEMATICS | 20

Questien 1: La sujte U,eN est définie par so
relation de récurrence o
V,=4U on 15.

I-1 Vnest :

by

. premier terme U

0. = I €ipar la
=1/3U, +n~1pour tout

€MN. On pose pour unit entjer n.

a) Une suite géométri
b) Une suite géométri
¢) Une suite arithmét

que de raison q - 1/3 et de premier terme V, = 19
que de raison r =

2 et de premier ternie Vo=35
ique de raison r =4 et de premier terme Vo=19

Question 1: The ser [J where n

i €N is defined by its first term Uo = 1 and the
equalion

Ui = 183U, + n- ! for all ne N. Given that for all n, Vo =4U, - 6n + V(5

I-1V, is:

a)A geometric progression with raison q
b)An arithmetic progression with reason
CYAn arithmetic Progression with raison

=1/3 and (list term Vo=19
7 -2 and first term Vo=35

r =1 and first term Vo=19
[-2 L expression de V, est:

The expression SorV, is:
a-Vy= 19(1/3)"

a- Vo, =19 (1/3)"
b-V, =5-2n b=V, =5.2y
e Vo = L9(1/3)> + 5 + 21 €- Vo =19(1/3)" + 5 + 29
1-3 L'expression de U, est - The egression for U, is: - 2 :
. n+l n+l ) a
d)«Unzg(l) L 6n-1s 5 U,,:Lg(i) L0118 g
43 4 4.3 4
3 — '(.;' —
et =5, 203 = B =5
- 4 4
— i —
D U, =1 |y 203 ' ®Q=1%+h3
3 4 o 3 4

1-4 La Mine U s'écrit sous la forme U = ¢ 3w w ou t est une suite

une suite arithmétique, Le couple (t,, w,) vérifiant Ia relation u
progression U is written qs [/ = £t

W where t is a 8eometrie progression and w an
arithmetic progression. T he couple (1

ns Wn) verifying the equation U= ( — y js-
4 19( 1) L, _bn—15

: 1901 6n-15
el a-l, =—f— 2 11/":
4 4 | " 43 AN

.
b- ¢ =(~3)(§_) s a8 2n4—3 h-7 :(—3)(51-) , W o= 2n4—3

1y Gii+15 | ; 1)" - enls
C Gel=d . = Eg o =
o : 4

“

géométrique et w

= Uw est / The

- a-

e

1
4 |

'R | | I " | . 4 " | X
r I = Vf by 4 ré "

74




.Sn :ZH:U*’
R kO

Given T, = Z:k, W, = ZWL, S, = ZUk,
Le calcul de T, dorme/T is calculated as:

- 7?=§§[”(§)"1f | a_y;zég{l_(i};l

b_ Yzlzl_z_n_l b_ ":.l_z_n.__l_
5 3 e ' 5 3

/ n+l n+l
s =
5 3) | s 3
1-6 Le calcul de W, donne / W, is calculated as:
- Pt z_(l] . am-Zlg (l)
5 (@ 5 D

(n+1)(3n-15) (n+1)(3n—15)

niiWk,

k=0 k=0

I SsoieE =, W

bW

b W, = u
4 _ 4
o W="‘3 c-m=";5+7

1 7 Lc calcul de S, donne

> s (J " (n— 1)(3n-15)
n 8 i v 3 | =
52 r n o -
b s, Sa_pylaahz
) s 3

l 7 Sa1s calculated as :

a- § =§1~1 (3) ]+(n 1)(3n 5]

o 8

'b- S’n.:—%i 2-— —1- +1_2_n._1
ST R T T T

o - [' L
e 5= 1—(-’-) +”43+7 N

Questlon Zosot P polynome défini sur R par P(x) =2x*+ 3x*- 11x — 6/ Given P a

polynomial equation defined in R as P(x) = =2x"+3x?-11x—6.

3

ate e (1) (_1\ 3
——“‘—ﬂ:l;e‘b&le{-ﬂ—d%[— donne /4 IYEQ S e e e
. %2 (2 !
3 a- 2 o X i .‘3_21
R L - e S s b-0 . e

~



o = e
e S =ﬂ|-1—(—1-) J+"_3+7

o 0 =
= 5 W o= ;V,‘, S-=) U,
i=0 %=0 x=0
. & n
vioh 1= 4_.; 1. ZH S, =), U, :
k=0 <=0

ieralcuide T, donne /T, is calculdted as:

TEHT et

B e et
53 53

1-6 Le calcul de W, donne / W, is calculated as:

- w2l | wn 23]

. (n+1)(3n—15) b W (n+l}(3n—15)

N 4 - 4
;‘;/,=H_3+7 4 c- W,=n“j+7
A 4

i~ 7 Le calcul de S, donne
57[ (1} J_{_(n—])(jn-—]S)

Y M

: SF . -
b" S ':2 7 1]}-}-—"—1

¥4 L 5
7r n+l i
c- S,,=i I- l +—§+7
8 3

7 8, is calculated as :

N S”:_ﬂ(l (J ] (n—x)(3n—15)
8| \a) |
25/. 1”J 121
o 52 (21
4 2 5 3

4

3
Qne.stion 2 : Soit P polynéme défini sur R par P(x) = 2x* + 3x2- 11x — 6/ Given P a
polynomial equation defined in R as P(x) =2x"+3x*-11x-6. =~ = .

2-1 Le calcul de P( ;)donne / P( 21)gives

a- 2 . 3 .a-2
b- 0 b-0

”

e
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..o usion de Vyen fonction de n est / The expression of V, with respect ton is :
it :”!'.'f A= ] -+ 2’L
23Y b- (2/3)"
f : e (23]
d- Awuzune réponse d- None of the above.

“Question 3: Soit un polynéme P(x) dans R* défini par:

i 17
Plx)= x* + 511 -—x’ +£x 2
]y 1705 19
Crnen the polynomial equation in R :Pkx)=x*+=x ——3—x +-—x—2
3 3
S-I La valeur de P(2/3) est: / The value of (2/3) is:
24 24
a- -— a- —
81 81
b 2 BB latien.s
_ 21 _ 81
c- O : c-0
#- Ansune réponse n’est juste. " d- None of the above
a valeur P(1) / Determine the value of P(1):
a-4/3
= = b-0
- 14/3 c-14/3
d- Aucune réponse n’est juste. d- None of the above.

. Question §:-Soit la fonction fa de R,dans R définie par f,(X) =™ +ax,aveca> 1/
.Given the function of R in R defined by : fo(X) =™ + ax, aveca > I.

6-1 Déterminer la limitée de £, en -0 : / Determine of f2 at —co.

a) - j a) -co
b) o b) +oo
- ¢) Indéterminée ¢) Undetermined .
- d) Autres d- None of the above. =

6-2 Déterminer la limite de £, en -co : / Determine of f, at -oo.
a) +owo - b) -0 c) Indéterminée / Undetermined
d) Aucune réponse n’est juste / None of the above. ‘

~ 6-3 Expression de la dérivé de f, en tout point x / The determination of j,', at any point x is :

: ,_._‘;!) a(l+£ ‘“) b) a(l e"“) c) a+e™ d) Aucune réponsc n’est juste / None of

the above

-
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CHIMIE | CHEMISTRY /20

Question 1: Pour comparer les forces dz deux acides, il faut:
a- comparer leur pH.
b- comparer leurs constantes d’ acpdxte
¢- comparer les concentrations respectives des deux acides.
d- aucune réponse n'est juste.
Question 1 To compare the strengths of two acids, we have to:
a- compare their pH values.
b- compare their acidity constants.
c- compare their respective concentrations.

d- none of the above.
Question 2: Dans le dosage d'un acide par une base, le point d'équivalence est attemt quand :

a- mélange les mémes volumes d’acide et de base.

b- Le pH du mélange est 7.
¢- Tous les protons H™ de I'acide ont été captés par la base

d-  Aucune réponse n'est juste.
Question 2 In the titration of an acid with a base, equilibrium rsattamed when:

a- we have tnixed equal volumes of the acid and base,
b- the pH o the mixture is 7.
c- all the protons of the acid have been captured by the base.

d- none of the above.
Question 3 - On considére une solution dans laquelle le constituant X réagit avec un

constituant Y de la méme solution. On note [X] et [ Y ]les concentrations des réactifs. La
réaction s'écrit X+Y—Z: / Given a solution whére a component X reacts' with a
component Y: [X] and [¥] are the concentrations of the reactants Thé equation is |

written as X+Y—Z.
Onappelle la vitesse de réaction I expeession / The speed of the reaction is written as:

2= U= d[X] - a- U_a[X]
ar \ , dr
el | oy 4(x]+[r])
dt dt

e- aucune réponse n'est juste d- none of the above.

Question 4: L'aspirine au laboratoire est obtenue par:
a- Action de I'anhydride acétique sut I'acide salicylique.
b- Action de I'anhydride acétique sur 1’ éthanol.
c- Action de I'anhydride acétique sur l'acide. acethue
d- Aucune réponse n’est juste. \
Question 4: Aspirin is obtained in the lahnratorv by:
a- I he:action of acetic anhydride on salicylic acid.
b- I'he action of acetic acid or ethanol.
¢c- The action of acctic anhydride on acetic acid.

d- None of the above.

‘Retrouvez tous les sujets-avec corrlges au concours et examens
Nationaux sur www.worldprf.com a télécharger gratuitement _;



Guestan H Laongand l:r“*{\»tbemp( wr Thydogéne est:/ The hvdrog's consint for hydregen &:
fi= ielieie o a- R_H e
i - . h
= E’ - E
G- ;"Z‘; S=l ; b— Rh' =
Y h hC
h h
(&= RH = Cc- RH = C
d K d- R,

Ouh&tla conctante de Planck. C [a célérité de 1a hamiére, E =13. 6eV /' Where hstlan‘(’soorstant,CBﬂ)espeed
ofhghtandEo 13,6eV.

Question 12: Combien disoméres y a-til dans Je composé de fonmﬂebmte Cet14? / How many isomers has a
compound with empirical formmula CgH,4 ?

a- 3 a-3

D= S b-5. *

c- 4 c-4 i
d- 5 d- 6

OQussion 130 Le nombre dions sodum dans une solution de carbonate de sodium contenant
e est: / The number of sodium atoms in: i sodium carbonate solution

bonzielons B

£ & 107 a I
B Sx10" : b-5x10”
& 2x107 e-2x107 -
. d- Aucune réponse nlest juste. d- None of the above.

Question 14 : Parmi les actions citées ci-apres, laquelle est une réaction chimique?
B a- Attirerle feravec unaimant. N
b- findreun cbjet en ler pour Terrpécher de rouiller. - :
¢~ Mélanger le copeau de cuivre avec le sable.
&  Farre des étincelles en aiguisant un couteau avec ime meule. -
i Juaesidn mrﬂ.lﬁ.\’Vh_'-:izofifnefo]!ov,vmgxsa(:hermcalrmcl}on‘7 &
% Puliing iron with a magnet. .
b- ‘Painting an iron object to prevent it from rusting.
¢- . "Mixing copper particles with sand.
d- 'Creating sparks by sharpening a knife with fur.

Quesz‘ion 15: On peut observer les atomes dun métal 4 Iaide: /Ammsofanmlcanbeobscm’d thmugh

~Uneloupe a-akens
b~ _ Une hmette astronomique + b-an astronomic bmocular
U,nemlcrosoope : - C- 2 microscope
d— - Aucume réponse nlest juste. d-None of the above. -
Quesbmﬂ( Olltﬂ){mnltukmmmvmwmqmm]omnetre :
——sohtionstandard : 254 - ——
- soltionadoser:18 ° =

La concentrationde la solution ést 200mg/100ml ILa concentration de la sohution a doser est:
Retrouvez tous.les sujets.avec comges au concours et examer)s
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-~ carbonand 9,8% hydrogen, Given C=12,0=16, H=1, the cmpirical foauila of the rnonoacid is:

Question  5: Parmi les "atomes suivants: magnésium, potasstum, aluminium,
I'atome qui a 2 électrons.sur la derni¢re couche est : Among the following-
atoms the one which has two electrons on the last shell is:

a- sodium

b- magnesium

c- potassium

d- L'aluminium

a- Le sodium

b- Le magnésium
c- Le potassium
d- L'aluminium

Question 6 : Considérant que la conduction électrique clans le curvre provient, de la libération d’un électron pour
chaque atome de cuivre selon une réaction bilan Cu — Curt+ e- on dorme Mct = 63 5g molet N = 6.02.1023. Le
nombre délectrons pouvant exister dans chaque gramme de cuivre est: / Given that the electric conduction in
copper originates from the liberation of an electron In each atom of copper according to the reaction Cu —

Curt+ e- the number of elections present in each gram of copper is: (Mct=635g/mol, N=6.0210°
a- 0.948 x 10 électrons a- 0.948 x 10 electrons

b- 9.48 x 102! €lectrons b- 9.48 x.l'Oz’,,glectrons
c- 9.480 électrons - c- 9.480 electrons

d- aucurne réponse n'est juste. d- Nomue of,thej_:,:_é‘bove,

Question 7: Les atomes dont les noyaix ont méme nombre de protons e méme némbrede_nctmom
sont appeles/ Atoms, the nucled of which have the same number of protons and neutrons are called:

-

a- Isotopes 2 sotopes
b Nucléides - b-nucldes
¢ Albotropes | . callotropes
d- Isomeres d-isomers -

" Question8:Dans chaque atonie:

a Lamassedum)auestto@omshfexiemeélasormnedesrmssesdesnucléomquiIeconSﬁment
b- Laniasse dun noyau est toujours supésieue 2 la somme des masses des micléons qui le constituent.
¢ Lamasse dunnoyau est toujours égale a Ja somme des masses des nucléons qui le constitirent.

d- Dyaplusde charges p(;)sitives de protons que de chargeségatives des électrons. .

Question 9: In each atom: _
a- The mass of anuclens is always lower than the sum of the masses of the nudeons it contams.

b—-_Tnemassofanuda]sisahvaysgraaterthantheaundftheﬁzassesoﬁhénudednsiscmtaihs. :
¢- : Themass of nucleus is always equal to the surn of the musses of the nucleons it contains. -
d-.- There are mote positive charges of protons than negative charges of electrons.

Question 9 : Lhydratation d'un alcyne condiiit a un composé oxygéné A renfermant 21.6%, éen masse doxygene. La

fonction chimique de A est : The hydration of an si IKy ne gives a compound containing oxygon'A, with an
oxygen mass of 21,6%. The chemical fimction of A is: :

a functionalcool -a-an aloohol function

b- fonctionaldéhyde -, - b-an aldehyde function

¢ “fonction acide 'c-an add function

d- - fonction céone : d- acetone fimction =

Question-10 : Un monoacide carboxylique-a chaine, 'saturée contiersi 58,8% de carbone et9.8% d’hydrogéne. On

domme C=12.0— 16 H —~ 1. La formule brute de ce monoide est-/ A monocarboxylic acid contains 58.8%

g,

d- CsHyp.

a- CyyHs0; a- C;pH50;
y h- sH50 i b—CsHtO
% c- CsH;0O, - 7 C- CSHIDQZ ;
d- CsHjy nie .



. .
d. T=27,r,-1— =gl

Ver e Ve
Question 4:**** _ :
a. Ec=Y.mC2 a- Fc = Y.m.C?
b. Ec=m(C? b- Ec = mC?
. = L 2 ' ~Fc= — mc?
oSN EC ﬁmc c- Ec N
d. Ec=(Y-1)me d- Ec = (Y - 1) mc?

Question 5: La relation fondamentale de Ia dynamique relative est / The fundamental

equation of relativistic dynamic is -

ok |  Fo
At dt
(o “'VZ = - e __VZ
b= l - @ _ b= fl - d_P
C dt C° dr

o Vzd e 2 =
& F= 1= & Pl 5D
C? ar . C? dr

d. Ne peut étre formulé en mécanique relative
d- Cannot be formulated in relativistic mechanics

Question 6: Selon Louis de Broglie ; on peut aussi citer 4 une particule en mouvemnt de
masse m et de quantité de mouvement P. une onde d’accompagnement de longueur d’ende.

According to Louis De Broglie, a particle in motion with mass m and momentum P has a
wavelength of : .

d. l - —}I- a- /-_ == ﬁ
P p
o - p
€ A=hxp g c- A=hxp
d. Aucune réponse d- None of the above

Question 7:Un ceil hypermétrope est 1’état d’un ceil / A hypermetropiz is on that is :

- a. Trop convergent : : a- Too convergent
b. Trop divergent b- Too divergent
c. Peuconvergent .c- Slightly divergent
d. Aucune réponse n’est juste d- None of the above

Question 8: Le laser est une radiation lumineuse / Laser is a li ght bean with

a. A plusieurs couleurs - .+ & “Many colours
b. A une seule couleur - .- " +b-Juste-one colour

c. A deux couleurs ' ‘ c- Txo colours

Question 9: La période d’un satellite de masse m et animé d’une vitesse v situé a une altitude

d par rapport au centrc de la terre est : / The period of a satellite of mass m, and velocity a
situatd at a height of d which respect to the centre of the earth is : :

ap

Retrouvez tous les sujets.avec corrigés au concours et examens ~
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REPONDRE PAR YRAJ OU FAUX / ANSWER TRUE OR FALSE
Question 17 : Une réaction qui se fait sans dégagement ni absorption de la chaleur a une
vitesse indépendance de la température.
A reaction that neours without loss or gain of heal has a reaction rate which is independent of
Vrai [ Faux [ ]
True False .
Question 18 : Uin choc efficace est un choc au cours duquel une raclécule regoit une éneigie

au moins égale a I’ energle d’aciivation.
An effective collision is one in whit a molecule reactive energy which is at least equal to the

femperature.

activations enel by :
Faux [}

Vrai [ ]

True False

31 19 : La déshydratation d’un acide carboxylique est 1’élimination d’une molécule

i
enire deux molécules d’acide.
tion of a carboxyl acid is the alimentation of water between two acid molecules. -

Vrai [ ] Bawe <[] -

True False

»

{yesSt:

z

Vrai [ ] Faux [ |

‘True False

-

PHYSIQUES [ PHYSICS/20

Question 1 : Un ceil dont Ie PP est a 25cm environ est
a. Hypermétrope b. Normal c. Presbyte . d. Myope

Quesfion 1 : An eye whose PP is at 25cm approxxmately ISkae
a. Hyper metropic b. Normal --. c:‘Presbypic d. Myopxe

Questwu 2 : Le microscope est un systéme optique donnant d’un objet une image défi nitive
-a. Une image b. une petite image c. une petite inversée
d. aucune réponse n’est juste. '

: ZA real image b. a small image ~C. an mverted 1mage

~.d. none of the above
Questxon 3: La formule de I’homson pour un circuit oseillant est: T homson’s formula for an

osez?latmo circuit is:

a T= 27r’1‘ ' a-T=27z'\/z-f-'., i e ) : '
C 7 N

b. T= 277\/———- 5—T=27z'\/é112— b

G —"P~—- 2ﬂ'17l - S SO R e T-—_'- 271-@ e e e e Ko ESORE % e



s i S
& R yeg,
T (ol 27 2
g T S
‘."go e \/go ce
g T - c.T= 27
&,

g .

d. Aucune réponse n’est juste d. None of the above

0 : Pour augmenter la vitesse d’un faisceau d’électron, il faut soumettre ce faisceau
rease {he speed of a beam of electron ir should be passed through. '
A un champ magnétique constant a. A constant magntic held
A un champ électnique 'b. An electric fleld

a
b.

¢. A ’ensemble des deux c. Both

d. Aucune réponse n’est juste d. None of the above:

=

7 gy PO S S {0 N
S esoe 1 -

su 12 : Un rendement plan est pur. Faire ou déduire la distance des armatures. Son
t: 4 jlat capacity is charged, then isolated : the distance of armature is doubled it’s

.,

encrgy Is:

a. Divisée par deux -

b Muliiplié par deux :
£5 Mmfmhe par quatre

@, e varie pas

Question 14 : L’intensité du champ magnehque créé par un fil rectiligne mdeﬁm en unpoint
3M situé a la distance d du fil est donnée par /The intensity of a magnetic field evented by a
straight infinite wire at a point M situated at a distance d from the wire is iven by :

2 B=2ax10‘_1— ; a.B=2a><10l
d d

b. B= 2710 L B — Rl

i 10xd - : 162d _ ;

o Begenigel. - - B i '
7 I

d. Bzznx.lo'ﬁ; d.B=2;leO’%

aestion 14 : Un gar¢on a bicyclette se déplace a 20m/s. quelle est la vitesse angulaire de la
valve: dL, preu si ce dernier a un rayon de 0.34m %/ A boy is riding a bicycle at a speed of

ZC’m/:. what is the angular.velocity of the tyre if it has a radrus of 0.34m?

a.. 59rad/s _ a. 59 rad/s

b. 6,8rad/s : b. 6.8rad/s

c. 0,59rad/s - , c. 0.59rad/s
- d. 1,7rad/s i d. 1.7rad

Question 15 : La période T d’oscillation d’un pendule de maison est :

)=

a. Indépendanfe de I’amplitude og ; .



b. Proportionnelle a aq

c. Proportionnelie a o’y
s 2
d. EgaleaTo=1 }(%Q—J est la période d’oscillation 2 faible amplitude

Question 15 : The period T of oscillation of a pendulum is
a. Independent of the amplitude a,

b. Proportional to a,

c. Proportional to a’y
- . S
d. EqualtoT,=1 I(f—g) where T0 is the period of oscillation at law amplitude.
Questi’on 16 : On veut réaliser un circuit oscillant dont la fréquence d’oscillation est N =
1000Hz. On dispose d’une capacité C = 1puF 1 2 associer 2 C a pour valeur : / ‘To create an
oscillating circuit whose frequency is N = 1000Hz, we have a capacitor of C = 1pF. The

inductance 1, associate to C has a value of:
a. L=39,18 Henrys a. L =39.18 Henrys
'b. L=10°%Henrys b. L = 10% Henrys
= c. L=0,025 Henrys c. L =0.025 Henrys
d. L=2314 Henrys ; : " d.L=314Henrys

e. Aucune répionse n’est juste e- None of'the above :
-Question 17 : L’équation différentielle représentant le dipdle RLC série est / The differential

eqiation representing the dipole RLC in series is -

i . _ B di .
& W= R =L+ pid a.p—RI—L&—t-.pJ’Idt
di 2 di %
b p=R—l+Li+id—j b.p=R—’+Li+id—2‘
: dt Cd dr Cdt
v 1 di 1
c. =L—+Ri+— |idr cC.u=L—+ Ri+— |idt
S - g ek
: ) v 7S
4 i dp=r28 g 81 gy

g Ldt i dr? *-.Cl dt dr? , b
Question 18 : On veut réduire les pertes d’énergie dans la ligne d’alimentation’; les moyens a
employer sont : :

a. Baisser la tension d’alimentation : -

b. Elever le facteur de puissance cosg

c. Diminuer le facteur de puissance cosg

d. Aucune réponse n’est juste

Question 18 : On To reduce energy losses in an input system the meany taken are :
a. Reduce the input voltage " '
b. Increase the power factor cosrp
c. Reduce the power factor cosg X
d. None of the above &

Question 19 : On excite par un vibreur de fréquence N (ou période 1) une corde de longueur
infinie. L’élongation a ’origine O de la corde est donnée par ’équation : / A string of infinite
length is excited by a vibrator of frequency N (or period T). the ciangation at the origin O of -

— —the string is given by the equation: ... ot SSERIIE

Retrouvez tous les sujets avec corriges au concours et examens.,.
Nationaux sur www.worldprf.com a telecharger gratuitement




’ ( i . 3\ /s
¢ a. 7= 7cos27r[ == —t ! a. Y =7cos 27’(—1——--—)':—1
L& ) T 7
b. Y =7,co82aNT | b.Y = 7,cos2zNT . _
c. Y= 7cos?_erT(t—£\ ' c.Y= 7cos27:NT[i‘—£
Y y
d. Aucune réponse n’est juste d. None of the above

Question 20 : Un faisceau d’électrons d’un tube cathodlque est accéléré par une ddp de 8600v
et traverse un champ magnétique de B = 6. 10T normal 4 sa trajectoire. Le champ a une -
longpeur de 10c/m. on donpe e=1d10"'¢C melecmn 9.1.109kg le rayon de I’axe décrit par .
les €lectrons est : ‘ ; T
A beam of electrons front a cathode ray tube is accelerated across a magnetic field B =
6.10-4T by a potential of 8600v. The magnetic field which is normal to the path of the
electrons has a length of 10cm. Giver e = 1.6.10 19C Mejectron = 3.1 X 10'33kg, the radius of

the are described by the electrons is: =
a. 0,68m a. 0.68m ‘
b. 0,52m ' b. 0.52m
c. 55m c. S5m
& 5.2m d.5.2m
L T e

‘Retrouvez tous les sujets avec corriges au concours et examens
Nationaux sur www.worldprf.com a télécharger gratuitement

b .‘,Jq:(‘h

£.
"\

Fmdtall papers and answers of evrey exams and Entrance Competltlons
on WWW Worldprf com to download for free

1
Hefaer
o )



LANGUEA | LANGUAGE/20

Les anglophones et les francophones répand

la question est posée. T : A
English and French speaking candidates answer the entire

the question is asked.
Question 1 : Give opposites to these words:

a- To forget - a-love

b- small T b- strong

c- nich c- young -
d- ugly d- willing : _ ,

e- friend e- talkative ' ' =

Question 2: Encircle the word in which the underlined sound is pronounced di-fferently from

the two others
For example: bought, though, caught
a- wild thing pig
b- hunt huge use ‘ » -
‘c- Annoyance apple, all '
d- To together follow
e- peak meant

Question 3: Rewrite the following sentences in the pas; voice.

ay Mosquitoes cause nalaria
b) The students will write the test

c) My mother bought our radio

d) The children broke the glass

dent a toutes [es questions dans la Izmgu'e a laquelle

question in the language in which

e) The doctor cperates patients

f) He send his wife away o

g) The boss had sacked two heady workers

h) The teacher set a difficult test
i

Question 4: Match the wards in column B with the right definition in column A
a) A doctor who operates patients a) Acupuncture
b) Arcad ingpe airpori b) Surgeon *
¢) A method of curing illness using needles c) Architect . .o
d) Someone who design buildings d) Pilot
€) A person who runs a plane e) Runway

Question 5: Traduire en anglais:
a.) Les infirmicrs s’occupent des malades a I'hépital.

b) Les enfants doivent se laver les mains avant dcmanger.

c)J'écoute la radio chaque matin.

d) Son pére est en bonne santé
3

Question 6 : Mettez les phrases suivanies a la forme negative :



%

{ 4 pain au marcné.

Babite 4ans Wnes imaison en étage.

¢) Faulz e VU L'SIDA.

Questice 7 : Conjuguez le verbe « se rendre » au présent de l'indicatif et au futuz.

Prisent de Pindicatif Futur
>

Question 8 : Citez trois aliments dans lesquels on retrouve la vitamine C.
1 -

L) N
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CULTURE GENERALE/GENERAL KNOWLEDGE/20

Question 1 : Quelle institution intemationale a pour role de mettre ses ressources a disposition des 7ais membres
confrontés a des difficultés financiéres ?

@ LeFMI
b.LaBIC
c.1aBIRD
d Le PNUD

Question 1: Which International Institition's role s to make resources available fo memberstateswxﬂ]
financial difficulties?

a-ThelMF

b-TheITB ‘ 5
o The IBRD

d-The UNDP .

Question 2 - Que signifie lesigle ONU ?

a Observatorre des Nations Uries
b. Cbservatoire des Nations Unifiées
Organisation des Nations Ures -

Question 2: What is the meaning of UNO?

a- United Nations Observatory
b- Unified Nations Observatery
¢-. United Nations Organisation

Question 3 : Dans quelle ville siege le FMI ?

o

(a Mew-York
0. Washington
¢ Gengve

d.. Panis

Question 4: Where s the Headquarters of the IVIF?

a- NewYork

b- Washington
c- Geneva -
d- Park

o

Question 5: Que signifielcsigle HCR ?

a

G

.G~

HautCormmssanaiperaRedlad)e
Hait Conmmmssanai InnrleqReﬁxgle':
Haut Commissariai por les Religions

Question 5: What is the meaning of HCR?

a

b-

High Commission for Research
High Commission for Refugees
High Cormnission I'or Religions

\

Question 6: Défimir les s gles ci-dessous:

: a)
b)
c)
d)

OMS : 1 i DT e W&“CLVQQC . KLQ Sants

PPIE: J nouia paVne d ‘hev e \”{Pﬂ e

CEMAC: | ]( empunaak o @ uend ”xwl *Vh 1‘°‘t"~\‘a"‘“ G
GT7Z: Ccn\u\/atuun - \\\m\&uxtl oéww& Héw\»ﬁi"‘t J

(’]9(;
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aa&{ 2 7: Why is it necessarv fo create heath Mutual?

Question 6 : Quel organisme international a pour but de lutter contre la terre dans le monde :
“/hick iniernational organization gas the fight against leprosy in the world as its goal.

-armé du salut a- The salute Army

“ordre de multe b- The order of Malta

foe il

B c- Emmaiis

o
i

Mimalls

Handicap international & handicap international

f
o

won 7 - Quelle mission poursuit ’organisme Amnesty International
L’aide d’urgence aux victimes et aux personnes nécessiteuses en temps de paix

5 comme-en temps de guerre
b. La lutte contre le SIDA sur le continent africain
© La défense des droits de P’hemme dans tous les pays ou 1ls sont menacés
d. Aucune réponse n’est juste

Question 7 : What is the mission of Amnesty International : _
a. Emergency assistance te victim and the needy in times of peace and during wars

b. The fight against- AIDS in the African continent
c. The protection of human rights in all the country where rights are being abused
d. :None of the above. ;

Question 8 : Organisme dont le financement est assure essentiellement par des dons privés et

aide humanitaire sous une ou plusieurs de ses différentes formes:

qui se noue a |
In one or many forms gnd whose source

An organization, devoted to humanitarian assistance
of finarices is mainly the private donations : -
a’ ‘0IG/IGO
b..GMC/MCO
@ ONG /NGO

. - Question 9: Médecin frangais né ne 1939. Ministre de la Santé il est le fondatenr:de

P

—Medecms sansfronticres etrde Tédecins dumonde 7/ A french doctor born in 1939. Minister of
health, founder of doctors without ffontiers and doctors of the world.
a. Philippe Douste-Blazl - ' R e S

s

S



b. Jean-Frangois Matéi
Bemard Kouehner
d. Jacques Barrol

6y,

Question 10 : Dans quel domaine intervient ILO / In which domains does the ILO intervene -
Les transports

=

b. Le travail / work
c. Les nouvelles technologies / new technologies -
d. Aunes réponse n’est juste / none of the above

F|nd all papers and answers of evrey exams and Entrance Competltlons
on www.worldprf.com to download for free
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b. Jean-Frangois Matéi
Bemard Kouehner
d. Jacques Barrol

6y,

Question 10 : Dans quel domaine intervient ILO / In which domains does the ILO intervene -
Les transports

Le travail / work

Les nouvelles technologies / new technologies :

Aunes réponse n’est juste / none of the above

Ao o
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aa&{ 2 7: Why is it necessarv fo create heath Mutual?

Question 6 : Quel organisme international a pour but de lutter contre la terre dans le monde :
“/hick iniernational organization gas the fight against leprosy in the world as its goal.

-armé du salut a- The salute Army

“ordre de multe b- The order of Malta
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won 7 - Quelle mission poursuit ’organisme Amnesty International
L’aide d’urgence aux victimes et aux personnes nécessiteuses en temps de paix

5 comme-en temps de guerre
b. La lutte contre le SIDA sur le continent africain
© La défense des droits de P’hemme dans tous les pays ou 1ls sont menacés
d. Aucune réponse n’est juste

Question 7 : What is the mission of Amnesty International : _
a. Emergency assistance te victim and the needy in times of peace and during wars

b. The fight against- AIDS in the African continent
c. The protection of human rights in all the country where rights are being abused
d. :None of the above. ;

Question 8 : Organisme dont le financement est assure essentiellement par des dons privés et

aide humanitaire sous une ou plusieurs de ses différentes formes:

qui se noue a |
In one or many forms gnd whose source

An organization, devoted to humanitarian assistance
of finarices is mainly the private donations : -
a’ ‘0IG/IGO
b..GMC/MCO
@ ONG /NGO

. - Question 9: Médecin frangais né ne 1939. Ministre de la Santé il est le fondatenr:de
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a.

b.
c.
d

S

Question 2- Durant I’interface (dans la mitose) . o

a.
b.

Mo oa o

€.
d.
e

BIOLOGIE / BIOLOGY - - -

- lpar QCM/2mk per MCQ -
- Cercler le ou les meilleur(s) réponse(s) / Encircle the correst answer
Question 1- Le rétrovirus fabrique son ADN dans I'héte :

a partir de ’ADN bactérien

a partir de I’ARN viral

a partir de I’ADN viral

a partir de I’ARN élaboré dans le cytoplasme

Question 1- The retrovirus manufactures its DNA in the host from

Bacterial DNA

Viral RNA

RINA mode in the cytop}asm
Viral DNA ’

»

Le matériel génétique se déroule
Les chromosomes sont vus comme des corpuscules distincts au mxcrobe optique et

¢lectronique
La cellule constituée suff"samment de réserves énergétiques pour assurer la mitose

Deux de ces propositions sont exactes
Toutes ces propositions sont exactes
Aucune de ces propositions n’est exacte.

Question 2- During interphase (during mitosis)
a.
b.

The genetic material doubles
The chromosomes are_ seen .as district corpuscles under the ligne and eIectron

mMICroscopes :
The cell contains sufficient energy reserves to ensure mitosis goes to the end

All three propositidns are correct
None of the above.

Question 3- Les appareils qui participant a la formation d’excrétion-comprennent entourer m

les réponses jutes.

. /"_

Gy

a. Le foie
b. Glandes sudoripares
c. Gonades
d. Poumons ‘
" 'e. Rate e Ak
f. Reins _
g. Thyroide ' \
Question 3 Orguns which function in the process of excretion mdude of the best answer (s)
liver : '
a Sweat gland
. b._Gonads —t
c.y Lungs i

Retrouvez tous. Iessu;ets avec.comges au.concours et examens .
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- Lorsgu’on étudie les propriétés physiologique du neurone, on constate que :
ernent de Pinflux nerveux dans I’axone aprés une stimulation nature est

a le «ié” ace
cellulifuge.
b. Le potentiel d’action est en. moyenne compris entre 60 et 80 millivolts et dure

milliéme de seconde.
Le potentiel d’action recueilli par deux électrodes réceptrices se traduit sur
oscilloscope comme une onde diphrasique

a. Au repos la membrane est polarisée, I’extérieur étant négatif et 1 intérieur pos.

-e. Aucune réponse n’est juste.

C.

Question 4 : When study in the physiologie properties of a neurone, we realisement.
The movement of the nerve influx along the axon after natural stimulation is

»

a.

cellulifugal.
The average action potcntxal 1s between 60 and 80 millivolts a.nd Iasts one millionth of

a second.
The action potential gotten by two receptor electrodes is translated on the oscilloscope

as a diphasic wave.
Al rest, the membrane is polarized, the outside being negative and the inside positive.

2. Mone of the above.

50

Cuestion 5: Parmi les mutations affectant le nombre de chromosome on peut citer polysomie
i 1z pclyploidie {trisomie 21). On parle de polysomie.
a. Quand le nombre de chromosome est doublé

d.
b. .Quand il va un ou plusieurs c}l{omosomes supplémentaires.

c. Quand un chromoseme manque.
d. Quand deux chromosomes homologues manquent.
e. Aucune réponse n’est juste.

Question 5: polysomia and pelyploid (trisomy 21) are mutations affectmg the number of
f"’l*r"nnsomes We talk of polysomia when: £ o S R oA
The number of chromosomes is double.
-b.' There are one or more additional chromosomes.
c. Two homologues chromosomes are lasking.

v

d. None of the above.

Questlon 6: Qu’appelle-t-on made dans une distribution de. frequcnce ?

- C’est la fréquence de la plus grande
b "C’est le produit obtenu en multipliant la plus grande frequcncc par la plus grandc

“valeur de la variable

-c.- C’est 1a fréquence-1a plus petite -
d. C‘cst la valeur de la variable qui a la plus grande frequence

Question 6: Whal is called « mode » in a sequence.distribution? .

a1t lS [ne gl'Cd[CSt lquUCIIL)’
b. It is the product obtained by multiplying the greatest frequency by the greatest \«alue

01 [ the varlabl . :



¢. liisthe smailest frequency
d. Itis the value of the variable with the highest frequency

Question 7
Question 8
Question 9

Question 10 A
Question 11 : On parle de double fécondation chez les spermatozoides parce que :

a. Les deux anthérozoides apportés par le tube pollinique interviennent

b. Les deux noyaux du grain de pollen interviennent T e S
¢. Les deux noyaux centraux du sac embryonnaire sont fécondés au méme moment
d

Deux zygotes se forment au terme de ce processus

Question 11: We talk of double fertilization in spermatophytes because_:
a. The two antherozoides provided by pollen tube both intervene

b. The nuclei of the pollen grain intervene
c. The two central nuclet of the embryo sac are fertilized at the same-time

d. Two zygotes are formed at the end of this process

Cuestion 12: Concernant les spermaphyvtes el
a. La double fécondation se passe entre un anthérozoide et Poosphére qui est le
gamétophyte femelle

b. Tous les ovaires sont pluri-capillaires
¢. "Au cours de la reproduction asexuée, peuvent survenir des accidents dans la répartition

de chrornosomes entiers : ces phénomeénes 3 une polyploidie sont sources de nouveaux

phénotypes
d. L’oosphére se trouve uniquement vers le pole chalazion de IPovule

.

Question 12 : About Spermatophytes
a: Double fertilization occurs between an anthero

gametophyte !
. All the ovaries are multicallary -
¢. During asexual reproduction accid
these phenomenal are source of few phenotypes
d. The oosphore is hound only towards the chalazion pole of the ovule

zoide and oosphere which is the fernale

ents could occur in the distribution of chromosomes

-

ycle est.dit diplophasique lorsque -

Question13: Pour une espéce donnée, le ¢
u cours-du développement des’ individus de cette

a. La phase haploide n’existe pas a
espéce : :
La phase haploide existc mais est dominée par la phase diploide :
La fécondation est immédiatement suivie de la mitose réductionnelle du zygote

d. L’individu adulte est diploide et vit ainsi le maximium dc son temps ¢l la fécondation

ne peut €tre que interne

o =

Question13: For a given specie, a cycle is said to be diplophasic when:
a. The haploid phase does not exist during the development ofindivic%ua]
The haploid phase exists but is dominated by the diploid phase .

s of the species

o

@

b.
c. Fertilization is immediately followed by reduction mitosis of the zygote A
dThe adult individual is diploid and lives as such the maximunz of its time and

fertilization can only be internal.
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O T las
YRoHen s oL sporulation est une forme de muli mumt on né€gative chez les baciéries.

bporulamm 1s a from of vegctame mu;tlphcatxon 1s bacteria
: Vrai [_’b Faux D
Truel ] Falcc [ ]

Unestionld: Dans la parasexuaate le nouveau du chromoseme de la bactérie donatrice se
muftiplier seul dans le cytoplasme de la réceptrice.

Para sexuality, a piece of chromosome of the donating bactenum can multiply alone in
cytoplasm of the receptor

Vrai[ ] Faux [ ]
True[ |- False[ ]

-
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i CHIMIE / CHEMISTRY , p

. 2ptpar QCM/ 3mk per MCQ |
~ Encercler la ou les meilleur(s) réponse(s) / Encircle the correct apswer
Question 1 : On de 10 moles d’acide chlorydrique dans un litre d’eau. -

a. Le pH de la solution est 8
'b. Pour calculer le pH de la solution, on

c. LepH de la solution est pH = 6,98
d. Le pH de la solution est compris entre 0 et 5

Question 1: 10 moles of hydrochloric acid are diluted in one liter of water :
a. The pH of the solution is 8 ' -
b. To calculate the pH of the solution, ions from water can be negligible
c. The pH of the solution is 6.68 :
d. The pH of the solution is between 0 and S

peut négliger les ions apportés par I’eau

Question 2 : Dans 10cm’ d’eau d’une solution d’acide acétique,- on verse 10cm’ d’une
selution déci normale de scude. On trouve un pH de 7 ; ce résultat signifie que -

a. On aatteint le point d’équivalence _
b. On a verse autant d’ions OH- qu’il y avait d’ions H;0" dans la sol
¢. Lasolution d’acide est déci normal

d. Onn’apas encore aiteint le point d’équivalence. :
Question 2 : 10cm’ of a decinormal solution of solution hydroxide are assed into a 10cm’

solution of acetic acid. The pH is 7. This result signifies that:
~a. The point of equilibrium hasbeen reached )
b. The number of OH" ions added is equal to the number of H

c. The acid is a decinormal solution

d. On equilibrium point has not yet been reached. ' :
Question 3 : On'note Py; le P, du cotiple RCOOH/R COO" et le Pk; du couple R'NH3*/R-

NH? le point isoélectrique d’unacide animé correspond a un pH dont la valeur est :

===l pH=Pk1~Pk2 i

ution d’acide

30" ions 1n the acid

¥

Bi=E
b. H= k1 k2
: 2

Bt E
c H ="kl k2 =
- 2
d. pII = pkl —sz
nd Py, the P, of the couple

Question 3 : Given Py, the Py2 of the couple R'COOH/R"COO" a
RINH3+/R-NH?: the isoelectric point of an animo acid corresponds
d. pII "Pk' —sz

to a pH of valuc:

_Pkl"sz
b: .:_PHM— e L , e e
c. pH Lt b, i RS : e
2

d. pH E Pk| =5 sz

Question 4 : Les atomes dont les noyaux ont méme nombre de protons et méme nombre de

———heulronssont-appelés—+
a. lIsotopes
b. nucléides ' .
Find all papers and answers of evrey exams and Entrance Co‘mpgtltlon§
on www.worldprf.com to download for free




vhose nuclel have the sume number of protons and neutrons are called :

2 = o
5 S s

Question 5 : Dans chaque atome: g
a. lamasse du neyau est toujours inférienre a la somme des masses des nucléons qui le

constituent , ’
b, la masse d’un noyau est toujours supérieure 2 la somime des masses des nucléons qui

Je constituent

¢. -la masse d’un novau est toujours écale a la somme des masses des nucléons qui le
- Pl

constituent _

4. ily a plus de charges positives de protons que de charges négatives des électrons.
Question 5 : In each atom:

“*# " the mass of nucleurs is al

contains -
the mass of a nucleus is always greater than the sun of the masse of the nucleons is

ways lower than the sum of masses of the nucleons it

1.
i,

contains ‘ :
fhe mass of a nucleus is always equal to the sum of masses of the nucleons it contains

d. there are more positive charges of protons than negative chdrges of electrons.

r
Nee

{Juestion 6 : The chemical analysis of a hydrocarbon shows a percentage composition o_i-‘""
©3,71% carbon and 14,29% hydrogen. Given C = 12 and H = 1, the empincal formula of the

]
Loy

hdrocarbon is:

a. CH4

b. CH, - .

c. CiHio B

d. CsH;g :

¥

Question 7 : Un échantillon d’oxyde d’or pesant 2,210g a été décomposé par la chaleur en
1970g d’or. Etant donné que cet oxyde ne contient que de I’or et de I’oxygéne, on donne O =
15an=197. . > :
i.a formule moléculaire la plus simple est :

a. AuO ;

b. . Au,0; o

c.  AuO;, b

d. Aucune réponse n’cst juste '
Question 7: A sample of gold oxide weighing 2210g has been decomposed by heat into
1970g:0f gold. Given that this oxide contains only gold and oxygen, thé simplest molecular

formular is (C = 16, Au =197) .
a: "AuO ‘
b. AU203
C. AUOZ

~d. Noné of the above

_Mwe—est—u&—e : = P oTrgene. . AL

empérature de 100°C, le composé est tgazeux et coupe un volume de 235¢cm3 mesuré sous

[
- e




une prCoblOI" de 0,983. At a une massz de 0,613g. B=H, H=1, N = 14, R = 0,08200 litres 2
atm.mol” la massc molaire moleculaxre du borazole est : E
“a 785 9
b 8l 25 4
Cilas SR et e ' Al

.d. Aucune réponse n’est juste
Question 8 : Borazole is a cornpound male up of boron, nitrogen and h)drooen At
temperature of 100°C, the compound is a gas and occupies a volume of 2350rn measure
under a pressure of 0, 983atrn and a masse of 0,613g. Given B=H, H =1, N = 14, R =
0.08206 letters atrh mol” K!, fi nd the molécular masse of borazote.

a /8.5 ;
b. 81,25 G e e ' : =
¢ 110 A Z

d. None of the above

Question 9 : La nitroglycérine est un produit synthétisé au laboratoire par action :
a. Du glycérol sur I’acide nitrique
b. Du glycérol sur propan 1, 2, 3 triol -
c. Du nitro sur la glycérine : = .
d. Aucune réponse n’est juste N
Question 9 : Nitro-glycerine is synthesised in the Iaboratory by the action ¢f :
a. glyceroi on nitric acd
b. glycerol on propan -1, 2, 3 triol
c. nitro on glycerine - -
d. none of the above

Question 10 : A la température de 20°C, le prodult ionique de I’ eau est Ke =2 ,5.10"? pH de
I’eau pure 3 cette température est: :

a. 503 , ol
b. 6,3 i - - sl it C;,
& 131 ' = ' o

ds ]
Question 10 : At 80°C, the ionic product of water is Ke = 2,5 X 1(_)"»9. The pH of water at this

temperature is: _ ,
a 53 = . } k

b. 6,3
c 131
d 7
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U,5° £e = 51.32 d.=60,7°

b. = 30,4

hotons

€miisC par unc radiztion est 0,6i5W. Combien de p
1014Hz

duestien 81 L puissance
{ yenne de la lumitre est de 7,5

catils dmis seconde si fa fréquence mo

3 1 -34

i lancks : (6,6.107%] 5= .

; ] ! 5 10i°
b. 3.10¢ g.3.10° d.1;2.10

Question 9: Des noyaux d hydrogene lourd %.H et des noyaux d’hélium “,He
magnétique uniforme :

pérétrent avec la méme Vitesse V dans un champ
a. La trajectoire:décrite par I’hydrogéne a un rayon plus grand que celle décrite
b. La trajectoire décrite par 'hydrogéne a un rayon plus petit que celles1’hélium
¢ Les deux trajectoires ont le méme rayon S
d. Aucune réponse n’est juste
Question 9:Heavy hydrogen nuclei *,H and helium nuclei “;He penetrate into a
uniform magnpetic field with the same velocity V > -
~a. The path follewed by hydrogen has a radius which is smaller than that of

helivm v
b. The path followed by h

that of helium '
¢. The tweo paths have the same radius

d. None of the above. N

ydrogen has a radius which is smaller than than

estion 190: Svr un plan incline faisant un angle a = 30° avec le plan horizontal, on -
1 petit objet de masse m = 10mg, il glisse sans frottement (on donne g =
s } c ; \ ; . 2

L accéldration (R) du plan de cet objet est de 49.10" m/s

La réaction (R) du plan incline sur ’objet est égale 3 8,4N
¢t objet est égale a 4,9m/s?

4™
3 ¥
{7

i

2
2.

c. L’accélération du mouvement de c

d. Aucune réponse n’est juste. _ i
Question 10: Ar object of mass m = 100mg is IeR to slide without friction on an

inclined at angle of as= 30° with the horizontal. Given g = 9,8m/s?
a. Iis acceleration is 49.102m/s T B
5. The reaction {R) of the inclined plane on the object is 8,48N
€. §i3 accelsration is 4,9/s? L : S

#. None of the above,

Find all pépers and answers of evrey exams and Entrance Competitions
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MATHEMATIQUES /| MATHEMATICS

2pts par QCM / 2mk per MCQ
Encercler 1a ou les meilleure(s) réponse(s) / Encircle the correct answer
., Question 1: Soit P le polynone 2e¥* + 3e* + 6e* — 1] = 0 On denne les soiutions.de -

< I’équation
a x=0 b.x =1In2 - e Xx=-In3 "
Question 1 : Given P a polynomiai equation definedin R a
L. The solution of the equation 2¢®* + 3e* + 6e*— 11 = 0 is
a x=0 T b.x=In2 c.x=-In3

10, +oof par P(x) = (1 — Inx) ot In désigne le

sPO=2x*+3x>-11x—6

Question 2 : On consideére la fonction définie sir

logarithme népérien
1- Le calcul de la dérivé de f donne -
a. f’(x)=2i(l—€n_x) b. f'(x)=—i(l—21_’n:c) e ()=t (Inx—2¢nx)
i "

2- La résolution de I’équation 1 + 2Inx = 0 donne

b.x=1 c.x=C"=

-

a. ‘x'=0

2- The solution of the equation 1 + 2Inx = 0 is
1

a. :CZO b_x‘_—] Cx= C—!/Zz__
Je

3- Soit C la courbe représentative de f. Le point d’intersection de la courbe C avec I’axe des

abscisses est :

a. (1,0) b. (c,0) el 1)
3- Given C, the curve representing f. it s point of intersection with the abscissa is -
a (1,0) b. (c, 0) c 1, 1) e

4- L’équation de 1a droite A tangent & Geau point B d’abscisse c’est : e
: [T Sl e
a. y=[{—|x-2 b. y=—| = |x+1 “Cv=|—|x-7
(5 ) N - ( & ) (2) v
4- The equation of a line inagent to C at a point B with absciss is - ) i

1 S : e -
S sy==(Fl ee(ger

5- Une primitive de f est: o
a. - F(x) = x[l + nx —(an)z:’ b. F(x) =l+mx*—tnx ¢ F(x) =1+{fnx— (fmr)2

5- The integration of fis : . :
g il x) =x[l+€nx—(£nx)3] b F('x)_ =1+4nx’ — Inx ¢ F(x) =1+‘£nx—(£hx)2

6- Soit A=T(C) — F(1) ot F est une primitive-de f. la valeurde Aest-

_ a A=c—|] b.A=1/c+3 \C. A=c’l5
6- Given A = F(c) — F(1) where F is he'integration of f The value of A is
a A=c-1 b.A=1/c+3 c. A=c'15




PHYSIQUES | PHYSICS [ 20

gt par DU/ 21k per CMQ
i1 les meilleure(s) réponse(s) / Encircle the correct answer
on i Lra puissance intrinséques et le grossissement commercial d’un microscope liés

par iz ¢ xatjon

3 =460

b. Fi= —G—F

-c.. Pi= QL_
2

4. Aucune réponse n’est juste

estion 1: The intrinsic power and the commercial of a microscope are linked by the

Quest
redation
P1=4.GC - , -
) 5% ?i = GC
4 .
= G ' .
c. Pi= : '

<
s

d. Nome of the above

s7iva 2: The Michelson-Morley experiment slows that -
La taraidre a une célérité indépendante du potentiei Galilée choisi
La célérité de la lumiére r’est pas invariante

L’expénience est négative, denc ne prouve rien
La lumiére a”une célérité qui dépend du référentiel gahleen dans lequel elle est

i
B

2}

=P o]

mesurée. i

Question 2: The Michelson — Morley Morley experiment sIows that :

2. The speed of light is independent on the choosen reference
The speed of light s irivariant N

:.  The experiment does not prove anything
d. The speed of light' depends on the reference in which it is measured.
Question 3: On veut réaliser un circuit oscillant dont la fréquence d’oscillation est 1000Hz.

On dispose d’une capacité C = 1pF. L’inductance L 4 associer 4 C a pour but :

a. L=19,48 Henrya
b, L=10" Henrya

c:" L=0,025 Henrya
d L=314 Henrya

13 5

han)

CE R IO R

i
B

‘ Question 4: L’effet Cofﬂptdh est un phénomeéne:
b. Qu1 se produ1t avec des photons de trios faible longueur d’onde ; et trés

en crgethue

dann cours d‘uquel' deux électrons interagissent
€. Au cours duquel un proton interagit avec un autre photon

_____ _J@jﬂﬁ&tmﬂﬁ‘lhe_cmnptou_Eﬁechs—a-phenemem :



*

.~ ¥}

YO ——

- Les inductances de ces bobines se classenet en allant de la plus élevée 3

. Taible:

Which is uroducec with photonx X whit a very short wavelength and very

It

energy ‘
0. Yhich invoives the wave-like aspect to light

¢. . During which two electrons inter react
.d. During which a photon reacts with another photon

Question 5:Dans un satellite artificiel de la terre, un objet est état d’ apesanteur parce

A que :

a. Il est loin de Ia terre :
b. La force d’inertie équilibre la force centripéte due a I’attraction terrestre

c. Il setrouve a la vitesse différente que celle du satellite

d. Aucune réponse n’est juste.
Question 5: In as artificial satellite of the earth an object is wexght]ess because

a. Ilis far from the earth ,
b. Thke force is inertial is equal to the centnpetal force due to. the earths

attraction
c. It rotates at velocity different from that of the satellite -

d. None of the above.

Question 6: On dispose de 3 bobines de longues de caractéristiques suivantes:
A :longueur 1 ; nombre de spires Ny = 1 000 ; le rayon R

B : longueur 1/2 ; nombre de spires Ng =1 000 ; rayon =R .

C : longueur = 1 ; nombre de spires N¢c =2 000 ; rayon = R

‘Les mductances de ces bobines se classent en allant de la plus élevée a la plus

faible :
a- Lao>Lg=L¢
" ‘b-LA>LB:LC
c-La>1pg=1Lc
d- LB > LA = LC
Question 6: The coils A, B, C have the following characterictics:
A:Length = 1; number of turns Ny =1 000; le rayon R
B: Length = 1/2; number of turns Ng =1 000; rayon =R
C: Length = 1; number of turns Nc =2 000; rayon =R

s

1a plus

a- Lpo>Lg=Lc
b-LAr>Lg=L¢
c- LA>LB=LC
d-Lg>Ls=L¢

Question 7: On considére un dispositif comportant une bobine longue et une aiguille
aimantée placée au centre de la bobine. La composante horizontale du champ
magnétique terrestre vaut Br = 2x 107T ; le solénoide comporte par metre et est
parcouru par un courant d’intensité. L = 20mA On donne po = 4% x 10 7S I. L’angle

de déviation est :
2. . =450° b. = 30,4° e.=51.8° d. = 60,7°
Question 7: Consider a long soil a magnetic needle in its centre. The horizontai

dpponent of the eart’s magnetic field Br =

Find all papers an
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‘Chili is bounded by :
a. The Atlantic ocean . :
%% ‘The-Caribbeanisca - . S S s : )
- ¢. The pacific ocean ‘ , : ;

d. The Indian ocean

Question 6 : Complétez les numéros des cases restantes en prenant pour exemple le

remplissage de la premiére case sur la tuberculose infantile. Spts
Complete the following table using the example of infant tuberculosis
| Problem sanitaire - Organe affecté ' ‘ { Structure d’accueil
) l Health problem Affected Organ Welcoming structure -
| Ex. Tuberculose infantile Poumons Pédiamic™ 7 =
| E.g Infant Tuberculosis Lungs Paeditrics
{ : ! | Stomatologie
A l l stematology
Accouchement Vagin A izirbo
lgelivery : Vagina 1t o
L : Intestins ' ‘ ' st ehay '
' Intestines ol wanis -
| - . | Dermatologie . '
I : } Dermatology

Question 7 : Le Cameroun dispose combien d’hopitaux généraux, centraux et provinciaux ?

-Les énumérer et ies dénominer 5 pts _ Yo
How many general, central and provincial hospitals ate in Cameroon ? List them.

-

Question 8: Le traitement et la prise én charge des personnes souffrantes de certaines
maladies sont gratuits an Cameroun. Citez-en quatre ? .4pts / The treatment and management
of peoplé suffering from cértain disense in Cameroun in from of charge. Name four of these

diseases ) =Tk 7 5
1 -‘LQ Nt guj‘éﬁl 2 i\QA mu,‘\/(ﬂ e~ ,\EWC‘/\/LQ»M\ &~

3 l g umh\cfiz\,:xw\g olin en}: olo 55 4 v % 7
Question 9 : Cité trois Objectifs du Millénaire pour le Développement (OMD) se rapportant
au secteur sante. / Name there objectives of the Millennium Developement Goals (MDG) 3pts

I = "Q D&un s : 1

2_ (—‘,;z’{x AE &il/b\/@'—\ de Lo LSOO @ /\&U\xﬂ

3 Va Vi, cendne Vg mmia%bb uwlf&{\{,b
Question 10 ~ a) : Qu’cst-ce que la liberté / What is liberty ? 2pts

-Queleslsonttestrors formresde liberté 7 What are the there forms of liberty ? 3pts
i \\\ Vo p -C:X-\"Lb&x"\)d\_ ; : CE P
==

3= U el v Lo




1IRE GENERALE / GENERAL “NOWLEDRGE

;'i"@i /im per MICQ
: (ruelle mission poursuit I”organisaticn Arminesty Intenulional;

B

"urrence aux viclimes et aux personnes aéessitausss,

int naré)

7
i
$-
i

2 lemps cormime €n

femps de guerre
k. La lutte contre le SIDA sur le continent Africzin
@ La défense des droits de ’homme dans tous les pays ou ils sont menaces

d. Aucune réponse n’est juste.
What is the mission of amnesty international?
a. Emergency assistance to the needy in times of peace aid in times of war

b. The fight against AIDS in the African continent

- c. The fight against human right in all countries wherc these nghts are threatene °

d. None of the coove
Question 2: I’OPEP rassemble
a. Lespays producteurs de denrées alimentaires de vase
k/ J Les pays producteurs de pétrole
Les pays du tiers ‘monde en cours de développement
Les pays du tiers moride les moins avancés.
The OPE(Q brings together
5asic food producing countries
:"ez cleum producing countries
¢. Third world countries
i. Less advanced third world countries
{3uestion 3: Que signifiez le **C”” au sigle OMC ?,
a. - Consornmation
(4. - Commerce
¢. Capitalisme
d. Centralisée
What des C stand for in the abbrevxahon WCO?
a. Consumption
= . Commerce ¢
c. Capitalism
d (,entrahsed

uj‘

a. Lecommeice
@ L’environnement

c. L’agriculture

d. Lapéche ; 5
Ia which domain does the Kyoto protocol function ?

a. Commerce

b. Environment

c. Agriculture

d. Fishing

Question 5 : Le Chili est bordé par : 4
a. L’océan atiantique -
b. Lamer des Caraibes .

d. L’océan Indien

Retrouvez tous les sujets avec corrlges au concours et examg
. Nationaux sur www.worldprf.com a télécharger gratuitement
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= LANGUE / LANGUAGE -
Questi'on' 1: Grammar (5 marks) e ; ; B ~
A) Right form of word | L = 3
Compiste the following statements with a suitable ‘word or phrase :
Doesn’t know - . all of them failed the exam |
dhilind: ietters at the post office for the office k
s s iley stndies hard) they failed B Sl s p
A have been studying Spamsh four consecutive years bow Xy Ly — $
- Of the essential reasons - - twedeam Enghsh at school 1 xs that it **%% s o oass
our exams : —
B) Give the right form of the verb'in brackets (5 marks) Ve . - !
The correct form ofthe verb in brackets In spaces provided
Zomo is very good devoted physics teacher. Ho (teach) physics since was 20n F
1998, he (]om) Kumba government bilingual school, where he has worked ¢
ever since. If he had been lucky, he (promote) principal of a hi gh school.
Question 2: traduire en Frangais - E e :
Here is a family history of mental g S " 3
Sordec 3 |
To.has behavior : et <
Problems ' & ;
"To had a nervous , ‘ : NS ey (O - I
Breakdown _ o :
Is memory fails him from tune to v 28
‘Time E .
Question 3: réécrivez ce texte en remplag;ant chaque trait par un artlcle mdef ni,’ en Fonction |
du sens. 6pts ’ Bl .
dine terminé, bavardage se poursulvn dans oo s

salon, pas pour bien longtemps; car Kimou André et son oncle . avaienl
programme chargé = lendemain. En plus de son serve au centre Auguste devait
trouver moment de libre pour aller conduire son oncle o o
copsuitationd hépital. . 3 o e, \
C’était grand jour pour Jean. I allalt enfin soumettre __mal dont avait i
longtemps souffert au miracle de médecine blancs. ' :

V@s retrouverez regulierement sur www. Worldprf com les informations
: ;g_;=
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